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Resumen 

La resolución de ecuaciones y sistemas de ecuaciones no lineales figura entre los problemas 
más importantes, tanto desde un punto de vista teórico como práctico, de las matemáticas 
aplicadas, así como también de muchas ramas de las ciencias, la ingeniería, la física, la 
informática, la astronomía, las finanzas,.... Un vistazo a la bibliografía y la lista de grandes 
matemáticos que han trabajado en este tema pone de manifiesto un alto nivel de interés 
contemporáneo en el mismo. Aunque el rápido desarrollo de las computadoras digitales llevó a 
la aplicación efectiva de muchos métodos numéricos, en la realización práctica, es necesario 
analizar diferentes problemas tales como la eficiencia computacional basado en el tiempo 
usado por el procesador, el diseño de métodos iterativos que posean una rápida convergencia 
a la solución deseada, el control de errores de redondeo, la información sobre las cotas de 
error de la solución aproximada obtenida, las condiciones iniciales que garanticen una 
convergencia segura, etc. Dichos problemas constituyen el punto de partida de este trabajo. 

El objetivo general de esta memoria es diseñar métodos iterativos eficientes para resolver una 
ecuación o un sistema de ecuaciones no lineales. El esquema más conocido para resolver 
ecuaciones no lineales es el método de Newton, su generalización a sistemas de ecuaciones 
fue propuesta por Ostrowski.. En los últimos años, como muestra la amplia bibliografía, ha 
aumentado de manera considerable la construcción de métodos iterativos, tanto de un paso 
como multipaso, con el fin de conseguir una convergencia de orden óptimo así como una mejor 
eficiencia computacional. En general, en esta memoria hemos utilizado la técnica de funciones 
peso para diseñar métodos de resolución de ecuaciones y sistemas, tanto libres de derivadas 
como apareciendo éstas en su expresión iterativa. 

En el Capítulo 2 introducimos los conceptos previos que sustentan el desarrollo de los distintos 
temas. Entre ellos, cabe destacar los relacionados con los métodos iterativos de resolución de 
problemas no lineales, en una y varias variables; el concepto de método óptimo (basado en la 
conjetura de Kung y Traub); las técnicas de demostración empleadas para probar el orden de 
convergencia local, así como también el operador diferencias divididas [x,y;F], y los conceptos 
básicos de la dinámica compleja de funciones racionales que utilizaremos para analizar el 
comportamiento dinámico del operador asociado a cualquier método iterativo. 

En los Capítulos 3 y 4 hemos desarrollado métodos iterativos óptimos  de órdenes 4 y 8, con y 
sin derivadas, para la resolución de ecuaciones no lineales. En ambos capítulos comenzamos 
refiriéndonos al estado del arte, para mostrar a continuación los nuevos métodos diseñados, 
que incluyen familias conocidas pero también nuevos esquemas iterativos, posteriormente 
continuamos con el análisis de la convergencia de dichas clases de métodos, estableciendo 
algunos casos particulares, que son analizados en detalle y finalizamos con las pruebas 
numéricas relacionadas con los esquemas iterativos propuestos. Específicamente, en el 
Capítulo 3, se presentan los resultados obtenidos al modificar el método clásico de Gauss para 
la determinación de órbitas preliminares, de manera que incluya en su proceso esquemas 
iterativos de alto orden de convergencia. Por su parte, en el Capítulo 4 se muestran las 
propiedades dinámicas de algunos de los esquemas iterativos diseñados de orden 8, así como 
sus propiedades de estabilidad que son verificadas sobre diferentes funciones test. 

En el Capítulo 5, presentamos métodos iterativos óptimos de alto orden, con operador 
derivada, para resolver ecuaciones no lineales. Tras el diseño de estos métodos y el análisis de 
su convergencia, se transforma dicha clase de esquemas iterativos en otra libre de derivadas, 
manteniendo su optimalidad. Finalmente, se muestran los resultados de algunas pruebas 
numéricas, que incluyen la determinación de órbitas preliminares de satélites. 

El comportamiento dinámico del operador asociado a un método iterativo al ser aplicado sobre 
la función no lineal a resolver nos proporciona importante información acerca de la estabilidad y 
fiabilidad de éste. El análisis dinámico de un método iterativo se centra en el estudio del 
comportamiento asintótico de los puntos fijos (raíces, o no, de la ecuación) del operador, así 
como en las cuencas de atracción asociadas a los mismos. En el caso de familias paramétricas 
de métodos iterativos, el análisis de los puntos críticos libres nos permite seleccionar los 
miembros más estables de dichas familias. El análisis de la dinámica compleja de los métodos 
diseñados para ecuaciones no lineales se lleva a cabo en el Capítulo 6, donde nos centramos 



en una de las familias de métodos óptimos presentada en capítulos anteriores. Así, una vez 
establecido el teorema del escalado, analizamos el comportamiento del operador racional 
asociado al método actuando sobre polinomios cuadráticos, calculando sus puntos fijos y 
críticos y analizando su estabilidad. Mostramos los planos de parámetros de los diferentes 
puntos críticos libres y estudiamos algunos casos particulares mediante planos dinámicos 
concretos en los que significamos algunas cuencas de atracción que no corresponden a las 
raíces. 

A continuación, en el Capítulo 7 se extienden a sistemas las técnicas iterativas diseñadas en el 
caso escalar, si bien ahora utilizamos funciones peso matriciales. Así construimos métodos de 
cualquier orden añadiendo sucesivos pasos con la misma estructura. Finalmente, se utiliza el 
operador diferencias divididas para extender al caso multivariable algunos esquemas iterativos 
que, a priori, no pueden ser extendidos de forma directa. Todos estos métodos forman parte 
del estudio numérico que se presenta al final del capítulo, en el que se confirman los resultados 
teóricos. 

Esta memoria termina con un capítulo dedicado a problemas abiertos y a líneas futuras de 
trabajo. Algunos de estos problemas han surgido como consecuencia de los avances 
obtenidos. 
�



Resum 

La resolució d'equacions i sistemes d'equacions no lineals figura entre els problemes més 
importants, tant des d'un punt de vista teòric com a pràctic, de les matemàtiques aplicades, així 
com també de moltes branques de les ciències, l'enginyeria, la física, la informàtica, 
l'astronomia, les finances,.... Una ullada a la bibliografia i la llista de grans matemàtics que han 
treballat en aquest tema posa de manifest un alt nivell d'interès contemporani en el mateix. 
Encara que el ràpid desenvolupament de les computadores digitals va portar a l'aplicació 
efectiva de molts mètodes numèrics, en la realització pràctica, és necessari analitzar diferents 
problemes tals com l'eficiència computacional basat en el temps usat pel processador, el 
disseny de mètodes iteratius que posseïsquen una ràpida convergència a la solució desitjada, 
el control d'errors d'arrodoniment, la informació sobre les cotes d'error de la solució aproximada 
obtinguda, les condicions inicials que garantisquen una convergència segura, etc. Aquests 
problemes constitueixen el punt de partida d'aquest treball. 

L'objectiu general d'aquesta memòria és dissenyar mètodes iteratius eficients per a resoldre 
una equació o un sistema d'equacions no lineals. L'esquema més conegut per a resoldre 
equacions no lineals és el mètode de Newton, la seua generalització a sistemes d'equacions va 
ser proposada per Ostrowski. En els últims anys, com a mostra l'àmplia bibliografia, ha 
augmentat de manera considerable la construcció de mètodes iteratius, tant d'un pas com 
multipas, amb la finalitat d'aconseguir una convergència d'ordre òptim així com una millor 
eficiència computacional. En general, en aquesta memòria hem utilitzat la tècnica de funcions 
pese per a dissenyar mètodes de resolució d'equacions i sistemes, tant lliures de derivades 
com apareixent aquestes en la seua expressió iterativa. 

En el Capítol 2 introduïm els conceptes previs que sustenten el desenvolupament dels diferents 
temes. Entre ells, cal destacar els relacionats amb els mètodes iteratius de resolució de 
problemes no lineals, en una i diverses variables; el concepte de mètode òptim (basat en la 
conjectura de Kung i Traub); les tècniques de demostració emprades per a provar l'ordre de 
convergència local, així com també l'operador diferencies dividides [x,y;F], i els conceptes 
bàsics de la dinàmica complexa de funcions racionals que utilitzarem per a analitzar el 
comportament dinàmic de l'operador associat a qualsevol mètode iteratiu. 

En els Capítols 3 i 4 hem desenvolupat mètodes iteratius òptims d'ordres 4 i 8, amb i sense 
derivades, per a la resolució d'equacions no lineals. En tots dos capítols comencem referint-nos 
a l'estat de l'art, per a mostrar a continuació els nous mètodes dissenyats, que inclouen famílies 
conegudes però també nous esquemes iteratius, posteriorment continuem amb l'anàlisi de la 
convergència d'aquestes classes de mètodes, establint alguns casos particulars, que són 
analitzats detalladament i finalitzem amb les proves numèriques relacionades amb els 
esquemes iteratius proposats. Específicament, en el Capítol 3, es presenten els resultats 
obtinguts en modificar el mètode clàssic de Gauss per a la determinació d'òrbites preliminars, 
de manera que incloga en el seu procés esquemes iteratius d'alt ordre de convergència. Per la 
seua banda, en el Capítol 4 es mostren les propietats dinàmiques d'alguns dels esquemes 
iteratius dissenyats d'ordre 8, així com les seues propietats d'estabilitat que són verificades 
sobre diferents funciones test. 

En el Capítol 5, presentem mètodes iteratius òptims d'alt ordre, amb operador derivada, per a 
resoldre equacions no lineals. Després del disseny d'aquests mètodes i l'anàlisi de la seua 
convergència, es transforma aquesta classe d'esquemes iteratius en una altra lliure de 
derivades, mantenint la seua optimalitat. Finalment, es mostren els resultats d'algunes proves 
numèriques, que inclouen la determinació d'òrbites preliminars de satèl·lits. 

El comportament dinàmic de l'operador associat a un mètode iteratiu en ser aplicat sobre la 
funció no lineal a resoldre ens proporciona important informació sobre l'estabilitat i fiabilitat 
d'aquest. L'anàlisi dinàmica d'un mètode iteratiu se centra en l'estudi del comportament 
asimptòtic dels punts fixos (arrels, o no, de l'equació) de l'operador, així com en les conques 
d'atracció associades als mateixos. En el cas de famílies paramètriques de mètodes iteratius, 
l'anàlisi dels punts crítics lliures ens permet seleccionar els membres més estables d'aquestes 



famílies. L'anàlisi de la dinàmica complexa dels mètodes dissenyats per a equacions no lineals 
es duu a terme en el Capítol 6, on ens centrem en una de les famílies de mètodes òptims 
presentada en capítols anteriors. Així, una vegada establit el teorema de l'escalat, analitzem el 
comportament de l'operador racional associat al mètode actuant sobre polinomis quadràtics, 
calculant els seus punts fixos i crítics i analitzant la seua estabilitat. Vam mostrar els plànols de 
paràmetres dels diferents punts crítics lliures i estudiem alguns casos particulars mitjançant 
plànols dinàmics concrets en els quals signifiquem algunes conques d'atracció que no 
corresponen a les arrels. 

A continuació, en el Capítol 7 s'estenen a sistemes les tècniques iteratives dissenyades en el 
cas escalar, si ben ara utilitzem funcions pese matricials. Així construïm mètodes de qualsevol 
ordre afegint successius passos amb la mateixa estructura. Finalment, s'utilitza l'operador 
diferencies dividides per a estendre al cas multivariable alguns esquemes iteratius que, a priori, 
no poden ser estesos de forma directa. Tots aquests mètodes formen part de l'estudi numèric 
que es presenta al final del capítol, en el qual es confirmen els resultats teòrics. 

Aquesta memòria acaba amb un capítol dedicat a problemes oberts i a línies futures de treball. 
Alguns d'aquests problemes han sorgit com a conseqüència dels avanços obtinguts.�



Abstract 

Solving nonlinear equations and systems is one of the most important problems of applied 
mathematics, from both a theoretical and practical point of view, as well as many branches of 
science, engineering, physics, computing , astronomy, finance, .... a look at the bibliography and 
the list of great mathematicians who have worked on this issue reveals a high level of contemporary 
interest in it. Although the rapid development of digital computers led to the effective 
implementation of many numerical methods, in the practice is necessary to analyze different 
problems such as computational efficiency based on the time spent by the processor, the design of 
iterative methods that have a rapid convergence to the desired solution, the rounding error control, 
information about the error bounds of the approximate solution obtained, the initial conditions that 
guarantee safe convergence, etc.. These problems are the starting point for this work.  

The overall objective of this memory is to design efficient iterative methods to solve an equation or a 
system of nonlinear equations. The best known scheme for solving nonlinear equations is Newton's 
method, whose generalization to systems of equations was proposed by Ostrowski. In recent years, 
as shown in extensive literature, the construction of iterative methods has increased considerably, 
both one point as multipoint, in order to achieve optimal order of convergence and better 
computational efficiency. In general, in this memory we have used the technique of weight functions 
to design methods for solving equations and systems, both derivative-free as with derivatives in 
their iterative expression.  

In Chapter 2 we introduce the previous concepts underpinning the development of the different 
topics. Among them we have included those related to iterative methods for solving nonlinear 
problems in one and several variables; the concept of optimal method (based on Kung-Traub’s 
conjecture); demonstration techniques used to test the local order of convergence as well as the 
divided differences operator [x, y; F], and the basics of the complex dynamics of rational functions 
that we will use to analyze the dynamical behavior of the operator associated with any iterative 
method.  

In Chapters 3 and 4 we have developed optimal iterative methods of orders 4 and 8, with and 
without derivatives for solving nonlinear equations. In both chapters we start referring to the state of 
the art, to show then designed new methods, which include known families but also new iterative 
schemes, then continue with the analysis of the convergence of these kinds of methods, 
establishing some particular cases, which are analyzed in detail and we finish with the numerical 
evidence relating to the proposed iterative schemes. Specifically, in Chapter 3, the results obtained 
by modifying the classical Gauss method for determining preliminary orbits, to include in the 
process iterative schemes of high order of convergence are presented. Meanwhile, in Chapter 4 the 
dynamic properties of some eighth-order iterative schemes as well as their stability properties which 
are verified on different test functions.  

In Chapter 5, we present optimal higher-order iterative methods with derivatives to solve nonlinear 
equations. After the development of these methods and the analysis of their convergence, that 
class of iterative schemes becomes another derivative-free, maintaining its optimality. Finally, 
results of some numerical tests, including the determination of preliminary orbits of satellites are 
showed.  

The dynamical behavior of the operator associated with an iterative method when applied on a 
nonlinear function provides important information about its stability and reliability. Dynamical 
analysis of an iterative method focuses on the study of the asymptotic behavior of the fixed points 
(roots, or not, of the equation) operator and in the basins of attraction associated with them. For 
parametric families of iterative methods, the analysis of free critical points allows to select the most 
stable of these family members. The analysis of the complex dynamics of methods designed for 
nonlinear equations is carried out in Chapter 6, where we focus on one family of optimal methods 
presented in previous chapters. Thus, once established scaling theorem, we analyze the behavior 
of rational operator associated with the method acting on quadratic polynomials, calculating its fixed 



and critical points and analyzing their stability. We show the parameter planes associated to the 
different free critical points and study some particular cases by means of the dynamical planes 
which include some basins of attraction that do not correspond to the roots.  

Then, in Chapter 7 we extend to systems the iterative techniques defined in the scalar case, but 
using matrix weight functions. So we construct methods of any order by adding successive steps 
with the same structure. Finally, we use the divided difference operator to extend to the 
multivariable case some iterative schemes that, a priori, cannot be extended directly. All these 
methods are part of the numerical study presented at the end of the chapter, in which the 
theoretical results are confirmed.  

This memory concludes with a chapter on open problems and future work lines. Some of these 
problems have arisen as a result of the progress made. 
�
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|xk − ξ| ≤ Lk|x0 − ξ|, �	�	 ���� k ≥ 0, x0 ∈ [a, b] ���*�

|xk − ξ| ≤ Lk

1− L
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��������� ��
 ek = xk − ξ �� �

�
 	� �� k!����� ���
�����
 "� �������� ek+1 = Mepk +O(ep+1
k ) ��

����� �������� 	�� �

�
 	��	� p �� �� �
	�� 	� �� �����
������


������� ����� � ���������	� ����� ��� �!���� �� ����� "#�� �����$�%	 &'()�� 
��� x0 ∈ R� ρ > 0
� g : [x0 − ρ, x0 + ρ] → R ��� *���	
� ��������	�� �� �� 	�������� [x0 − ρ, x0 + ρ]� 
�� L ∈ (0, 1)
�� ��������� �� �	���+	�, ���� g �� [x0 − ρ, x0 + ρ]� � ���������� ��� |x0 − g(x0)| ≤ (1 − L)ρ�
-��������

	� ��	��� ĺım
k→∞

xk = ξ� ��� ��� ξ �� ����� "#� �� g(x)� �� ���	�� g(ξ) = ξ� � ����.�� |xk−ξ| ≤ Lkρ

���� ���� k ≥ 0�

		� ξ �� �� ��	�� �����	
� �� �� 	�������� [x0 − ρ, x0 + ρ] �� g(x) = x�

#�� �� $������ f : I ⊂ R → R 	�� ����� ������������� 	�
���%�� �� �� ����
���� I = [a, b] � f ′(x) �= 0
��
� ��	� x ∈ I
 #� �� �������� f(x) = 0 ����� ��� &���� �������� x = ξ �� (a, b) � �� $������ g(x)
�� �������� �� �� ����
�� 	� x = ξ �������� �� ��������

g(x) = x− ϕ(x)f(x) ��
'�

���%��� ����� �� ����� ()� �� x = ξ ��
� ��������
 $������ ϕ ∈ C1([a, b])


#� ���	� 	���
����
 ��� $������ ϕ(x) 	� ��	� ��� �� �������� ����
�	� ��
 ��
'� �����
)� � ξ
���	
����������
 * ����� 	�� +��
��� �
�
, ��
��� ����
�� ��	�
 ��� g ∈ C2[ξ−ρ, ξ+ρ] ���� ρ > 0
��� ��� [ξ − ρ, ξ + ρ] ⊆ [a, b]) � g′(ξ) = 0�
 -������� 	�
����	� ��
'� �%�������

g′(x) = 1− ϕ(x)′f(x)− ϕ(x)f ′(x)

� ������	� �� ������ ��� f(ξ) = 0 	�	������ ��� ϕ 	�%� �����$���
 �� ���	�����. ϕ(ξ)f ′(ξ) = 1
 #�

f ′(x) �= 0 ��
� ��������
 x ∈ [a, b] �� ��$���� 
�/���%�� �� ������
 ��� ϕ(x) =
1

f ′(x)
� �������� 

�� �
���	������� ����
�� ��
� ��������
 �� �����
������ ���	
����� ��
�

xk+1 = xk − f(xk)

f ′(xk)
k = 0, 1, 2, . . . . ��
0�

-��� $�
���� ���
����� �� ������ ���� �� ����	� 	� 1�2���


�����
��	�	 3���������� 	� 4�������
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�����
����
 ����	
���� ��
������ ��� �
 �������� ��
� �
 �� �����
 ���
�����
��� ������ �
 ����
�� �
 ���� �
��� k� �� ����� xk+1 ��������
�� � �� ������� ��� ��

� �� ���
�
��
 �� ��� OX �� �� ���
� 
�
��

� � �� ����� y = f(x) �
 �� ��

� (xk, f(xk))� ��
� �

�����
����

����	
���� ���
���� ��� ��
� �	
��� ������ 
����	
 �� 
����� �� �	
��� �� �� 
�
��

��

 
� ��
�����
 ���� ��
������ ��
�����
��� �� ����
 ��� �
 �� �	
��� !"�#$ �� ��� �� ����� ��
�� ��
������
 �
����� ��
	 ������

���

� ����� �� �� �������
 ξ� �� ������

� �����
��� ���������
�%��&��
���

� �
 �

������ �
 �� ��� ����� ��� 
����� �� ������� ����%������
 ' �������� ���
��
�����
�� ��� ����

�(�
 �� ��
�����
��� ������
��� ��� �	
��� !"�#$�

)��� '� �� �� ��
���
��� �
 �� *

��������
� �� ��
�����
��� �� �
 �	
��� �
���
��� �� �����
�
���(�� �� ��
��� ������ ��������� � ������� �
 ��
���
 �� �� ��� ��
�����
�� �� ����
�
 ����� ��
�������
� ����� �� ����%������
 �
����� � ����� �� ��
���
 
� ��
���� ������
�����

�� + ��

�
�����
�
���
����� ����
�� �����
���� �������� ����� �� ��
�����
��� �� ,�-
�
 ����� ��� 
��� ��

�� ��
���
�� ��'�� ������� �
��

������� �
 
�%
�� �������� ���� �� �� .�
��� ' /��������
 0123 � �� ��
.�
��-�4� 02�3 �
 �������� ��� ��
������� ���� R

n � �������� �� 5�
����

��	���� ����� ����������	
� ��	�� 
�� ����
� 
� ������ ������ ���������� ��� f : R → R ��
��� ���	
�� 
� 	���� C2([a, b]) �� �� ������� 
�� ������ ξ ���� �� 	��� f(ξ) = 0 f ′(ξ) �= 0� �

x0 �� ����		
��� ��!	
��������� 	��	� 
� ξ �����	�� �"
��� �� δ ��� ��� ��� 
����	
���� 
�� ����
�

� ������ ������� ��� ��	��
�� {xk}k≥0 ��� 	������� � ξ ���� 	�����
�� ����"
��	
�� 
�
	
��
x0 ∈ [ξ − δ, ξ + δ] 	�� ��
�� 
� 	��������	
� p = 2#

ĺım
k→∞

|ξ − xk+1|
(ξ − xk)2

=
1

2

∣∣∣∣ f ′′(ξ)
2f ′(ξ)

∣∣∣∣ .
�� ������

� �����
��� ������� ���������
� �� ��
�����
�� !��
������ ���� ��
�����
�� �� ,�-
�
6
7�

�������$� ���� ��� ������ ��
� ��������� �� ��
�����
��� ��������� ��� �	
��� �� ,�-
�
 �

�������� �� 5�
���� ��
� ��
�����(����
 �� ��' 8
��� '� ��� ����� �
���(���� 
�

� �
 �� ���� ����
���� �
 R

n�

��	���� ����� ����������	
� ���
��	�� 
�� ����
� 
� ������� ��� F : Ω0 ⊂ X → Y �� �����
��
����� ����	
�� 
� $���	% 
�� ��	�� 	���
�������� 

�����	
�&�� '��	%�� 
�!�

� �� �� 
��
�
�
�&
���� 	����"� �� ��	(� Ω0� ���������� ��� �� ���
!	�� ��� 	��

	
����

‖F ′(x0)−1‖ ≤ β 

‖F ′(x0)−1F (x0)‖ ≤ η 

‖F ′′(x)‖ ≤ k ���� ��
� x ∈ Ω0 

kβη ≤ 1
2  

B(x0, s
∗ − s0) ⊆ Ω0 �
��
� s∗ = s0 +

1−√
1−2kβη
kβ �

)����	�� �� ��	��
�� 
� 
����
�� ������
� ��� �� ����
� 
� ������ 	������� � �� ����	
�� ξ ���
*
!	+�
��� ��� xn, ξ ∈ ¯B(x0, s∗ − s0) ���� ��
� ��

+ ��

�
�����
 ���
������� �
 �����
��� ������� ����� �� ��
�����
��� ������ ��� �	
��� �� ,�-
�

�
 �� �

������ [a, b]� 9� 
��
�:

 
��������� ;���
	�
��� �� <���
���



�� ������	�
 ����
�
 ��

������� ����� ����������	
� ���
�� ��� ������ �� �������� ��� f ∈ C2([a, b]) ��� ��� ���
�	�


� f(a)f(b) < 0�



� f ′(x) �= 0� ���� x ∈ [a, b] �




� f ′′(x) ≤ 0 � f ′′(x) ≥ 0� ∀x ∈ [a, b]�


�� �
 c ������ �� ������� �� [a, b] ���� �� ��� |f ′(x)| �� ��� ����� �� �����	��∣∣∣∣ f(c)f ′(c)

∣∣∣∣ ≤ b− a

!����	��� �� ������ �� ������ 	������� � �� "�
	� ����	
�� ξ ∈ [a, b] �� f(x) = 0� ���� 	�����
��

���		
�� �� x0 ∈ [a, b]� #������ �� 	��������	
� �� �� ����� 	������
	��

������ ��� 	
 ���
����� ���

���
 �� ������ ����� �� 
�	��
�	� �� ��	� �


 ������


 	
� 

���� 
�
	��
�� ��
 ���
���� f(x) = 0� ���� �
����� ��� 

���� ����	��
��  

������ �� 	
 �
�� �� ��� �� �����	�
��!��
 	
 ��
��
�
 ���
� "�������� �� �

�
�	� ����	��
 ��	 ����� ���� ��� �� 
�
	�#
 ��� "��������
�� �

�
�	� 
�
	� �	 ������ �� ������ �� ����� ���
���
 
	 �
��� ����	����  
�"����#

���� ��
����� 
������� �� 	
 $������ ��%� �� 	
 ��� ���
�����
���� 	�� ��������� �� ���&���
 ����	��
 �&�����

 ���	�#

 �� ���
 ����
�
�

 �
 ��

 �

��� �


 ����



 	�� ������� ���

����� ���
� ��� �� 
��	�
����� ���	�#
�� �	 ������ ��
�!������
� ���
������� ��
 '��
���(� �� )*+, ���� I = p1/d ����� p �� �	 �
��� �� �����
-����
 . d
�	 �/��
� �� ��
	�
������ "������
	�� ��
 ���

����� 0� ���� �������� 1��- . 2

�� �� �� �������


���
�� )34,� ���
�	���� ��&	 �� �	 �
.�
 �
��� �� �����
-����
 ��� ����� 
	�
�#

 �� ������

���

���� ��	������� ��� ����
�
� 5�� ������
� ��	������� ��� 
	�
�#
� ���� 	����� �� �������
�
������� ��������

�����	��� �� ����������� !� ����� �� 	��������	
� �� 	�����
�� ������ ����
���� �
� �����
�

�� ����� ������� 2d−1 �������� ����� ���
���� ����� d �� �� �"���� �� ������	
���� $��	
������

��� 
����	
��� 	�� %��
	� �� ��	
��	
� 2(d−1)/d �������� %��
	� ���
����

 �
 ��

 �

��� 2

�� �� )���, ���	�#
 �	 ������ ���

����
	 ��!���� ���� IO = p1/op� ����� op ��
�	 �/��
� �� ���

������ ��
������6��������� ��
 ���

����� 0��� ������ ���� 	
 ����	����
� �� 	

���
����� ���

���
� ��� �� �� "
���
 
 ����
 �� �����
� ���
� ���� �� ������
� �� ���
������ ��
	���
	���

0	 
�&	���� �� 	
 �����
-����
 �� 	�� ������� ����7
��� �� ���
 ����
�
 �� 		��

& 
 �
�� "���
8
����
	����� ����
��� ���


�		�� �� 2
.	�
� $� ���� ������� ��

� ������
� �� ������

����� 	��
���


�		�� �� 2
.	�
 ��
����� ����
���

 �	 �
��� �� �����
-����
 	��
	 �� �
��

 
�	
���
�����
�����		
�

���� ������	� 
� ���	��
��� �
 ����	���

9������
���� �	 �
��	��
 �� ������


 �� ��
� 
�
	 �� ��
 "������ F : D ⊆ R
n → R

n� ���� ��� ��

��	����� ξ ∈ D ��	 ������
 �� 	���
	 �� ���
������ F (x) = 0� :��� F �� ��
 "������ �����
�
	 �� Rn

�� R
n ��� ����� ���� "�������� ���
���
�
� fi : R

n → R� i = 1, . . . , n�

F (x) = (f1(x), . . . , fn(x))
T . ���;�

<����
���
�  �	�������
 �� =
	����




�� ���� ������	� 
� ���	��
��� �
 ����	���

��� �����	
�� � �
 �����
�
���� �� ��� �����

��� ��� �� ����
�
� 
 ���
���
���� 	����� �����
�
���
�� ��� 
��
�� �� ��
��
 � ���������
 ���� � �����

�
 �������
 �� �
 �������� ��� ���
��
 F (x) = 0 �� �� 	������
 ����� � � ���	��!� ��� �� ��
�����
�
� ��
 �������� �� ��
 ���
���� ���
�
� f(x) = 0� "� ���
� ��� �� �� �
�� ���
�
�# 	������

�
��$���
� �� ���
��
 ������
� �� �� ���
��
 ����%
���
� �� �
 $���
&

x = G(x), '���(

	
�
 ��
 ��
�����
�
 $������ %��
���
� G : Rn → R
n# ���
� $�������� �������
�
� �
� %
��� 


����

� 	�� gi# i = 1, 2, . . . , n� )
�
����� �� ��
 
	�����
���� �����
� x(0) = (x
(0)
1 , x

(0)
2 , . . . , x

(0)
n )T ∈

R
n# 	������ �����
� ��
 �������� �� %��
���� �� R

n ����
�
� �
 $�����
 �
��

�%


x(k) = G(x(k−1)), k = 1, 2, . . . , n, '���(

����� x(k) = (x
(k)
1 , x

(k)
2 , . . . , x

(k)
n )T ∈ R

n�

*������ ��� �� 	������ �� ���%�����
� �� {x(k)} → ξ# ��
��� k → ∞ ����� ξ = (ξ1, ξ2, . . . , ξn)
T ∈

R
n ��� # �
!� ����

� ����������� �� �
 $������ G# ��
 �������� ��� ���
��
 x = G(x)� "� %��
�� ξ

�� �� ��
�
 	��
� +!� �� �
 $������ G � 
� 
�����
�� ������
� 	�� �
 ���
���� '���( �,
��� �� 	��
�
+!��

-� �����	
� ��� ��	��

�
� �� ��� �,
���� �
��

�%�� �� �� ����� �� ���%�������
# ��� 	��	������

��
 �����
 �� �
 %������
� �� ���%�������
 �� �
 �������� �� �
��
���� " ���
���
���� ���
�
���
�
 ��
������ 
� �
�� ���
�%
��
��� �� ��� �����	
�� ���
����
��� ��� �� ����� �� ���%�������
�

��������� ����� ��� {x(k)}k≥0 ��� ������	� 
� ����
��� 
� R
n ����� ��� ����
�� � �� �
����	� 
��

������� �
 ������ ξ ����

 k ����
� � ������
� �� �
���������� 
� 
���� ������	� �� 
��� ��� ��

�� ������� �� ������� M � 0 < M < 1 � k0 ∈ N ����� ��� ‖x(k+1)−ξ‖ ≤ M‖x(k)−ξ‖ ���� �


 k ≥ k0�

��� 
� 
�
�� p� �� ������� M > 0 � k0 ∈ N ����� ��� ‖x(k+1)−ξ‖ ≤ M‖x(k)−ξ‖p ���� �


 k ≥ k0�

*���

��� 	�� e(k) = x(k) − ξ 
� ����� �� �
 �
��
���� k.,���
 � ��
�
��� ���
���� ��� ����� 
 �


��	������ e(k+1) = Le(k)
p
+O
(
e(k)

p+1
)
# ����� L �� ��
 $������ p.����
� L ∈ L (Rn × · · · × R

n,Rn)#

� p �� �� ����� �� ���%�������
 ��� �,
����

/�� �� +� �� ���	���
� ���,���
���
� ��� �����

��� 
�������# 0���
1��� � 2���
��� ��
����!����
�� ���3� �� �����	
� �� ����� �� ���%�������
 ���	�

����
� '/�/( 	
�
 ���
������# 
�	��
���
�
�
���4
�� �� �
 ��
��

��
�

p ≈ ρ =
ln(‖x(k+1) − ξ‖)/(‖x(k) − ξ‖)
ln(‖x(k) − ξ‖)/(‖x(k−1) − ξ‖) . '���5(

-�� �� ��� 	�����	
��� �����%�����
�� ��� /�/ �� ��� �
���4
 �
 �������� ��
�

 ��� ���
��
 �� ����
�#
�� ��� �� �
 	� �
��
 �����

 ��%�
���� )
�
 �%�

� ��
�# �� �67� ��� 
�
���� ��
����!���� �� �����	
�
�� ����� �� ���%�������
 ���	�

����
� 
	�����
��# "/�/# % ���� 

�
� 	
�
 ���
������ ����
	
�
 ���
��
�# ��
���� 
 	
�
�� �� �
 �������
� ��	������

p ≈ ρ =
ln(‖x(k+1) − x(k)‖)/(‖x(k) − x(k−1)‖)
ln(‖x(k) − x(k−1)‖)/(‖x(k−1) − x(k−2)‖) . '����(

-��%�����
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�� ��	�
� 	� ��
���
�
� IE = p1/d ���� ��� �� 	��	� p �� �� ��	�� 	� 
��������
�
 ! d �� �� �"���� 	�
��
��

����� ���
���
��� ��� �������� �� ����	�� ��� ����
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���
� IEC = p1/(d+op)

���
�� ��� �� 	��	� op �� �� �"���� 	� ����
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�#� 	�� ����	� 	� *�+��� �,$�-� �� ��	�
� 
� 
&�
��� 	�� ��
��� h = x(k+1) − x(k)


��������	����� ! ���� �� �� �&� ��� �
 ����
�#� 	�� ������
 	� �
�

����� ����
���. F ′(x(k))h +
F (x(k)) = 0$ /�
��	
��� ��� �� �"���� 	� ���	�
��� ! 
�
������ ��� ��
����
��� �
�
 ��������

�� ������
 ����
�� ��	�
��� �
 ������

�#� 	� 0
���� ��
1

3
n3 + n2 − 1

3
n 	��	� n �� �� �
�
1� 	��

������
$

2 
������

�#� 	
����� 
����
� 	����
����� 	� �������� ������
	�� ���
���������� �&� 
	��
���$

����
�
�� ����� ������� �	� 
� �	
���
 F : Ω ⊂ R
n → R

n �� ������� ������
����
� �
 	
 �	
��

x �
 �
 �
������ �� Ω �� ������ 	
� ��
������
 
�
��
 A : Rn → R
n ��
 �	� ������	�� ���� �	�
�	���

h ∈ R
n�

ĺım
h→0

1

||h|| ||F (x+ h)− F (x)−A(h)|| �,$�,�

��
�� ||· || 
���� ��������
 �
 R
n� �� ���������	 ��	
�� A 
� �	� 
����� n×n ��
 �
�
	�
 �
� ��	��

x� 
� �
���� A = A(x)� � �
���
 
� 	�
��
 �
 �
������ �
 �����
� �
 F 
	 x� �
	���	���
 ��� F ′(x)�

���������	�� �� �
��� �
� 
�� �
������� ����������� �� F � fj(x)� j = 1, . . . , n ������ ���������
������
�� ���	���� ������
�� �� Ω� ������	�� ��� aij(x) �
 i, j����	� �
�	���� �� A� ���� �
�

� ������������ �� ���	� �	�
��� 
� ������������ ��	������� � ��	�������� ����	�� ����������
������ ��� h = tej � ����� ej = (0, . . . , 0, 1, 0, . . . , 0)T �� �
 j����	� ������ 
��������

ĺım
t→0

1

t
|fi(x+ tej)− fi(x)− taij | = 0 ���� 1 ≤ i ≤ n. ������

��� �	������ ĺım
t→0

1

t
(fi(x+ tej)− fi(x)) =

∂fi(x)

∂xj
�  �� 
� ������ ������ �	�
��� �
� aij(x) =

∂fi(x)

∂xj
�

1 ≤ i ≤ n� 1 ≤ j ≤ n� !�"� ! �� 
�� 	����# n × n �
$�� ��	�������� ��� 
�� ��������� ������
��
���	���� �� 
� �
���%� F �� x� &��� 	����# �� �������� ��	� 	����# '�������� $ 
� ������	�� ���
F ′(x)�

(������� �� �
���� �
� �
 �������� �� �
��� )*� �� �+������ �������	���� �
 ���� ����	�������
�
����	�� �
� 
�� �
���%� G : Ω ⊂ R

� → R
� ����� 
� �
��� )*� ξ ∈ Ω �� G(ξ) = ξ�

,�� ���
������ ���

����� �����
���� �� �%
� 
�� ����������� ��*� 
�� �
�
�� �
 	����� ��������� ���-�
�� ����������� ���� ��	���� �� 
� 
������� ��
 �
��� )*�� ��" ��	� �
�
��� ����������� ��������
���������� ���� �
 ��	�������%�� ,�� ��
���� �� ����� ���

����� �
���� ����������� �� ��+���
�
.����� ��	� �
 �� /����� $ 01��	��
�� 23-4�

���� ����� ���� ! "���	#�
�� ��
 F : Rn → R
n 
� ��	��	��

	�
 ��$
�
	�����
 �����
� 
	 �	

��	%�	�� ��	�
&� Ω0 ⊂ R
n ��	 $�	���	
� �����
	���� fi : R

n → R� i = 1, 2, . . . , n� '	��	�
�� ����
����
����
�� x, y ∈ Ω0� �
 �
��(��)

F (y)− F (x) =

∫ 1

0
F ′(x+ t(y − x))(y − x)dt.
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�� ���� ������	� 
� ���	��
��� �
 ����	���

��
���	 ����� ������� �	
 G : Ω ⊂ R
n → R

n ��
 
����


��� ����	 �� 
������� 
	��
�� Ω0 ⊂ Ω
�
� ��	 G(Ω0) ⊂ Ω0� �����
	�� ���	��� 
���
� ��	 G ��	�	 �� ���
� ����� ��� ξ ∈ Ω0� ��� ����
�
��� �
�
 
�
����	� x(0) ∈ Ω0� �
 ��
	���� {x(k)} �	����
 ��� ����� 
�� 	�!	 
 ξ� "�	�#� 	� 	����


��	���� 	� �
 k$%���
 ��	�

��� 	��# 

��
�� ��� �
 �	��!�
��
� ||x(k)− ξ|| ≤ L

1− L
||x(k)−x(k−1)||

& 
�	�#�� ||x(k) − ξ|| ≤ Lk

1− L
||x(1) − x(0)|| ����	 L 	� �
 ����
 
����
��	 �	 '���
(��) �	 G�

��
���	 ����� �� G : Ω ⊂ R
n → R

n 	� ��
 
����


��� ����	 �� 	��

�� 
	��
�� Ω ⊂ R
n� 	�

�%���� �	 ����� ��� 
�� 	�!	 (

�
 ��
 ����
��� �	 F (x) = 0�

*��	� 

���+ �� G �� ��	 
���
	

��� �� 
����	��� L� ������	��� ��
 ξ 	 �� ����� ���� �� ����� ����

||x(k+1) − ξ|| = ||G(x(k))−G(ξ)|| ≤ L||x(k) − ξ||
��
 �� ��� �� ������ �
�����	 	� ����� 
����
���
�	 ����	��

���	 ����� �����!
��� ��	 G : [a, b] ⊂ R → R
n 	� 
������
� �����
	��

∣∣∣∣
∣∣∣∣
∫ b

a
G(t)dt

∣∣∣∣
∣∣∣∣ ≤∫ b

a
||G(t)||dt�

��
���	 ����� �	
� �
� ,��
���	� G(x) & G′(x) 
������
� 	� 	� ������� Ω �
�� 	-�� 
	��
�� &


��
���� 
�����%����	 �
 �	��!�
��
�

||G′(x)|| = máx
x∈Ω

⎛
⎝ máx

i∈{1,...,n}

n∑
j=1

∣∣∣∣∂gi(x)∂xj

∣∣∣∣
⎞
⎠ ≤ L < 1

����	 L 	� ��
 
����
��	� �� �
� 
���-��

���	� ��
	�� 
� x(k+1) = G(x(k))� ����	 k = 0, 1, 2, . . .
	��#� 
���	���
� 	� Ω� 	� ���
	�� ��	�
�� � 
�� 	�!	 & 	�  	
��� �.���	 ξ = ĺım

k→∞
x(k) 	� �
 ���



����
��� �	� ����	�
 x = G(x) 	� 	� ������� Ω�

�� �	��
	 	�����	 ��� 	� 
	�� ������������	�� ���
	��� ������� �� �
��� �� 
����
���
�	 	�
����� ���� �� ��� ��� ����	 	 ���
	
 ��	 ����	 ��
�	 �� 	�
� ��	
 ξ� �� �����	��� ��
 e(k) =
ξ − x(k) ! "	
���� ��� ��� ���	

���� �� #	!��
 "	��	 �
��� ���� 	�������� ��� $ �� ����
��
�	���
$
�
"��� ��������� ���� 0 = F (ξ) ≈ F (x(k)) + e(k)F ′(x(k)) 
�� F ′(x(k)) �� ������	
� �� �����

e(k) ≈ ξ − x(k) = − [F ′(x(k))
]−1

F (x(k)) !� ��
 �	���� ξ ≈ x(k) − [F ′(x(k))
]−1

F (x(k))�

�� ���	 �	��
	� ��
�� �	 � �
����� ���
	���	 ��� ������ �� %�&����

x(k+1) = x(k) − [F ′(x(k))]−1F (x(k)). '(���)

*��� ������� �� ������� �
��� �� 
����
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�	� 
�������!� ��� �� ��� �
�
���������� ����
�� �	
	
�	 ����
��� �� ������	� �� �
�	
����� �� ����	���� +� ��
"	� 
�
������ �� "	� �
������� ��	 ��
��
�� �������� �	
�	���� ��� ������	 �� %�&���� 
�� �� �������� �� ����
	
 �� �
��� �� 
����
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�	
�� ����� +� ���	 ����
�	 �����
�� "���� ����,	�� 	������ �������� 
�� �
����� �� 
����
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�	

�	�
� ! 
��
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���� ! ������	��� �� �
��� ���	�
	 ��� �����
��� ���� ��� 
����	��� �� ���	 
���	
	
��� ��� �	
�� ���	 �� 
��� 
������� ! ���	����
��� �����
�� ��������
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�
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� �� ����� �
�����
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 �
�
 �� ���
�
 �� ����
 ��


x(k+1) = x(k) −
[
F ′(x(k))

]−1
F (x(k)) = G(x(k)). ������

�� 	� ���
����� ������ �
���
� ������
 	� ��������� ����
�
������� ��
���
��� ���� �
��
����� fi
�� F ����� ��

����
�� �

 fi(x) ≈ fi(x

(k))+f ′
i(x

(k))(x−x(k))! ���
����� ��� ����
�"� �	 #���
�	��

�������� �� fi �� x(k) $ �

 ����
 �����
� �
�����
���
 �	 ���
��
 x(k+1) �
�
 	� ����
������� ��
	
� n #���
�	��
� ������
� �

 	�� �
��
������ �� F �
� �	 #���
�	��
 x = 0�

%������
 � 	� �
�&�
������ 	
��	 ��	 ���
�
 �� ����
�! '
���� ()�* ����"	��� 	
� ���������� 
���	+
���
� �
�&�
� �	 ��

��� �� �
�&�
������ 	
��	 ��	 ���
�
 �� ����
��

���� ����� �������� �	� A 
�� ���
�� �� ����
��
� �
�������� �
	 B 	� 
�� ���
�� ��� �
	

||A−1||||B|| < 1� ������	�� A+B 	� �� ����
��
� �

||(A+B)−1|| ≤ ||A−1||
1− ||A−1||||B|| . ����,�

������� ����� �
�������� �
	 F : Ω ⊂ R
n → R

n 	� ���	
	������	 �
���	� 	� ξ ∈ Ω ��� �
	

F (ξ) = 0� �	� A : Ω0 ⊂ Ω → L(Rn) 
�� ���������� �	 ���� 	� 	� 	���
�� ���	
�� Ω0 �	 ξ� ������
�
	� ξ � ��� ����	� 	� 	� ���!
��� �	 ���
��	� 
	��	� �	 �
�	� n� �
��������� ��	�"�� �
	 A(ξ) 	�
�� ����
��
� ������	�� 	#���	 �� ���� �	

��� Ω∗ = {x ∈ Ω0 / ||x − ξ|| ≤ δ} ⊂ Ω0� δ > 0 ���
	 ��

�
�� �� ���������� G : Ω∗ → R
n�

G(x) = x− [A(x)]−1F (x)

	��" ��	� �	 ���� 	� 
� 	���
�� �	 ξ � 	� ���	
	������	 	� ξ� $	
� ������	%

G′(ξ) = I − [A(ξ)]−1F ′(ξ).

������� ����� �&��
�'�(�� �
�������� �
	 G : Ω ⊂ R
n → R

n 	� ���	
	������	 �
���	� 	� 	�

�
���  !� ξ 	� 	� ���	
��
 �	 Ω � �
	 ρ(G′(ξ)) = σ < 1� ������	�� ξ 	� �
��� �	 ��
������ �	

x(k+1) = G(x(k))� k = 0, 1, 2, . . .�

&��	
$�����% -� ���
 �������	! �� �	 ��� ρ(G′(ξ)) = 0! �� �����
 A(x) = F ′(x)� ���
 �


���
���
� 	� ���
����� x(k+1) = x(k) − [F ′(x(k))]−1F (x(k)) ��
� k = 0, 1, . . . ��� �� �
���������� �	 ���
�

�� ����
��

������� ����� �
�������� �
	 F : Ω ⊂ R
n → R

n 	� ���	
	������	 �
���	� 	� 	� 	���
�� ���	
��

Ω0 ⊂ Ω �	� �
��� ξ ∈ Ω0 ��
� 	� �
	 F (ξ) = 0� )�	�"�� �
�������� �
	 F ′(x) 	� ������
� 	� ξ �

�
	 F ′(ξ) 	� �� ����
��
� ������	�� ξ 	� 
� �
��� �	 ��
������ �	� ������ �	 *	'����

���� ����� �
�������� �
	 F : Ω ⊂ R → R
n 	� F +���	
	������	 	� 	� ���!
��� ���$	#� Ω0 ⊂ Ω

� �
�������� �
	 	#���	 
�� ��������	 α ≥ 0� ��� �
	 F ′(x) ��������	

||F ′(u)− F ′(v)|| ≤ α||u− v|| ��
� ���� u, v ∈ Ω0.

������	�� ��
� �
��	��
�	
� x, y ∈ Ω0

||F (y)− F (x)− F ′(x)(y − x)|| ≤ α

2
||x− y||2.
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� 
������ �� ��
�����
����

��
���	 ����� ����������	
� ��	�� 
�� ����
� 
� ������� ���������� ��� ��� �
�����
� 
�� ����
���� ����� �� ���
� �	��� !����	��"

ĺım
k→∞

||x(k+1) − ξ||
||x(k) − ξ|| = 0. ������

#
��$�" �
 F ′(x) ���
%	� �� 	��

	
�� 
� &
��	�
�'

||F ′(x)− F ′(ξ)|| ≤ α||x− ξ||, ������

���� ��
� x �� ���(� ������� 
� ξ" �����	��" �)
��� ��� 	�������� c ���
�
�� ��� ���

||x(k+1) − ξ|| ≤ c||x(k) − ξ||2. ������

���� ��
� k ≥ k0" 
��
� k0 
����
� 
� �� ���		
�� 
� x0�

�
 	�� ����
�	�� ������

��� ����������� �� ����� �
���
����� �����

�� ��	 �!
��� �� "�#
�
 �

��$�� � ��
�� ������� �� 	��  �� ��
��������� �� ����
 �� ��
�����
���� %	��
�� ��
���� ��!����
��� �&���	�� '(�)� �
�	�*�
 �	 ������

� ����	
��� ���� ������ �	 ����
 �� ��
�����
��� 	���	 ��
�!
���� �
���
���� ���� ���
�����

��
���	 ����� �����*" +,,,-� ��� G(x) ���  ��	
�� 
� ����� %.� 	���
�������� 

 ����	
�*��
����� ��
�� p� !� ����
� 
�����
�� x(k+1) = G(x(k)) �� 
� ��
�� p �



� G(ξ) = ξ/



�
∂(k)gi(ξ)

∂xj1∂xj2 · · · ∂xjk
= 0, ���� ��
� 1 ≤ k ≤ p− 1, 1 ≤ i, j1, . . . , jk ≤ n;




�
∂(p)gi(ξ)

∂xj1∂xj2 · · · ∂xjp
�= 0, �� ����� ���� �� ����� 
� i, j1, . . . , jp ∈ {1, . . . , n}


��
� gi" i = 1, 2, ..., n" ��� ���  ��	
���� 	���
���
�� 
� G�

�
 ��
� ������� ���������� 	� ��
�����
��� 	���	 �� 	�� �!
���� �
���
���� ��������� �����

� 	�

!�
��� ��	 �������		� �
 ����� �� +�$	�� �
 ������ ������	��� % ��

�
����,
� �

��������� 	� 
�
���,


�������� ���� ��
�� �����
�����
�� ��!��� '(-)��

.�� F : Ω ⊆ R
n → R

n ��/���

���

� 0�!�1�
 ��2���
����	� �
 Ω� �� q3!���� �������� �� F �

u ∈ R

n� q ≥ 1� �� 	� 2�
��,
  3	�
��	 F (q)(u) : Rn × · · · ×R
n → R

n 
�	  �� F (q)(u)(v1, . . . , vq) ∈ R
n�

�� 24��	 ��������  ��

�� F (q)(u)(v1, . . . , vq−1, ·) ∈ L (Rn)�

�� F (q)(u)(vσ(1), . . . , vσ(q)) = F (q)(u)(v1, . . . , vq)� ���� 
��� �����
���,
 σ �� {1, 2, . . . , q}�

5��
��
�� �� 	�� ����������� �

������� ������� �

������� 	� ������

� 
�
���,
6

7
��������� 5�	�
!�
��� �� 8�	�
���



�� ������	�
 ����
�
 ��

��� F (q)(u)(v1, . . . , vq) = F (q)(u)v1 . . . vq�

��� F (q)(u)vq−1F (p)vp = F (q)(u)F (p)vq+p−1�

	
� 
��
 
��
� ���� ξ+h ∈ R
n ��
���
 �� �� ���
��
 �� 
� �

����� ξ �� F (x) = 0� �
���
� ��
����

�
 ������



 �� ���

� � ���
�����
 ��� 
� ������ ���
����� F ′(ξ) ��� �
 �����
��� �����
�

F (ξ + h) = F ′(ξ)

⎡
⎣h+

p−1∑
q=2

Cqh
p

⎤
⎦+O (hp) , ������

�
��� Cq =
1

q!
[F ′(ξ)]−1 F (q)(ξ)� q ≥ 2�  ����!��
� ��� Cqh

q ∈ R
n �� ��� F (q)(ξ) ∈

L (Rn × · · · × R
n,Rn) � [F ′(ξ)]−1 ∈ L (Rn)� "���#�� �
���
� �$������ F ′(ξ + h) �
�
%

F ′(ξ + h) = F ′(ξ)

⎡
⎣I + p−1∑

q=2

qCqh
q−1

⎤
⎦+O (hp) , ������

�
��� I �� 
� ������ ���������� 	
� 

 ����
� qCqh
q−1 ∈ L (Rn)�

������ �����	�	 
�� �
���
�� �������

&� �$������� � �������� �� ������
��� �� �
���
� �� 

� �'�
�
� �������!
� ����(��
� ���� ������
���
�������� �� 
� ��)������ ��
 
�����
� ��*������� ��!����� �� R

n� +��,
 
�����
� ,� ���
 ���
����

�
� -��� �� �
� �� ./�0� �
��� ��������� 
� �$������� �������!� ��
 ������� ��  ���
1�2� �� ������
��� ����� ��
������ � �������� �� ������
��� �
 
����
��� 3� ���� ���
���� �
 
�����
� ��*�������
��!����� �� ���
���# �� �
 4��5��

 � ���� �$������ � �������� �� ������
��� �������� �������!
�
�
 ������������ ��
����
�� �
 ���
 ��
���������
��
� ��5 �
�
 ���� ����(�� �'�
�
� �������!
� ����
���

!�� �������� �
 
����
���

4
��������
� �� ���
���� �
 ������� �
 
����
 �� ������
��� F (x) = 0� �
��� F : D ⊆ R
n → R

n ��
��)����������� ��*��������
� 6�'�,�� �� �� �
�7���
 ������
 � �
�!�$
 D�

8��
����
� � �
���������� 
� ��)������ �� ��*������� ��!����� �� F �� R
n� ��
�
���
���� �
�

 ����� � 8,����

�� �� .9:0� �
�
 
� ��
������� [·, ·;F ] : D × D ⊂ R
n × R

n → L(Rn) ��
 ���
�����*��� [x, y;F ](x− y) = F (x)− F (y)� ∀x, y ∈ D�

+��
 ��� �
 ��#
���� �� 
� �
�!�������� 

��
 ��� 

�!��
� � ���
 �� ������
� �'�
�
� ���# �����

�� 

� ������



� �� ����� �� ���

� �� �
��
 � 
� �

������ ���������
� 
������ �
 �
�����
�������
������



 ��
 
�����
� ��*�������� ��!������� 	��� �
�������

� ���
����
� 
� *����
� �� -��
��,�;
<������ �!�� .��0��

[x, x+ h;F ] =

∫ 1

0
F ′(x+ th)dt

�� ������


���
 F ′(x+ th) �� ����� �� ���

� �� �
��
 � x� 
������
�

∫ 1

0
F ′(x+ th)dt = F ′(x) +

1

2
F ′′(x)h+

1

6
F ′′′(x)h2 +O(h3). ������

=��!������� 	

��'����� �� >�
�����



�� ���� �����	
�� �
����� �� �� ���
���� ���	����

��������	 e = x− ξ 
 ��
�����	 �
� F ′(ξ) �� �	 ����
���� �����	�

F (x) = F ′(ξ)[e+ C2e
2 + C3e

3 + C4e
4] +O(e5),

F ′(x) = F ′(ξ)[I + 2C2e+ 3C3e
2 + 4C4e

3] +O(e4),

F ′′(x) = F ′(ξ)[2C2 + 6C3e+ 12C4e
2] +O(e3),

F ′′′(x) = F ′(ξ)[6C3 + 24C4e] +O(e2),

�	��� I ���	�� � �� ������ ��������� 
 Cq =
1
q! [F

′(ξ)]−1 F (q)(ξ)� q ≥ 2�

�����������	 ���	� ������	��	� �� �� ����
�� �� ���	�������������  !�!!"� 
 ���	����	 �� ���
��	
�
��	 �� �� ���������� ��#����� �	� y = x+ h 
 � �
 ���	� �������	 � �� �	�
���� ξ �	� ey = y − ξ�

[x, y;F ] = F ′(ξ)[I + C2(ey + e) + C3e
2] +O(e3).

$� ������
���� �� y �� �� ���	%������� � �� �	�
���� ��	�	���	���� �	� �� �&�	�	 �� '�(�	�  ��
������ h = x− y = [F ′(x)]−1F (x)� 	)�����	�

[x, y;F ] = F ′(ξ)[I + C2e+ (C2
2 + C3)e

2] +O(e3).

���� �����	
�� �
����� �� �� ���
���� ���	����

*�� �+��� �� ��#���������� �
� ���, ����������	 �	� �
���� �� �� ���
������ �� �� ���
��	 �� �	�
�&�	�	� �������#	� ��������	 �&������ �� �� ���,���� ��������� -	�	 �&�	�	 �������#	 ����.��	 ����
���	�#�� 
�� ��
����� �	 ������ ����� ��	����	 
� 	�����	� �� �
��	 �/	� $� �	��	��������	 ���,���
�	 �� ����	 	�����	� �� ��� �������	 �	)�� �� �
����� �	 ������ � ���	�#�� �	� ��	�	���	�� ���	������
���	������� ������ �� �� ����)������ 
 ��)������ ��� �&�	�	 �������#	� $� ��,����� ���,���	 �� 
�
�&�	�	 �������#	 �� ������ �� �� ���
��	 ��� �	��	��������	 ���������	 �� �	� �
��	� �/	�  ��+���� 	
�	� �� �� ��
�����" ��� 	�����	�� ��+ �	�	 �� ��� �
����� �� ��������� ��	������ � �	� ����	�� $� ��
���	 �� �������� �����&������ �� �&�	�	� �������#	�� �� ��,����� �� �	� �
��	� ��+���	� ��)���  �
��	�
�	��� �� ����#��� ��� 	�����	� �� ��
�� �
� �	 �	� ��+��� �� �� �
����� �	 ������" �	� �������
�������	��� �	� ����)�	� �,� ����)��� �� ������ ��������� 0��
�	� �� �	� ���)�/	� �%�������� �� ��
�������
�� ������	���	� �	� ���� ���	�
� �	� 123� 14�3 
 1�23� ����� 	��	��

0 �	����
����� ����	�
���	� �	� �	�����	� ),���	� �� ���,���� �	����/� �������	� �� �� ��,�����
���,���	 �� �	� �&�	�	� �������#	�� $� �	� ��%�	� 1563 
 1�73� ����� 	��	�� �
��� ���������� 
 ���������
�%���������� ���� ���	��������

���� 
�� �
����� ����	��� R : Ĉ → Ĉ� �	��� Ĉ �� �� ������ �� �������� �� ��)��� �� 
� �
��	
z0 ∈ Ĉ ���, ������� �	�	8

{z0, R (z0) , R
2 (z0) , ..., R

n (z0) , ...}.
$����	� ���������	� �� �� ���
��	 ��� �	��	��������	 ���������	 �� ��� ��)���� ����������	 ��
�� �	������� ������� z0, ��������	 �� �� ����	 ���,���	 �� �� �
����� ����	��� R ������� �	� �	�
���������� �&�	�	� �������#	��

9��� 	)����� ���	� ����	� ���,���	�� ��)��	� ��������� �� ������ �
��� �	� �
��	� �/	� 	 ��������	�
��� 	�����	� ����	��� R� *� �
��	 z0 ∈ Ĉ �� ������	 ����� ��� �� �������� � R (z0) = z0� :� �� �
��	
�/	 �	 �� �	�
���� �� �� ��
������ ����)� �� �	�)�� �� �
��	 �/	 �%���.	� *� ����� ��	
��

� z0 ��
���+	�	 p > 1 �� 
� �
��	 ��� �
� Rp (z0) = z0 
 Rk (z0) �= z0� k < p� *� ����� �	����	
��

� �� 
�
�
��	 z0 �
� �	 �� ��������	 ���	 �%���� 
� k > 0 ��� �
� Rk (z0) �� ��������	� *� ����� 
	��

� z0
�� 
� �
��	 �	��� �� ����#��� �� �� �
����� ����	��� �� ��
��� R′ (z0) = 0�

*��#������� 9	���&����� �� ;�������



�� ������	�
 ����
�
 ��

��� ���� ��	�
 �� 
���� ��� z0 �� �����	� �������� �� |R′(z0)| < 1
 ���	�
�������� �� |R′(z0)| = 0

�	������ �� |R′(z0)| > 1 � �����
���� �� |R′(z0)| = 1� �� ��������	�	 	� ��� ������ 
����	��� �� 	����	�

�� �� �������	 ������ ��� 1 � ��� 	� |R′(z1) . . . R′(zp)|
 	��	� {z1, . . . , zp} ��� ��� 
����� 	� ��
������ 	� 
����	� p�

�� ��	��� �	 �������
� 	� �� �������� z̄ �� 	���� ���� �� �������� 	� 
����� ����� 	� ���������
��	��!

A (z̄) = {z0 ∈ Ĉ : Rn (z0)→z̄, n→∞}.
"� �������� 	� 
����� z ∈ Ĉ 	� ��� ������ ��� ��� #������� {Rn (z)}n∈N ��� �������� �� ���$�
������� U (z) , �� �� �������� �	 ������ F (R) , �� 	����
 �� �������� 	� %���� ���
����� 
�� ���

����� ����� ������� ������ �� �������� �
���� ���
 ������ 
����	��� � ��������� &� ���
����������
�� Ĉ �� �� �������� �	 ������ J (R) ; 
�� �� ����� �� �������� 	� '���� ������� ��	�� ��� 
����� ����
� ��� ������� 
����	���� ��
������� � ��� 
����� ������ "��� �������� ��� �� ������ 	� ��������� 	�
��������� 
���� ��� 
�������� �� �������� 	� %����� ��� �� ���������
 ��� #�������� 	� ��� ������� 	�
��������� ���
���� �� �������� 	� '�����

"� ��������� �������	� �� ����
 ��� �� 	��� � %���� � '����
 ������� ����� � ��� 
����� 
����	���� �	�
��������� 
����	�� ���� � ��� 
����� ����
 �����	���	�� ���� 
����� 
����	���� 	� 
����	� ���	�	�

������� ����� ���	��� ���
�� �	� R ��� �����
� ��������� ��� ��	���� �	 �������
� ���	������

�	 ���� ����� �	��
���� �������� �����	�	� �� �	��� �� ����� ��������

"� �(��	� 	� )�*��� +� ��	� 
��#�������� ����	��	� �� ��	�� ���  ������
 ������	� �� 	� �� 	�� ����
���
����� ,(����
 
�� ����
��
 -./0 � -120� 3�����	� �� ������ �� �4
������ �������5� 	�� �(��	� 	�
)�*���
 �� �
���	�� �������� ������	�
 �� ������ �� ������� �������5� ����� �� 
�������� ���	� ����
���(���� p(z) = z2 + c ��!

Np(z) =
z2 − c

2z
. �.�.6�

)������ ��� ��� $����� 
����� ���� 	�� �
���	�� ��� ��� ������ 	�� 
��������
 
�� �� ��� 
�	����
������ ��� �� �
���	�� Np(z) �� ����� 
����� ���� �4���7��� "� �� %����� .�� 
�	���� �����5��
��� ������� 	� ��������� 	� �� #������ �������� ������	� �� �(��	� 	� )�*��� ����� �� 
��������
p(z) = z2 − 1� &�+�8	�� � 9����� �� 	���������� � ������ 	�� ����� :;: �5�� -.60 � -�//0
 
��
����
��� ���
 �� �� ���� 	� ��� 
��������� ���	� �����
 ��� ������� 	� ��������� 	� ��� ������ ���
��� ����
����� ��� ��� ��������� � ��� � ��
���	�� 
�� �� ��	�����< ����� �����
 ��� ���������� ��
�������� 	� '�����

��������������
 �� ���2
 %���� � '���� �����<���� �� ����	�� ������ ���� 	� �� ��������� 	� #��������
����������
 �����������	� ��� ����� 	� �� ��� +�� �� ������ ���� 	�� ���� ���
���� �5(���� -1�0 �
-=10��

������ ����	� 
	 ��
�������


��� ������ 	� ����������� ��� 
������� ���
������ �������� � ������
 ��������	� ������ ��������
��� ��	�� ��� 
��������� ���	� ������

����
�
�� ����� �	�� f � g ��� �������	� �	 �� 	��	�� �	 ��	���� 	� �� ������ ��� ���������
�

��������� 	���	 f � g 	� �� ���	�������� h �	 �� 	��	�� �	 ��	���� 	� �� ����� ���  �	 h◦f = g◦h�

>��5����	�	 �����(����� 	� ,�������



�� ���� �����	
�� �
����� �� �� ���
���� ���	����

IRe{z}

IIm
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������ �	
� �
��� �������� �������� �
 ������ �� ������ ����� p(z) = z2 − 1

�� 
�� ���������� ����
����� �� ������ ��� 
�� ��������� �������
�� ��������� �
 ������ �� ������

�������� ����� ������ ��
������� ��� ���
 ��������� ���!������ " �� # �� �������� �������� ��

����$�
����	 �
 ��������� �������# ������ � %���"# &������ " '�

�$��# ������� ������� �
 �������

�������� �� �� �������� �������
 �������� � �� ������ �������$� (�� ���� ���� �� ����� ��
 ������

�� ������) ����� ������������ ����
��� �� ��������� � ����� ��� ����
��	

������� ����� �������� ��� ��������� ����� ��� f(z) ��� �����	� ���
����� �� 
� �
���� ��

������� � T (z) = αz + γ ��� ��
�����	� ����� ��� α �= 0� �� g(z) = (f ◦A)(z)� �������
 (T ◦Ng ◦
T−1)(z) = Nf (z)� �
 ������ Nf �
 ���
���������� ��������� � Ng �������� T �

������� ����� ��� q(z) = a1z
2+a2z+a3� ��� a1 �= 0� �� ��
������ ���������� �������� ��� �����



���
�
� �������
� �������� ��� ����
�������	� ���� �� ����������
 p(z) 
� ������ � q(z) = z2+c�
����� c = 4a1a3 − a22� �
�� ��
�����	� ���� ����������� ��� ���������	� ����� Nq � Np�

*� �����# �� ����
���� �
����� ������ ��� 
�� ���!����� �� +�
�� " ����� �� ��� ��������� �������
��

���!������ $ � ��� ������������,� �� -.����� ��� �������� ���!������	

��������� ����� ���� R1 � R2 ��
 ��������
 �������
�
 Ri : Ĉ → Ĉ� i = 1, 2� ������
 ��� R1 �

R2 
�� ���������
 
� ���
�� ��� ����
�������	� �� � �!��
 ψ : Ĉ → Ĉ ��
 ��� R2 ◦ ψ = ψ ◦R1�

������� ����� ���� R1 � R2 ��
 ��������
 �������
�
 � 
�� ψ ��� ����
�������	� �� � �!��
 ���

������� � R1 � R2� �
 ������ R2 = ψ ◦R1 ◦ψ−1� �������
 
�
 ��������
 �� "�
�� � #���� �� 
����


��������
 �������
�
 ���!��� 
�� ���������
 ��� ψ� J (R2) = ψ(J (R1)) � F(R2) = ψ(F(R1))�

/��$������� ��
�������� �� 0�
�����



�� ������	�
 ����
�
 ��

���� p(z) = z2 + c� �� 	
��
�� ���
���� ����
��� �� ������ �� ������ ����� p(z)� Np� ������� ���
��������� c� ������� ��
�
��� �� ��������� c ���
���� �� �����	�����
�� �� ����

��

h (z) =
z − i

√
c

z + i
√
c

�
��� ����
������ ��� h (∞) = 1� h (i
√
c) = 0 � h (−i

√
c) = ∞�

 � �!����
�� ��� �������� ���
����

Nq (z) =
(
h ◦Np ◦ h−1

)
(z) = z2

� �� ����� �
���
�� ����
��� �� ������ �� ������ ����� ���
���
�� �
�����
��� "
��� ���� �
���
#���� �� �� $
%
�� ����

$
%
�� ���� ����� �
���
�� ����
��� �� ������ �� ������ ����� ���
���
�� �
�����
��� ���� ��
�����	�����
�� �� ���

�

&� �
%

���� ���
������ ���
�� � '����� (#���� )�*+, � � -�.����� ()//+,� �
�
�� 
� ����
� �
�����
��
�� �� ���
�
� ��� ������ �� ������� '����� � -�.����� ���
�
���� �� ���������
���� �
���
�� ���
������ �� ������ ����� ���
���
�� �
�����
��� �� 
�� 	���� ����
�
�������� �
����� �� �� �����
������0�� �� "
� ���
#� �� ������
�� �����0� �� �� ���� �� $���
 � 1
�
��

������� ����� ���

Nf (z) =
z2 − ab

2z − (b+ a)

�� �������� ��	
���� ���	
��� �� 
����� �� �������� ���
	��� �� ���
��

� 	������
	� f(z) = (z −
a)(z − b)� 	�� a �= b� �����	�� Nf �� 	�������� � �� ���
	�	
�� z → z2 
��
���� �� ��������
�	
��

�� ���
�� M(z) =
z − a

z − b
� � �� 	������� ��  ��
� J (Nf ) ��� �� �� ����� 	�
������ �� �!��� ��	�� "��

�� ����� ���
���
	� �� ��� ������ �"�
�
������� � a � b�

2�
#���
��� ���
����
�� �� 3�����
�



�� ���� �����	
�� �
����� �� �� ���
���� ���	����

� ������ �	 	
�	 �	
�����
 ��	�	 �	�����
	 	� �
���
 �	� 	��	�	��	 �
��
�����	��
 �	� ���
�
 �	

�	��
� 

��	 �
���
��

 ���������

� �� 
	� 
� 
�	���
� �

����
 �
������
 � ��� �
�	���� �	 ��

�������	� z2� �	
 �	���� �� ������� 	� ���
�
 	� ������
 �	
� �	 ����	��� �
 	��
�	� ��
 ����

  �

 �

��!���

 "�	 	� �	�
 � 	� �� ���
� �
� �
 "�	 �� �������� �	� ���
�
 	
 �� ��
 
����	 �

���	� �
�
 
	

��	�	 
�
	���� 	� �� #����� �$�$ %� 	��
�	����� 	� 	� �����
�
 �	 �

 
�	���
�	
 ����
���	
 �

����



� 
��

 ���
�

 ��	�����

� �	 
��

 ����

  �

 � ��!���

 ��&	�	��	
 � �

 	����'

 � ��!���

 ����	
��

�

 ��
�
���
����� ��� ��	� ��	��
� �	� �
��
�����	��
 �	 �
�

 � �

 ��
�
���
����� �� ����	

���� ��
&����(�� 	� 
� 	
����
$

)���	�
���� *
��������� �	 +��	����



�������� 	

������� ���	
����� �
����
��� �������

��� ��	��
�
� �
	
 ��

������ �� ����
���

���� �����	 �
� ���


��� ������� ��	
������ 
�� �
����� 	� ��� ������� ������ �� 	������ ��
� ��
����
 ���	
	��	� �
��
��	��� �� ���	��	�� �	��	 	� �����	 ������ �	 ����� ��� ��	 �� ����� ������ 	� �� �	�	
������ �
�
	������
 �	 ��  
���� �	� ����	�� �	��
 !	
	� 
���� ��� �
��	��� �"� 
	��	��	� 	���	���� 	� 
��
� ���� #����	$ ��
 	�	����$ %&'( ) %*+(,$ 
	������	� ����	�
	� #%-.( ) %-/(, � �	�	�
����0� #����	 %'1(
) %++/(,�

2�� �
��	
� ���������� � �	 ��� 	���	��� ��	
������ ��
� 
	����	
 	�������	� �� ���	��	� �	� ����
f(x) = 0 �	 ���� 	� 	� ���	
� �	 ����� �	� �
��	��3 ��0$ �� ������ ��	�	 �	
 �	 �� � �� ���� �
���������� 4� �"� �������� ������ �	 �� � �� ���� 	� 	� �	 5	6���$ ��)� 	7�
	�� � ��	
����� 	�

xk+1 = xk − f(xk)

f ′(xk)
. #1�+,

5 �	�	 ��	$ 	� ���� ���� �	� �
��	��$ ���	 ������ �	�	���� ��� 	���������	� ���������	�$ ��� �	 ��
����� � �� ���	�� f #��)� �	
� ��������, ) ��
� �	 �� �	
����� �
��	
�� 8��� ��	
��� ���������	�$
	� �
�	� �	 ����	
�	���� �	� ������ �	 5	6��� 	� ���$ �� ��	 �	 �
���
����� ��� ��	�� 	���	��
��� ��� �� ����	 ������������� 
�������	$ �	 �
0 �� ������ ���� 9�� 	���
��$ ���	����� ���	����
�	 �	��
�
 �� 	���	����$ 	� ��
����� �	 �	������� �	 ����	
�	����$ ��	
�� ��� �
���� 	� ��
�� �	
��
�� ������� �	 �� � �� �����3 ��� 	���	��� �	 :���	)$ !
	�)�
	�$ ��� ��	�	� ����	
�	���� �������
9�� 	7�
	����	� ��	
������ ��	�	� �� 	�	�	��� 	� �����3 	� ��	
���
 �	 ����	7���� ����
0�����$

Lf (xk) =
f(xk)f

′′(xk)
f ′(xk)2

#����	 %-+(,� 4� ��� ��
������ �	 	��	 ��	
���
 �	
���	 ��	�	
�
 �� ����	
�

�	���� 
���� �	
�	
 �
�	�$ �	
� � ����� �	 	�����
 �� �	����� �	
����� �	 �� ����� � �� ���	�� 	�
���� ��	
���� 4��� ��	� ��	�	 	7�	��	
�	 ��
� ��	�	
�
 ��� �"� �� �	������� �	 ����	
�	����$ �	
�
� ����� �	 	���������	� ���������	� �	 �	
������ �	  
�	�	� ���	
��
	�$ �� ��	 � 	�	���� �
"������ ��
	� 	7�	�����	��	 ����	��	��	� ;�
 ��
� ��
�	$ �� �
�	� �	 ����	�	���� 	��" �������� ��
 	� 
	�������
��	 ����
���� � ���������� � ) ��	 �	 	���	��
� 	� 	� �	7�� �	 <
��� %+++(�

������� ��	�	 ��� xk+1 = G(xk) �� ���	
	 �������
	 ����	 � ����	 ��� ������� � �
������	���

�����	����� �	� ���������� ���	���� �� 	�
�� 
� �	�
�������� ��� �	�	 �����	� ��

=&



�� ������� 	�
���	
�� ����	����� ���	��� ��� �
�	
���� ���� 
����	��
� �� �	�
��
���

���� � ��	�� 
�����
����� �� 
�� ������� ����� � ����� 

����� �� 
� ������� ����� ��
 ���
� ��� �

����		�

� �� ������� ��
������ ���� �������� ���	������� ���	������ ���
�

�� � ���
��
����� ����

����
�� �� ��	������ �� ���� �	��� �� 
� ���
��� �� 
����
 ��	����� ������	 �	����� �� 
����	���
��
�
�������  � ���� ��������� �� ���� ���� �� ������� �� �
 ������� �	������� ��	 !	��� �� "###$�
������� 
���
��� �� 
� 
���	���	� 
��� ������ �� %��	��%�&'� (� ���	����� ���	����� �� ��� ����
�
�� ��	������ ��
 ������ �� )�*��� 
��� �	���	 ���� � �� ������� ���� ��� 
������� �� ��
�
�	
)�*��� ���	� �
 �	���	�� ��	� ���
����� +��
������ 
� ���
��� �� �
 �	���	 ���� � �����������

� ��	����� ���
���� �� �
 ���	��� ����	��	�

yk = xk − f(xk)

f ′(xk)
, ,-��.

xk+1 = yk − f(yk)

f ′(xk)
.

�
 ������ 	���
����� ����� �	��� �� 
����	���
�� �	��� 
��� 
�� ������� 

&��
�� �� 
� ����
��
/0����0���1�

��� ��	� ��� ���
��
����� �� 
� ��	����� �������� %�
� ������� �� ����		�

�	�� 
��

���
���� ������� �� 2�		��� ,����� "34$.� 
��� ���	����� ���	����� ��

yk = xk − 2

3

f(xk)

f ′(xk)
, ,-�-.

xk+1 = xk − 1

2

(
3f ′(yk) + f ′(xk)
3f ′(yk)− f ′(xk)

)
f(xk)

f ′(xk)

� 5��	�*�'� "6#$� ��� �� �� 
��� ��	��
�
�	 ,��	� β = −2. �� 
� ����
�� �� 7��� "36$�

yk = xk − f(xk)

f ′(xk)
, ,-�4.

xk+1 = yk − f(xk) + (2 + β)f(yk)

f(xk) + βf(yk)

f(yk)

f ′(xk)
.

8�� ������� ,-�-. � ,-�4.� ����������� �� ������� �� ��� ����� � ��� ���
��	 ��	������ ���������
�

��9�� �	��� �� 
����	���
�� 
���	�� ����� ��������� 

�	������ �&� �:
������ ��� ��� �	����

���	��� ������	�� � 7��� � !	��� �� ";4$ � �	������	�� 0���� ����� ���<� 
	�
�	 �
 �	��� ��

����	���
�� �� �� ������ 
�� �� �+��	� 
��
	��� �� ���
��
����� ���
����
��� =�<� �
�����	�� ��

������	�> �� ������ ���	����� ��
������ ��� ����	�� 
�� n ���
��
����� ���
����
�� ����� �

���
9�	� 
��� �&����� �	��� �� 
����	���
�� 2n−1� =���

�� ������� ��� �

��9�� ��
0� 
��� 	�
����
�
 ����	� �� ������� �������� ?��� ���� ����� ��	���
����� 
�� ������� �� )�*���� 2�		��� �
5��	�*�'� ��� �������� �����	�� ��� ��	�� ��
0�� ,/0����0��� 1�

��� !	�������. �� 
� ����

@�	���� 
�� ���������� ��
���� �� �	������9� �� �
 
���
������� �� ����� �������� ���
�9���� ��

����	���
�� 
�
�
 � ����
�
�
� �����
�
����� 	������� �� 
�� ��� �� �����	��� �� 
����	���
�� � 
��

���� ��
 �		�	 � �	��	�� ����������� ����� 	���
����� � ����
��� �� ?���
0 ,������� ��	 �����
��
"3A$� "A;$� "##�$ � 
�� 	���	��
��� ��� 
��������.� %�	�
�
������� �� 
������� �
 ����		�

� �� ������
������� ���	������� (�� ����	��� �
 �	����� �� B��	�'��� � C�	����� "##4$� ������ �� �� �	�����
�	���� �� D9��� ,"6-$.� ��	
� �� ����� �� ��E����� �� ���� &	�� �� ���������
���� �� ���� �������

�����9� �
 ���� �� �
 ����F� �� ������� ���	������ ��
������ ��	� 
� 	���
�
��� �� �
��
����� ��

����
��� �� 
� +
���� ��
��� ��
 ���
� �� � 
� �	���	� ��
 ��G ���	�
�� ����	���� �	������ ��

�� ��� �� ����F�� ����� ������� 
��� ����
��� �� ������� �������� �� �	����� 
	�
������� %�	�
�

� �� ���
�9�� ����	����� ��
��
��� ��	� 
�� ��� 	�<9 
��+�> 
� 
������
��� �� ������� 
���
����
,�&��
������ )�*���. � 
� �����	��	 �
�����
��� �� �
���� �� 
�� ���
��
����� ���
����
�� �F�����
�� �
 �	�
���� 8� 	�9�� ��
 ����� �� ���� ��
��
� �� ����
�> 
� 
������
��� �� ��� ������� ��

 ����	����� %�
���
��
� �� H�
��
��



�� ���� �����	 �
� ���


������� p 	 q
 ������
������
�
 �����
� ����
���� �� ����� ������� ��	� ����� �� ������������ ��
�� ������
� �� ��� ������� �� ��� ��
���� ����������
 pq ������ ������� ��
 ��� 
��
�
 ��� 
������ ���
�����
� �����
�� � ������
� �� ��������� �� ������������ �� ��� ��
����! ��� ��"����
 �����
�
�� �� ����� ������ �� �#���� �� ������������ ����������� ����������
 ��� �� ��� �� �$������� ���
��
��� �������
� ����� ��� ����� ��� �� �� ��� ��
���� �� ���
���� %��� ���
�� ��
�
 �� �������
������ �� ��� ������������ ����������� �&����� �� �� ������� �� �����������
 	� ��� ��� ��
����������
���������� ������
 ��� �'�����
 ��(�
 ����� � �((��
 ��� ��������� ���������� ��)�� 	 ��*+��
 �
���,����
���������� �� -������ ���.� 	 �)/��
 ��
���������� ����������
 �
��

0�� 
������ ������
� ��� �����
� �����
�� �����$��
������
� �� ����� �� ������������ ��� ������
�� ������ �1������ �� �#���� �� ������������ ����������� �� �� 
������ �� ��� ��������� ����2 �� ��
������� �� �����������
 �� ���
�
�	� �� �� #�
��� ���� ��� � � � �� ��� ������������ �����������
������ ��� �
��� �1��
��
��
 ��� �� ��� �� ��
��� �����
��
� �� �����,� �� ������
� �� ��� ����3
��� �� ���
���� %��� ��������
 �� ��
������ ���� ���
�� ��� ������� ����
�������� ��	� �����"��
���
���� ������ �� ��� ������������ ����������� ������ �� �� ��
���� �� �� �����
������ ��� �����
�� ������������ �� ��
�"����� � ��� ����������� � ������� ��"�� �� ������� ���� 	 ��� ���������
 ��
��� �����
�� ��'���� �� ����� �� ������������� %�� ������
�
 �� ������� ��� ����"�� �����,�� ���
����� ��
��� 	 �� �1�
� ��� ������� �������� ��� ����&� ���"�� ��� ��
����

- ���
�������� ���
������� ������� �� ��� ��
���� �1��
��
�� �� �� ��
���
��� ���
 ������ ��
����
�� ������� / 	 (
 4�� ���� ����&���� ������
����
� �
���,���� �� 
������ �� ��� ��������� �����
�� ��� 
��"�'�� ����� �� ������
���� ���4�� ��
����
 	 �� ��� ����������� ��
���� �� �� ��
�����

�����
������� �� ������ �� �� ��
��� 
������� 0
���,������ ��
�� �������� ���� ����������� ���
��� �������
�� �� ��
� ���5
��� �� �� ��������

6�� ��
���� �
���
���� �� ����� �� ������������ ���
�� ��� ���������� ��� � ���������� �� ��
������� �������� ��� �������� ������
�� 	� ���������
 ���� �� �� 7�
��8�9� ��.��� ��� ����
����
��� :�;7</
 �� ������� �� =��� �)�/�
 ���� �� ���� ���
������ �� β = −1 ���� ����
 ����� ��
������
� ��� :�;=/��

-�������
 �
���, ����� �� ��
��� ����
����� ��� =��� 	 >���" �� �(/�
 ��	� �1������� �
���
��� ��

yk = xk − f(xk)

f ′(xk)
, �)�+�

xk+1 = yk − f(xk)
2

(f(xk)− f(yk))2
f(yk)

f ′(xk)

	 ��� ����
������ ��� :�;=>/�

>��"��� �
���, ����� �� ����
��� ������������� �� ��
��� �� ?4�� �
 ������� ���@��
 ��	� �1�������
�
���
��� ��

yk = xk − f(xk)

f ′(xk)
, �)���

xk+1 = yk − 1 + 2uk + u2k
1− 4u2k

f(yk)

f ′(xk)
,

����� uk = f(yk)
f(xk)
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���� ��� ����� �� ������������ ��4� ��� ������������ �� �� ������� ��
����"�� ��������� ��� �������� �
���
���� ��
���� ����#� �� ���'�
��� �� =���3 >���"� ����&����
��� �� 
������ �� ��������� ����
 ��� �� ��� ��� 
�
�����
� �������"��� ��� ��� ������ ��
����

0���������� %���
������ �� B�������
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����� �
 ���	�	 �� 	����	 	
��
 �� �
�� ���	�� ���� ���
��� 
 ���
����� ���

yk = xk − f(xk)

f ′(xk)
,

zk = yk − 1 + uk + 2/3u2k
1− uk − 2u2k

f(yk)

f ′(xk)
, !"��#

xk+1 = zk − 1− 2uk + 3vk
1− 3uk

f(zk)

f ′(xk) + f [yk, xk, zk](z − x)
,

�	
�� uk = f(yk)
f(xk)

� vk = f(zk)
f(xk)

� �	
 f [·, ·, ·] ��
	���	� �� ����
�
��� ������ �� 	
��
 �	�� $
 �����
���
�� ��
	��
% ���� ������� �	
 &$'���

(��)��
 ������
��	� �
 
����
�� �	���
���	
�� 	�
	 ���	�	 �� 	
��
 	�*	 ��� *� ���	 ����

	���+
�	 � ��
��
 �� �� ������� �� �������� �
���
���� 
����
����
�� �	
 �*�
 �� ��� �
 ����� ,� ���
��� 

���
����� ���

yk = xk − f(xk)

f ′(xk)
,

zk = yk − f(xk)
2

f(xk)2 − 2f(xk)f(yk) + f(yk)2
f(yk)

f ′(xk)
, !"��#

xk+1 = zk − 1

1 + v2k

f(zk)

K − C(yk − zk)−D(yk − zk)2
,

�	
�� vk = f(zk)
f(xk)

� K = f [yk, zk]� H = f [xk, yk]� C = H−K
(xk−yk)(xk−zk)

− D(xk + yk − 2zk)� D =
f ′(xk)−H

(xk−yk)(xk−zk)
− H−K

(xk−zk)2
� f [·, ·] ���)	��-� �� ����
�
��� �������� �� 	
��
 �
	� .��	� ��
	���	 ����

���	�	 &$'/��

$� ��
��
 ������� ��� ���	� � �����-�
 ��
� �	���
�
 ��� �	
��
���	 �	
 '0-�
�1 � 2��3	��1 �
 �4"�
� �	 ��
	���	� �	
 &$''�� ,� )��� �
 �� ������� �� ���
�	 	
��
 �� 5��
	6�3� !��
 �78�# � ��
���
��� 
 ���
����� ��

yk = xk − f(xk)

f ′(xk)
,

zk = yk − f(xk)

f(xk)− 2f(yk)

f(yk)

f ′(xk)
, !"�7#

xk+1 = zk − (1 + wk)(1 + 2vk)

1− 2uk − u2k

f(zk)

f ′(xk)
,

�	
�� uk = f(yk)
f(xk)

� vk = f(zk)
f(xk)

� wk = f(zk)
f(yk)

�

/�
����
��� �	���
�
��	� 
����
	� 
���	� �������� �	
 �� ���	�	 �������	 �	
 ,	�����
� �

�89��� ��� ��
	���	� �	
 &$',�� )����	 �� 
���	 �
 �� ���	�	 �� 5��
	6�3� � ���� ���
��� 

���
����� ��

yk = xk − f(xk)

f ′(xk)
,

zk = yk − f(xk)

f(xk)− 2f(yk)

f(yk)

f ′(xk)
, !"�89#

xk+1 = zk − f(zk)

2f [yk, xk]− f ′(xk) + f [zk, xk, xk](zk − yk)

(
1 + wk + 2vk − 2u3k +

2

5

f(zk)

f ′(xk)

)
,

:
���
����� 2	�����
��� �� ;���
���



�� ���� �����	 
� �	� �
�	
	�

����� uk = f(yk)
f(xk)

� vk = f(zk)
f(xk)

� wk = f(zk)
f(yk)
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������� ����������� ������� ���������� ���������� ������� 
�� ��������� ���� �� ����
���
�� �
��
����� �� ��������	 ��
��� �������� ����� 
���������� �������� �� ��
��
� �� ���
����� �����
�� ������ ��� ����������� ���
���������� �� ��� � ���� ������ 
�� ����� ������ �� 
��������
��

����� � �
��� �����
���������	  �� ���������� ������ 
��� ����� �� ������� �� ������� �� !����"
!��# $��� %&'() � �� �� !��#���* $��� %&+()	  � �����
���� ��� �������� 
������� �� �� ���������,

���������� ���������� �������� �� ����� 
����� � �
��� �������������� ����-
���� �� ����� ��

��������
�� � �� ����
��� �.������� ����� ��� ���������� �������� �� �������� ��������� ��� ��������

��
����� ��� ������ ����� �� ��
��� �������� � �� ��������� 
�� ��� �� �.��������	 /����������

�� �� ��

��� �� ����0�� ������
��� �� ��� ��� 
��������� ��� ������ �������� 
�� ����� ��

���
����	 
� �� 1����� ��

���� �0������� �� ���0���� �� �� ���������
��� ���������� �� ��0����
�� ��������� ����-
����� ����
���� �� ��
�� ���������
��� ��� ������ ������� ��������� �� �����
�
�� � 
��������� ��� ���������� 
�� ��� ��� ��� ������
����� ��� �������� 2
�3�� 2
�4��
2
��� � 2
�5�	

���� �����	 
� �	� �
�	
	�

6���� �������� ������ ������� ����������� 
�� ������� �� 
��������
�� 
����� � �
��� ������ �� ��
�������� ��
��
� �� ���
����� ���� �� ��� �� �� ���� ����� ���� ��7���� �� ����� �� 
��������
��
�� ������� �� ������� ��� �������� �� �1���� �� ������
�����	

8��
����� �� ������� ��������� �� �� �.������� ���������

yk = xk − f(xk)

f ′(xk)
,

xk+1 = yk − f(yk)

f ′(xk)
, $9	::)

��� 
���������� �� 
���
��� ������ �� ����� ���� �� ;���0 $��� %:::()	 ;��0��� �� �� ����� ������
������ �� !����"!��# � ������ �� �� �������� 
��������	

<��������� �� �� ������� $9	::) 
������������� �� ��������� ��������=�
���� �����=���� �� ��
��
�
�� ��� ���
����� ����

yk = xk − α f(xk)
f ′(xk)

,

xk+1 = yk −H(uk)
f(yk)
f ′(xk)

,

$9	:�)

����� α �� �� ��������� ���� �H(u(x)) ���������� ��� ���
��� �� �����0�� ����� u(x) = f(y)
b1f(x)+b2f(y)

�
�� �� ��� b1 � b2 ��� ���������� ������	

!�������� �� $9	::) ���������� ���0��� ���� ������� �� �����
��� ������� �� ��������� ��� �.���"
����� �� �� ��������� ������,

yk = xk − α
f(xk)

f ′(xk)
,

xk+1 = yk −H(μk)
f(yk)

f ′(xk)
, $9	:9)

>���������� !�����
��
� �� ?����
��
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���	
�� ����	����� ���	��� ��� �
�	
���� ���� 
����	��
� �� �	�
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���

������ α 	� 
��
����� ���� �H(μ(x)) 	�� �	����� �� �������� ���� μ(x) = a1f(x)+a2f(y)
b1f(x)+b2f(y)

� �� ����������

����� ���� ������� ��� ���
���� � ������� �� �	� � �� ���� ��� 
��
������ ������ a1 � a2� �� ��
�	������� �� �� ��������� � ��� �� �!������� b1 � b2 ��� ����������� �� �� �������� u(x)�

"���������� �� ��� �	�� 	����#���� ������������ ������� �� ��� 
��
������� ��$ ���� ��%� �������
����������� ����� H(u(x)) � H(μ(x)) �	� ���
������� ���	���� ������ � ������ ���� ������� ��
����� �	���� �
���� ��%������ �� ����� �� ������ ����� � �� �&������� ��� ������ �� 
������
�������

'� �� ���������� (��)� � 
����� ��� ������ �� ��� 
���� ������ ����*���� �� ������ �� ���� 
����

yk = xk − α
f(xk)

f ′(xk)
,

zk = yk −H(uk)
f(yk)

f ′(xk)
, ����+�

xk+1 = zk −G(uk, vk)
f(zk)

f ′(xk)
,

����� uk =
f(yk)

b1f(xk) + b2f(yk)
� ������ b1 � b2 
��
������ ������ ����������� � vk =

f(zk)

f(yk)
� ,�%�

������� ����������� �	� �� ��������
� �� �� -������ ���� �� 
�	��� �� ����� �� ������ ����� ��.� 
���
���������� ������� �� ��� 
��
�������

"��/���0� �� ��� �� (�+) ����*���� 	� ���	��� �
���� �� ����� + ���%� ������� ����������� 
��� ��
�	����� 
��� ���� h � �� 
��
����� α 	����#������

yk = xk − α
f(xk)

f ′(xk)
,

xk+1 = yk − h(uk, vk)
f(yk)

f ′(xk)
, ����1�

����� uk = f(xk)
f ′(xk),

� vk = f(yk)
f(xk),

� "�������� �� ���� ���	��� ����*���� ���� ������ �� ���� 
�����

�� �� �	� ���������� ��� ��� 
���� �� ����1� � 	�� �	����� 
��� �� ���� ��������� �	� ����
�*��

���� ������� �� �������� f(tk)
f ′(xk)

�� �� �	��� 
���

yk = xk − α
f(xk)

f ′(xk)
,

tk = yk − h(uk, vk)
f(yk)

f ′(xk)
,

xk+1 = tk − g(uk, vk, wk)
f(tk)

f ′(xk)
, ����2�

����� wk = f(tk)
f(yk)

� '� �� �� 	����� ������� ����������� �	�� ��%� ������� ����������� ��� 
��
�����

α� � �� ��� �	������� 
��� h � g� �� ������ ����2� �� �� ����� ��.��

'� �� �� 	����� ���	��� ��������� 	����� ��� ��� 
������� 
���� ��� ������ ������� 
��� �����
b1 = 1 � b2 = 0 �	� �� ������
���� ��� �� ������ 
��
	���� 
�� 3.	� �� (�+)� �	�� �!
������
��������� ��

yk = xk − f(xk)

f ′(xk)
,

xk+1 = yk − f(yk)

f ′(xk)h(uk)
, ����4�

5���������� "���������� �� 6�������
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����� uk = f(yk)
f(xk)

� �	 
 ���� 
����� �� 
�	�	��

�� �� ����� �
�� ����
�� �	���
� �� �	��	����

����� �� ���� ������

yk = xk − f(xk)

f ′(xk)
,

zk = yk −H(uk)
f(yk)

f ′(xk)
, ������

xk+1 = zk −G(uk, vk)
f(zk)

f ′(xk)
,

����� G(uk, vk) �� ��
 ����	�� �� ��� �
�	
���� � vk = f(zk)
f(yk)

� � ��� ���� �
��� �� ���� 
�����

�
�	��
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�
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	�� �� ���	

� �����/0����� 	���
�	�� 
��/���,( �� 
����� ���
 �1����	�� 	���
�	�
 ��
����2�( �� ����� ��
��� �
&� �	���
� ����	�	���� ����� �
 ����	�� H � �� �
�3
���� α( �����	�
� ��
�� �	��	���� ������
���

�

�
�� ����� ��� ξ ∈ I �� ���� 	
��
� �� ��� ����
�� 	���
��������� �
������
��
� f : I ⊆
R → R �� �� 
������
� ��
���� I� ��� H : R → R ���
��
�� ����
�� 	���
��������� �
������
��
�

��
 ��� H(0) = 1� H ′(0) = 2b1� |H ′′(0)| < ∞ � α = 1� ���	
������	 x0 ��� �	�
���
�� 
�
�
�


	���
��������� ����
�� � ξ� �������	 �
 ������ ����
�� �� ���� !� ��� b1, b2 ∈ R� b1 �= 0� �
���
������"���
� �� ������ ������ � 	� �����
�� ��
 ����� �	

ek+1 =

((
10b21 + 4b1b2 −H ′′(0)

)
c32 − 2b21c2c3

2b21

)
e4k +O(e5k),

����� ck = (1/k!)f
(k)(ξ)
f ′(ξ) � k = 2, 3, . . . � ek = xk − ξ�

��������	
��
 �������� �� 	
� �� ��
 ��
�������
 �� 
���� �� 
����� �� ����� � �� ���� ξ� ������


f(xk) = f ′(ξ)
[
ek + c2e

2
k + c3e

3
k + c4e

4
k

]
+O(e5k) ������

�

f ′(xk) = f ′(ξ)
[
1 + 2c2ek + 3c3e

2
k + 4c4e

3
k

]
+O(e4k). ������

� ������ �� ������ � ������ ������
 ������� �� ����� �������� �� �� ������ ��
� ��� �
�	��� ������� �

�������

yk − ξ = (1− α)ek + αc2e
2
k − 2

(
α
(
c22 − c3

))
e3k + α

(
4c32 − 7c2c3 + 3c4

)
e4k +O(e5k).

!�� ��
���� "����#����� �� $�������
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�� ����	����� ���	��� ��� �
�	
���� ���� 
����	��
� �� �	�
��
���

������	
��� f(yk) ��

�
��
 �
 ξ� ���
�
���

f(yk) = f ′(ξ)
[
(1− α)ek +

(
1− α+ α2

)
c2e

2
k

+
(−2α2c22 −

(−1 + α− 3α2 + α3
)
c3
)
e3k ������

+
(
5α2c32 + α2(−10 + 3α)c2c3 +

(
1− α+ 6α2 − 4α3 + α4

)
c4
)
e4k
]
+O(e5k).

���
�� �
��

������� u(xk) �
�	���
 
� ��� �
 ������ � ������

f(yk)

b1f(xk) + b2f(yk))
=

1− α

N
+

α2b1c2
N2

ek

−α2b1
((
3b1 +

(
3− 3α+ α2

)
b2
)
c22 + (−3 + α)Nc3

)
N3

e2k

+

[
α2b1

(
8b21 + 2

(
8− 8α+ 3α2

)
b1b2 + (−2 + α)2

(
2− 2α+ α2

)
b22
)
c32

N4

+
α2b1

(
2
(
(−7 + 2α)b21 +

(−14 + 18α− 7α2 + α3
)
b1b2
)
c2c3
)

N4

+
α2b1

(
2
(− (7− 16α+ 14α2 − 6α3 + α4

)
b22
)
c2c3
)

N4

+
α2b1

((
6− 4α+ α2

)
N2c4

)
N4

]
e3k +O(e4k),

����
 N = b1 + b2 − αb2�

������� 
� ����	�

��	�� ��
 u(xk) �	
��
 � �

� ������ xk �	
��
 � ξ� �
��

������� 
� �

	
 �

�����
 H(u(xk)) ��

�
��
 �
� �

��

H(u(xk)) ≈ H(0) +H ′(0)u(xk) +
H ′′(0)

2
u(xk)

2 +
H ′′′(0)

6
u(xk)

3. ������

 �
 �� ������ ������ ����!�� ������ � ������� �
�
��� 
� 


�
 ���
�	�� 
� 
� �
"���� ����

ek+1 = yk − ξ −H(u(xk))
f(yk)

f ′(xk)

= (−γ + γK1) ek +
1

2

(
2α+ γα2K2 − 2

(
γ + α2

)
K1

)
c2e

2
k

+

[
−K2

2
α2
(
γ + α2

)
c22 + 2α

(−c22 + c3
)
+ (1 + α)K1

(
(−2 + 4α)c22 + (2 + (−4 + α)α)c3

)
+

M

2N5

]
e3k +O(e4k), ������

����
 γ = −1 + α�

K1 = H(0)− 3γN (2b1H
′(0)− γ(2b2H

′(0) +H ′′(0))) + γ3H ′′′(0)
6N3

,

K2 =
b1
(
2N(b1H

′(0)− γ(b2H
′(0) +H ′′(0))) + γ2H ′′′(0)

)
N4

�

M = α2b1γ
[− (6b31H ′(0) + b21(2(−9γ + α2)b2H

′(0) + 6H ′′(0)− α(6 + α)H ′′(0))
+γ2(−3γ + α2)b2(2b2(b2H

′(0) +H ′′(0)) +H ′′′(0))
+γb1(−b2(2(−3 + α)(−3 + 2α)b2H

′(0) + (−12γ + α2)H ′′(0)) + (−3γ + α2)H ′′′(0))
)
c22

−(−3 + α)N
(
2N(b1H

′(0)− γ(b2H
′(0) +H ′′(0))) + γ2H ′′′(0)

)
c3
]
.
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�� ���� �������� 	
 �� �
��
��
����

������	�
	� �� 	
������ H(0) = 1� H ′(0) = 2b1� |H ′′(0)| < ∞ � α = 1� �	 ������ ��� ��	���	�
	� �	
ek� e

2
k � e3k 	� ������ � �	�������� ��	 �� 	������� �	� 	���� 	�

ek+1 =

(
10b21 + 4b1b2 −H ′′(0)

)
c32 − 2b21c2c3

2b21
e4k +O(e5k).

�

���� 
���� ��� ��	����� �	 �� ������� �	����� 	� ��� ��� ��	 �	������ ��� ���������	� 	�
���	�����
	� 	� !	��	�� ���� � 
�	�	� ���	� �	 ����	��	���� ���
�� �"
���� �� ��	 �	���	�	� 
�	� 	���������	�
���������	� "�� �
	�������

#��	������ ��	 ��	�
�� ����	 �	 �$
���� ��� �� ������	 ������� �$
���� ��	� ���������� %�� 	&	�'
"��� 
������ H(t) = 1

1−t/2 � b1 = 1
4 � b2 = 0� ��
	�	��� 	� �$
��� �	 #�
��(�)�� ���� 	
"�	����

�
	��
��� 	�

yk = xk − f(xk)

f ′(xk)
,

xk+1 = yk − f(xk)

f(xk)− 2f(yk)

f(yk)

f ′(xk)
.

�*���� 
��	��� H(t) = 1+2t� b1 = 1 � ������	�	��� b2 ����
������ +� 	�
	 ����� 
	�	��� �� �������
�	 ,��� ��	� -./0��

yk = xk − f(xk)

f ′(xk)
,

xk+1 = yk − f(xk) + (2 + b2)f(yk)

f(xk) + b2f(yk)

f(yk)

f ′(xk)
.

!����$� �	 "�	�	� ��
	�	� ��	��� �$
���� �	 ����
� ���	� �	����
	 	� ��� �	 ���	�	�
	� �������	�
H(t) � �����	� �	 ��� "��1�	
��� b1 � b2�

��
���
 �� !��	��� �� ������� H(t) = 1 + t� b1 = 1/2 � b2 = 02 ��
	�	��� 	� �����	�
	 	���	��
�
	��
��� �	 ����
� ���	�

yk = xk − f(xk)

f ′(xk)
,

xk+1 = xk − f(xk)
2 + f(xk)f(yk) + 2f(yk)

2

f(xk)f ′(xk)
. ����3�

4	��
��	��� "�� 5+43� � 	�
	 	���	���

��
���
 �� 6����� �� ������� H(t) = 4
4−2t−t2

� b1 = 1/4 � b2 = 1/4� �	 ��
�	�	 �� ��	�� �$
���
�	 ���	� ���
��

yk = xk − f(xk)

f ′(xk)
,

xk+1 = yk − (f(xk) + f(yk))
2

f(xk)2 − 5f(yk)2
f(yk)

f ′(xk)
, ����7�

�� ��	 ������	��� 5+433�

6���	������ %���
$����� �	 8��	����
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������� 	
���

 ������� ��� ������� 	���������� ��� ������� � ������ �����
 b1 = 1/4 � b2 = β�
���������
� �� � 	��
�!� �������"� �� �
�� ������� �


yk = xk − f(xk)

f ′(xk)
,

xk+1 = yk − (f(xk) + 4βf(yk))
2

f(xk)2 + 2(4β − 1)f(xk)f(yk) + 4(4β2 − 2β − 1)f(yk)2
f(yk)

f ′(xk)
. #��$%&

'���

 �� 
�������� ��
���� �� �� 
� �����
��� ��� �� �
����� #��(�& ����� 
���� �� �
�"��������

�����
� �
�� ���
�
 �
 ��� ��������)���!� �� "���

 	�
���������

 �� 
���� �����
� 	��
 ���


������
 �
�����
��
 �� H(μ)� α � ��� ��
�
 �� 	��*����

 ��"
������

� 	
���

 ��
���
���� ���"



���
�

� �������
 �� ������ ��� μ ������ � c = a1
b1

�����
 xk ������ � ξ� ��
���
����

 H(μ)
�������
� �� c �� �� 	����� ��� 
�������� ��
�����
�

�
��
�� ����� � ��� ξ ∈ I �� ���	 
��
�� �� ��� ������� 
������������� ������������� f : I ⊆
R → R� �� �� ��������	 ������	 �� ��� H : R → R ��������� ������� 
������������� �������������

��� ��� H(c) = 1� H ′(c) =
2b21

a2b1−a1b2
� |H ′′(c)| < ∞ � α = 1� �	�
������	
 x0 ��� �
��������

������� 
������������� 
������ � ξ� ���	���
 �� ���	�	 ������	 
	� ��� �!� �	� 
��"����	
 �����


���������	
 a2 � b2� 
��	 �	� a1 �= 0 � b1 �= 0� ������ �	����#����� �� 	���� �����	� � 
� ��������

��� ���	� �


ek+1 =
1

2b41

[(
10b41 + 4b31b2 + (2a1a2b1b2 − a22b

2
1 − a21b

2
2)H

′′(c)
)
c32 − 2b41c2c3

]
e4k +O(e5k),

�	��� ck = (1/k!)f
(k)(ξ)
f ′(ξ) � k = 2, 3, . . . � ek = xk − ξ�

�
�������	��� +
���
 ��
 � 	��
�
��
 #��(,&� #��$-& 
�������
 ��� ��
���
��
 �� ����
� �� f(xk)
� f ′(xk) �� �
��
 � ξ� 
������



yk − ξ = (1− α)ek + αc2e
2
k − 2(α(c22 − c3))e

3 + α(4c32 − 7c2c3 + 3c4)e
4
k +O(e5k).

��
���
�����
 f(yk) �������
� �� ξ� �
�
�����

 �� � 	��
�!�

f(yk) = (f ′(ξ)− αf ′(ξ))ek + (1− α+ α2)f ′(ξ)c2e2k + f ′(ξ)(−2α2c22 − (−1 + α− 3α2 + α3)c3)e
3
k

+f ′(ξ)(5α2c32 + α2(−10 + 3α)c2c3 + (1− α+ 6α2 − 4α3 + α4)c4)e
4
k +O(e5k). #��$.&

/0
��� ��������

 �� ��
���
��
 �� μ(xk) �
���
 #��(,& � #��$.&

a1f(xk) + a2f(yk)

b1f(xk) + b2f(yk)
=

A

B
+

1

B2

(
a2b1 − a1b2

)
α2c2ek

− 1

B3

(
(a2b1 − a1b2)α

2((3b1 + b2(3− 3α+ α2))c22 + (−3 + α)Bc3
)
e2k

+
1

B4
(a2b1 − a1b2)α

2
(
(8b21 + b22(−2 + α)2(2− 2α+ α2) + 2b1b2(8− 8α

+3α2))c32 + 2(b21(−7 + 2α) + b1b2(−14 + 18α− 7α2 + α3)

−b22(7− 16α+ 14α2 − 6α3 + α4))c2c3 +B2(6− 4α+ α2)c4
)
e3k +O(e4k),

�
��� A = (a1 + a2 − a2α) � B = (b1 + b2 − b2α)�

+��"��
���� 1
��������� �� '�������



�� ���� �������� 	
 �� �
��
��
����

���� μ(xk) ���	
� � c �
�	
� xk ���	
� � ξ� ��
���� ��������� H(μ(xk)) ��� �� ����	���� 
�

������ 
� ������ ���
� 
���������
� ����
�
�� 
� c

H(μ(xk)) ≈ H(c) +H ′(c)(μ(xk)− c) +
H ′′(c)

2
(μ(xk)− c)2 +

H ′′′(c)
6

(μ(xk)− c)3, ������

��� �� �
� 
������	
� ������������� � ������ ��	����

ek+1 = yk − ξ −H(μ(xk))
f(yk)

f ′(xk)

=

(
1− α− (1− α)

(
H(c) +

(1− α)(−a2b1 + a1b2)H
′(c)

b1B
+

1

2

(
−c+

A

B

)2

H ′′(c)
))

ek

+

(
α− φ1

(
H(c) +

(1− α)(−a2b1 + a1b2)H
′(c)

b1B
+

1

2

(
−c+

A

B

)2

H ′′(c)
)

−
(
(−1 + α)α2N1

b1B3

))
c2e

2
k

+

(
α2φ1N1

b1B3
c22 − 2α(c22 − c3) + (1 + α)

(
H(c) +

(1− α)(−a2b1 + a1b2)H
′(c)

b1B

+
1

2

(
−c+

A

B

)2

H ′′(c)
)
((−2 + 4α)c22 + φ2c3)

− 1

2B4
α2(a2b1 − a1b2)(1− α)(−2BH ′(c)((3b1 + φ2b2)c

2
2 + (−3 + α)Bc3)

+
1

b1(a2b1 − a1b2)
H ′′(c)(((−6 + 6α+ α2)b1 + 2(−3 + 6α− 4α2 + α3)b2)c

2
2 + 2φ4Bc3))

)
e3k

+

(
− 1

b1B3
α2(1 + α)N1c2((−2 + 4α)c22 + φ3c3)− 1

2B4
α2φ1(a2b1

−a1b2)c2(−2BH ′(c)((3b1 + φ2b2)c
2
2 + (−3 + α)Bc3) +

1

b1
(a2b1 − a1b2)H

′′(c)(((−6 + 6α

+α2)b1 + 2(−3 + 6α− 4α2 + α3)b2)c
2
2 + 2φ4Bc3)) + α(4c32 − 7c2c3 + 3c4)

− 1

2b21B
2
(2b41H(c)− 2(−1 + α)b31(2b2H(c) + a2H

′(c)) + (−1 + α)2a21b
2
2H

′′(c)

−2(−1 + α)2a1b1b2(b2H
′(c) + a2H

′′(c)) + (−1 + α)b21(2(−1 + α)b22H(c) + 2(a1 + (−1

+α)a2)b2H
′(c) + (−1 + α)a22H

′′(c)))((−4 + 4α+ 13α2)c32 + (7− 7α− 19α2 + 5α3)c2c3

+(−3 + 3α+ 6α2 − 4α3 + α4)c4)− 1

B5
α2(a2b1 − a1b2)(1− α)(BH ′(c)((8b21 + 2(8

−8α+ 3α2)b1b2 + (−2 + α)2φ2b
2
2)c

3
2 + 2((−7 + 2α)b21 + (−14 + 18α− 7α2 + α3)b1b2

−(7− 16α+ 14α2 − 6α3 + α4)b22)c2c3 + (6− 4α+ α2)B2c4) +H ′′(c)(−α2(a2b1

−a1b2)c2((3b1 + φ2b2)c
2
2 + (−3 + α)Bc3) +

1

b1
(−1 + α)(−a2b1 + a1b2)((8b

2
1 + 2(8− 8α

+3α2)b1b2 + (−2 + α)2(2− 2α+ α2)b22)c
3
2 + 2((−7 + 2α)b21 + (−14 + 18α− 7α2 + α3)b1b2

−(7− 16α+ 14α2 − 6α3 + α4)b22)c2c3 + (6− 4α+ α2)B2c4)))

)
e4k +O(e5k), ���� �


�	
� N1 = (a2b1 − a1b2)(−b21H
′(c)− (−1+α)(a1b2H

′′(c) + b1H
′(c) + a2H

′′(c))� φ2 = 3− 3α+α2�

φ3 = 2− 4α+ α2 � φ4 = 3− 4α+ α2�

! ��	��	
���"	� �� �������� α = 1� H(c) = 1� H ′(c) =
2b21

a2b1−a1b2
� |H ′′(c)| < ∞� �� �	
��	 ���

#	�$����
�
 %����&�	��� 
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�� ������� 	�
���	
�� ����	����� ���	��� ��� �
�	
���� ���� 
����	��
� �� �	�
��
���

��������	�
 �� ek� e
2
k 
 e3k �� ������ 
 �� �������� ��� ����� ��
��	�

ek+1 =
1

2b41

[(
10b41 + 4b31b2 + (2a1a2b1b2 − a22b

2
1 − a21b

2
2)H

′′(c)
)
c32 − 2b41c2c3

]
e4k +O(e5k).
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� ���	��������� ��
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 ������
 �������
 �����������
 ��� �� ������� �� � 	���
 ���!�� "��

������� ��
 ����������
 �� ������������ ��� #������ ����!� $��������
 "��  
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�� �� ��
�

���	������ �� �� ���
� �� � 	���
 ���!�� ���� a1 = 0� "�� ���� ������� ��
 ����������
 ��� #����%

�� ������ &� �
	� ����� 
� ��	����� ������
 � 	���
 ��������
 
 	���� � ��
	������
 ������


�������
 "�� ���
	�	�
�� �����
 �
"����
 �	���	���
�

��
���� �� '��
�������� ��
 ������
 a1 = 0, a2 = 2, b1 = 1, b2 = 0, H(0) = 1 
 H ′(0) = 1�
��	�����
 ��
 
������	�
 ��������
 ��
�(

�� H(μ) = 1 + μ� � ���	�� �� �� ���� 
� ��	���� �� ������� �� )���

yk = xk − f(xk)

f ′(xk)
,

xk+1 = yk − f(xk) + (2 + b2)f(yk)

f(xk) + b2f(yk)

f(yk)

f ′(xk)
.

�� *� b2 = 0� 	����+���
 �� ��
� ���	������ ��� 
������	� �
"���� �	���	���

yk = xk − f(xk)

f ′(xk)
,

xk+1 = yk − f(xk) + 2f(yk)

f(xk)

f(yk)

f ′(xk)
.

��
���� �� *� �������
 ��
 ������
 ���� a1 = 0, a2 = 2, b1 = 1/2, b2 = 0, H(0) = 1 
 H ′(0) = 1/2�
��	�����
 ��������
 ��
� ��� 
�
 ��
���	���
 �
"����
 �	���	���
(

�� H(μ) = 1 + 1/2μ ���(

yk = xk − f(xk)

f ′(xk)
,

xk+1 = yk − f(xk) + 2f(yk)

f(xk)

f(yk)

f ′(xk)
.

�� H(μ) = 2
2−μ � ���(

yk = xk − f(xk)

f ′(xk)
,

xk+1 = yk − f(xk)

f(xk)− 2f(yk)

f(yk)

f ′(xk)
,

��	������� �� � 	��� �� ,
	��-
.��

/�����
���� 0���	 ����� �� 1�������



�� ���� �������� 	
 �� �
��
��
����

�� H(μ) = 14−2μ
14−9μ ����

yk = xk − f(xk)

f ′(xk)
,

xk+1 = yk − 7f(xk)− 4f(yk)

7f(xk)− 18f(yk)

f(yk)

f ′(xk)
,

�� 	
� �� 
� �
�� �
����
�
� �� �
 �
����
 �����

�� H(μ) = 6
6−3μ−μ2 ����

yk = xk − f(xk)

f ′(xk)
,

xk+1 = yk − 3f(xk)
2

3f(xk)2 − 6f(xk)f(yk)− 8f(yk)2
f(yk)

f ′(xk)
,

������ ���� 
� �
��� ������ ����
����� 
� 	
� ��
�
����� ������

� ��
 ������������ 
��
��� �!������ �� ��� 	
� a1 �= 0� "#��������� �
���� ��	
��
� ����
�����
	
� �
����
�
� �
� ����������� �� �����������
 ��� $�����
 ����% ��������������� 
 �
 ��
�� ��
������� &��'�(�

��
���
 �� �
�
 �
 �
���)� H(μ) = 1+d(μ− c)� ����� c = a1
b1
� H(c) = 1 * H ′(c) = 2b21

a2b1−a1b2
= d�


�� �� ����� �
��� �
����
�
��� ���+
 ��� �
����� �
�
 a1 = −1/4, a2 = −5/8, b1 = −1/4� * b2 = 1/8�
�#�������� �
 �
���)� H(μ) = 2μ+1

3 ��� �
 ��������������� ��	
��
 ����
����

yk = xk − f(xk)

f ′(xk)
,

xk+1 = yk − 2f(xk) + 3f(yk)

2f(xk)− f(yk)

f(yk)

f ′(xk)
.

��
���
 �� ,
�
 �
 �
���)� H(μ) = 2+μ+μ2

2 � ������ ��� �
����� �� a1 = 1/2, a2 = 0, b1 = −1/2� *
b2 = 2� �� �#����� �� ��	
��
 ����
����� 	
� �����
��� ��� �����

yk = xk − f(xk)

f ′(xk)
,

xk+1 = yk − f(xk)
2 − 6f(xk)f(yk) + 16f(yk)

2

f(xk)2 − 8f(xk)f(yk) + 16f(yk)2
f(yk)

f ′(xk)
. &���-(

�� �
 �����)� �
�����
 ����
�
����� �� �������
������ �� 
��
��� �� ����� ������� ��#�� ���.
#���
� �� ����
��� ��������� * �� �����
��
����� ��� �� �� 
��
��� ������� ����������

� ������

��)� �����/
����� �� 
�0����� �� �
 �����������
 �� ��� ������� ����
����� �� ���� �
����
�� ���
����� ���
��
��  
 ���� �
#���
�� �� �� 
��+�
�� 1''2 3$4� 4��� ��� ��� �.����� ��
���� ��
����
���� ����.5����� ��� ���3� 6
 ��
�� �� ��	
��
� ����
����� �
*� ����� �� � )����� ���#
���

 ������

��)� ��������� ���� �
#��
�� �
����
�
�� 
 
�
 �
����
 �� ������� ����7
�
 ��� �8
��9
�� 
�� �� 1��2�

�

�
�� ����� ��� ξ ∈ I �� ���� 	
��
� �� ��� ����
�� 	���
��������� �
������
��
� f : I ⊂
R → R 	���� �� 
������
� ��
���� I� ���� H � G ����
���	 ���
�	 	���
��������� �
������
��
�	

:��������
� ,���������
 �� ;
�����




�� ������� 	�
���	
�� ����	����� ���	��� ��� �
�	
���� ���� 
����	��
� �� �	�
��
���

� ��� x0 ��� ���	
���
��� ���
��� 
��
��� � ξ� �� α = 1 � H � G �������
�� ��� H(0) = 1�
H ′(0) = 2b1� H ′′(0) = 2b1(2b1 + b2)� G(0, 0) = Gv(0, 0) = 1� Gu(0, 0) = 2b1� Guv(0, 0) = 4b1�
Guu(0, 0) = 2b1(3b1 + b2) � |Gvv(0, 0)| < +∞� ���	�
��� �� ������� �� ���	�	� ������� ����� 	����

�� 
	�������
�� 	
 	 ���� 
�������� ���	� �� b1 ��������� �� 
��	� �� �
��
��� ��� ���	� ��

ek+1 =
1

2b31

[
(3b1 + b2)c

2
2 − b1c3][r3c

2
3 + r4c

4
2 + r5c

2
2c3 − 2b21c2c4

]
e8k +O(e9k),

�	��� r3 = b21(Gvv(0, 0) − 2)� r4 = 9b21(Gvv(0, 0) − 6) + b22(Gvv(0, 0) − 2) + 2b1b2(3Gvv(0, 0) − 13)�

r5 = b21(34−Gvv(0, 0))− 2b1b2(Gvv(0, 0)− 5)� ck = (1/k!)f
(k)(ξ)
f ′(ξ) � k = 2, 3, . . . � ek = xk − ξ

�
�������	��� ������	
	��� 	� �	�


���� 	� �	
�	 �	 �
���
 �	 f � f ′ 
�
	�	��
 �	 ξ

f(xk) = f ′(ξ)
8∑

j=1

cje
j
k +O(e9k) � f ′(xk) = f ′(ξ)

8∑
j=1

(j + 1)cj+1e
j
k +O(e9k),

����	 cj =
f (j)(ξ)

j!f ′(ξ)
� ek = xk − ξ� �����
��� 	���� 
	����
��� 	� �
 	��
	���� ��	

���
 �	� ������

�	 �	���� 
��
����
��� ���	�	���

yk = xk − α
f(xk)

f ′(xk)
= ξ +

8∑
j=1

Aje
j
k +O(e9k),

����	 A1 = 1−α� A2 = −2αc2� A3 = 2α(c3− c22) � A4 = α(4c32− 7c2c3+3c4)� ��
��� ��	�
�	��	
	� �	�


���� �	 �
���
� ���	�	���

f(yk) = f ′(ξ)
8∑

j=1

Bje
j
k +O(e9k),

����	 B1 = A1� B2 = (α2 − α+ 1)c2� B3 = −2α2c22 + (1− α+ 3α2 − α3)c3 � B4 = (1− α+ 6α2 −
4α3 + α4)c4 + 5α2c32 + α2(3α− 10)c3c2�

� �

� 	� �	�


���� �	 uk =
f(yk)

b1f(xk) + b2f(yk)
��	�	 �	
 �
����
�� �


� ����	
��
�	��	� ���	!

�	
 �
 
�
����
���� ��
 �� ��������� �	 �
���
 �	 �
 "������ �	�� H(uk) ≈ H(0) + H ′(0)uk +
(1/2)H ′′(0)u2k� ����

zk = yk −H(uk)
f(yk)

f ′(xk)
= ξ +

8∑
j=1

Zje
j
k +O(e9k)

� �
 	��
���� �	� 	

�
 	� 	� �	����� �
�� 	� ezk =

8∑
j=1

Zje
j
k +O(e9k) ���� �
��	
 ��
���� �	�	��	

�	� "
���


Z1 = (1− α)

[
1−H(0) +

1− α

2(b1 + b2(1− α))2
(−2b1H

′(0) + (α− 1)(2b2H
′(0) +H ′′(0)))

]
.

#
 ��������� �


 ���	�	
 
� �	��� �
�	� �	 ����	
�	���
 2 	� $�	 Z1 = 0� �


 �� $�	 �	�	���
���
$�	 �	 �	
�%$�	 α = 1� &��
�����	��� 	��	 �
��
 	� �
 	��
���� �	� 	

�
 �	 	��	 �
�� ���	�	���

ezk =

8∑
j=2

Z̄je
j
k +O(e9k)� ����	

Z̄2 = (1−H(0))c2, � Z̄3 = 2(1−H(0))c3 − (2− 4H(0) +H ′(0)/b1)c22.

����	
���
� '���������
 �	 (
�	���




�� ���� �������� 	
 �� �
��
��
����

������	�
�� �� �	���
� �� �����	�
�� �	
����
��� Z̄2 = 0 � Z̄3 = 0� ����
�
�� H(0) = 1 � H ′(0) =
2b1� ����	����
�� ����� ��
�	�	�
�� ����
�
�� �� �����	�
 ��� ����� �� zk�

ezk =
1

2b21

(
(4b1b2 + 10b21 −H ′′(0))c22 − 2b21c3

)
c2e

4
k +

8∑
j=5

¯̄Zje
j
k +O(e9k).

�� ���� ������	�
 ��
���	
�� ��� �� ����
�� ���� �� �� ������	�
 	�����	�� ��� !" �	�
� ����
 ��

��
�����
�	� �� 
�
�� 4 �	 b1 �= 0�

����������
�� f(zk) �
 ���	� �� #����� �
 ���
� � ξ�

f(zk) = f ′(ξ)
8∑

j=4

Dje
j
k +O(e9k),

��
�� D4 =
1
2b21

(
(4b1b2 + 10b21 −H ′′(0))c22 − 2b21c3

)
c2�

$%���� ��&
	
�� �� 
���� ���	���� vk =
f(zk)

f(yk)
� �����	
�
�� �� '�
�	�
 ���� ��� �� ���	
�
	� ��

#����� ����	��� �� ����
�� ������

G(uk, vk) ≈ G(0, 0) +Gu(0, 0)uk +Gv(0, 0)vk +
1

2
(Guu(0, 0)u

2
k +Gvv(0, 0)v

2
k) +Guv(0, 0)ukvk.

(
��
���� ��
� xk+1 = zk −G(uk, vk)
f(zk)

f ′(xk)
� ����
�
��

ek+1 =
1

2b21
(1−G(0, 0))

[
(4b1b2 + 10b21 −H ′′(0))c22 − 2b21c3

]
c2e

4
k +

8∑
j=5

Lje
j
k +O(e9k).

�	 ��	�	
�� G(0, 0) = 1� �� ����
 �� ��
�����
�	� ���� �� 
�
�� 5� �����	����
�� ���� ��
�	�	�
 �


�� �����	�
 ��� ����� ����
�
��

ek+1 =
1

2b31
(2b1 −Gu(0, 0))

[
(4b1b2 + 10b21 −H ′′(0))c22 − 2b21c3

]
c2e

5
k +

8∑
j=6

L̄je
j
k +O(e9k).

)������
�� ��� �	 Gu(0, 0) = 2b1� �� ���
	
� �� �� ����
 5 �� �
���� )��� ��*� �����	��	
�� ����

��
�	�	�
 �
 �� �����	�
 �� ����� �� ���� �� �	
��	&���	�
 ��������
�	�
��� ����
�
��

ek+1 =

8∑
j=6

¯̄Lje
j
k +O(e9k),

��
��
¯̄L6 =

1

4b41
((4b1b2 + 10b21 −H ′′(0))c22 − 2b21c3)[(r1c

2
2 + 2b21(1−Gv(0, 0))c3]c2

�

r1 = 4b1b2(Gv(0, 0)− 1) + 2b21(5Gv(0, 0)− 6) +Guu(0, 0)−Gv(0, 0)H
′′(0).

�	 Gv(0, 0) = 1 � Guu(0, 0) = 2b21 +H ′′(0)� �� ����
 �� ��
�����
�	� �� �� 
�
�� 7 � ����
�
�� ��

������	�
 �� �����

ek+1 =
¯̄̄
L7e

7
k +

¯̄̄
L8e

8
k +O(e9k),

+
	����	��� ,��	���
	�� �� -���
�	�



�� ������� 	�
���	
�� ����	����� ���	��� ��� �
�	
���� ���� 
����	��
� �� �	�
��
���

�����
¯̄̄
L7 =

1

4b51
(nc22 − 2b21c3)

[
r2c

2
2 − (8b31 + 2b21Guv(0, 0))c3

]
c22.

��	� �
�����	 �
 �	��� �� ���
�	������ ���� �����������
¯̄̄
L7 = 0� ���� ��� Guv(0, 0) = 4b1 � H ′′(0) =

2(2b21 + b1b2)�

����
������

ek+1 =
1

2b31

(
(3b1 + b2)c

2
2 − b1c3

) (
r3c

2
3 + r4c

4
2 + r5c

2
2c3 − 2b21c2c4

)
e8k +O(e9k),

�������� �	����� �
 �	��� ���� �� 
� �
��� �� �������� �

��� ��������� ���� H � G ����� ��	 �
������ ��� ����
�� ���� ��� �����
�� ��� �� 
�� ��	��� � �

����
� �� 
� ��� ��������� �������� �
 ��� �� 
�� ��
������� �� !��
�	� ��	� ����� ��������� �����	�

��� ����
�� ��� 
�� ����������� ��������� �� �
 !��	��� ������ 
� ����
�� �� ������� �"�	�����

�� ����	� ����	�
 ��

H(u) = 1 + 2b1u+ b1(2b1 + b2)u
2, G(u, v) = 1 + 2b1u+ v + b1(3b1 + b2)u

2 + 4b1uv.

#� ���	� ��������� 
�
�	�� � b1 � b2� ��������� 
�� ������� ��	���
�	�� ����������$

H(u) = 1 + 2u, G(u, v) = 1 + 2u+ v + u2 + 4uv − 4u3, si b1 = 1, b2 = −2

H(u) = 6u3 + 3u2 + 2u+ 1, G(u, v) =
1

1− 2u− v
, si b1 = 1, b2 = 2

H(u) =
1

1− 2u
, G(u, v) = 1 + 2u+ v + 4uv + 10u2 + 12u3, si b1 = 1, b2 = 7

��� ������� ���	���
�� ����	���� ��� ���
���� ����� �	�� ��	�%�� �� ��������� 
�� ������	���� ��	

&'()*� &'()� � &'()+� 	�������
�������

, ����������-� �	���	���� 
�� ����
��� �� ������� ���	�������� �� .��/01 � .��/21� (�����	�	����

�� 
�� ���������� 	���
����� ��� ������ �������� ��� -������� 	������� � 
� ���%���	� �� 3��� �

!	���� �� -	����� + � ) 	�������
�������

�
��
�� ����� ��� ξ ∈ I �� ���� 	
��
� �� ��� ����
�� 	���
��������� �
������
��
� f : I ⊆
R → R� �� �� 
������
� ��
���� �� ��� h(uk, vk) ��� ����
�� ���
 	���
��������� �
������
��
� ���

	��
	����� h(0, 0) = 1� hv(0, 0) = 2� |hu(0, 0)| < +∞� |hvv(0, 0)| < +∞� � 	�� x0 ��� �����
���
��


�
�
�
 ������� � ξ� �������	 
� �
�	� �� ������ ��� !" �	 ���
�� �� ����� ������ ���� α = 1� � 	�

�����
�� ��
 ����� �	

ek+1 = −1

2

(
c2(2hu(0, 0)c2 + (−10 + hvv(0, 0))c

2
2 + 2c3)

)
e4k +O(e5k)

����� cj = (1/j!)f
(j)(ξ)
f ′(ξ) , j = 1, 2, ... � ek = xk − ξ�

�
�������	��� 4��
������ ������ 
�� ����		�

�� �� ��	�� �� !��
�	 .��/�1� .��*51 �� �
 �	���	

���� ��
 ������� ���	���
� .��/01� ���������

yk − ξ = γ1ek + α(c2e
2
k − (2c22 − c3)e

3
k + (−4c32 + 7c2c3 − 3c4))e

4
k +O(e5k),

����� γ1 = −1 + α � γ2 = −1 + α + α2� (���		�

���� f(yk) �� ��	�� �� !��
�	 �
	�����	 �� ξ�
���������

f(yk) = f ′(ξ)(−γ1 + (1− α+ α2)c2e
2
k + (−2α2c22 − (−1 + α− 3α2 + α3)c3)e

3
k + (5α2c32

+α2(−10 + 3α)c2c3 + (1− α+ 6α2 − 4α3 + α4)c4))e
4
k +O(e5k). .���/1

���
�	����� ��
�������� �� 6�
�����



�� ���� �������� 	
 �� �
��
��
����

��� uk = f(yk)
f ′(xk)

� ���	�
�� ����
������	 �� �� ���
���� �	� ������	��	� ������ � ������� �� 	��
��� ��

������
�� �� �� ���
���� uk 
	�	 ������	��	 �� ���
� �� ����	�

uk = −γ1ek + γ2c2e
2
k − (1 + α)(−2 + 4α)c22 + (2− 4α+ α2)c3)e

3
k + ((−4 + 4α+ 13α2)c32

+(7− 7α− 19α2 + 5α3)c2c3 + (−3 + 3α+ 6α2 − 4α3 + α4)c4)e
4
k +O(e5k). ������

 �!�	"������� ����
������	 ����#� � ������ �� vk = f(yk)
f(xk)

� �����	� $��

vk = −γ1 + α2(c2ek − (3c22 + (−3 + α)c3)e
2
k

+(8c32 + 2(−7 + 2α)c2c3 + (6− 4α+ α2)c4)e
3
k +O(e4k). ������

%	���	� $�� uk � vk �
����� � 
��	 
����	 xk �
���� � ξ �	� �	 $��� ���� ���	�
��� �� &��

��
���	� ��
�
'��	� �� �	�
�	�
	 �� ����	� ��	

��	 �� "���	 � ������	����	 �� �	��	 � (0, 0)�

h(uk, vk) ≈ h(0, 0) + hu(0, 0)uk + hv(0, 0)vk +
1

2
huu(0, 0)u

2
k +

1

2
hvv(0, 0)v

2
k

+huv(0, 0)ukvk. ������

 (	�� 
��
����	� �� �
��

�� ��� ���	� �� ����)�� ��
�
'���	 ������� ������� � ������� 	����
���	

xk+1 − ξ =
1

2
γ1(−2 + 2h(0, 0)− 2hv(0, 0)γ1 − hvv(0, 0)γ

2
1)ek + (αc2 − (h(0, 0)− hv(0, 0)γ1

+
1

2
hvv(0, 0)γ

2
1)γ2c2 − (−γ1(−γ1(hu(0, 0) + huv(0, 0)γ1) + α2(hv(0, 0)

+hvv(0, 0)γ1)c2)e
2
k + (−(γ2c2(−γ1(hu(0, 0) + huv(0, 0)γ1) + α2(hv(0, 0) + hvv(0, 0)γ1)c2)

−2α(c22 − c3) +
1

2
γ1(huu(0, 0)γ

2
1 + 2(hu(0, 0)γ2 + huv(0, 0)(−1 + 2α+ α2 − 2α3))c2

+α2(−6hv(0, 0) + hvv(0, 0)(−6 + 6α+ α2))c22 + 2(3− α)α2(hv(0, 0)− hvv(0, 0)γ1)c3)

+(1 + α)(h(0, 0)− hv(0, 0)γ1 +
1

2
hvv(0, 0)γ

2
1)((−2 + 4α)c22 + (2− 4α+ α2)c3))e

3
k

+(α(4c32 − 7c2c3 + 3c4) +
1

2
(−2(hu(0, 0)(5− 10α− 5α2 + 10α3 + α4) + huv(0, 0)(5− 15α

+25α3 − 12α4 − 3α5))c22 − (h(0, 0)(−8 + 8α+ 26α2)− 2hv(0, 0)(4− 8α− 22α2 + 26α3

+7α4) + hvv(0, 0)(−4 + 12α+ 27α2 − 74α3 + 18α4 + 21α5 + α6))c32 + 2γ1(−2hu(0‘, 0)(2

−2α− 3α2 + α3) + huv(0, 0)(−4 + 8α+ 5α2 − 12α3 + 3α4))c3 + c2(3huu(0, 0)γ
2
1γ2

+(−2h(0, 0)(7− 7α− 19α2 + 5α3) + 2hv(0, 0)(−7 + 14α+ 31α2 − 48α3 + 4α4 + 2α5)

+hvv(0, 0)(−7 + 21α+ 36α2 − 122α3 + 69α4 + 9α5 − 6α6))c3)− (2h(0, 0)(−3 + 3α+ 6α2

−4α3 + α4) + γ1(−2hv(0, 0)(−3 + 3α+ 12α2 − 8α3 + 2α4) + 3hvv(0, 0)(1− 2α− 5α2

+10α3 − 5α4 + α5)))c4))e
4
k +O(e5k).

*
��������� ��
"
���	 $�� h(0, 0) = 1, hv(0, 0) = 2 � α = 1� �� �
��

�� ��� ���	� ��

ek+1 = −1

2
(c2(2hu(0, 0)c2 + (−10 + hvv(0, 0))c

2
2 + 2c3))e

4
k +O(e5k),
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�	
���� ���� 
����	��
� �� �	�
��
���

�� �� ���	�
���
 	� ������� ��
� h(u, v) = 1 + 2v� ��� �	 �
����� ���������

yk = xk − f(xk)

f ′(xk)
,

xk+1 = yk −
(
1 + 2

f(yk)

f(xk)

)
f(yk)

f ′(xk)

�� �
���� ���� ������� ��
� h(u, v) = 1+2v
1+u � 
� �
����� ��������� �


yk = xk − f(xk)

f ′(xk)
,

xk+1 = yk − f(yk)(f(xk) + 2f(yk))

f(xk)(f ′(xk) + f(yk))
,

��� ��������
 ��� ����� � ����� ��
������������� �
��
 �
�����
 ���������
 
�� � ���������


��� ����
 �!����
 �� ����� ������ �� ��������
 �� 	� 
������ ���!���� �� �
�� ���"��	��

# ������������ ���
������
 �	 �� 	�
�
 �� 	� ������$����� ��	 �!���� �� ���
 ��
�
 ���� ���������

��	 ��
�	���� ��������� �	���
� ����� �� ������$����� ������ ��%��

�
��
�� ����� ��� ξ ∈ I �� ���� 	
��
� �� ��� ����
�� 	���
��������� �
������
��
� f : I ⊆
R → R� �� �� 
������
� ��
���� �� ��� h(uk, vk) � g(uk, vk, wk) ����
���	 ���
�	 	���
���������

�
������
��
�	 ��� 	��
	������ hu(0, 0) = 0� huv(0, 0) = guv(0, 0, 0)� hvv(0, 0) = 4� g(0, 0, 0) = 1�
gu(0, 0, 0) = 0� gv(0, 0, 0) = 2� gw(0, 0, 0) = 1� gvv(0, 0, 0) = 2+hvv� gvw(0, 0, 0) = 4� |guw(0, 0, 0)| <
+∞� |guv(0, 0, 0)| < +∞� |gww(0, 0, 0)| < +∞� |guu(0, 0, 0)| < +∞� |huu(0, 0)| < +∞ � 	�� x0 ���

�����
���
�� 
�
�
�
 ����
�� � ξ� �������	� 
� �
�	� �� ������	 ��	��
�� �� ��� !" �	 �� ����� ��#�

���� α = 1 � 	� �����
�� ��
 ����� �	

ek+1 = −1

2
(c2(3c

2
2 − c3)((6guw(0, 0, 0)− 4guv(0, 0, 0))c

3
2 + 9(−6 + gww(0, 0, 0))c

4
2

+(−2 + gww(0, 0, 0))c
2
3 + c22(guu(0, 0, 0)− huu(0, 0) + (34− 6gww(0, 0, 0)c3)

−2c2(guw(0, 0, 0)c3 + c4)))e
8
k +O(e9k),

����� cj = (1/j!)f
(j)(ξ)
f ′(ξ) , j = 1, 2, ... � ek = xk − ξ�

�
�������	��� &���������
 	� ����
������� � ������ ��	 '	���� ��
� ��
����		��� �� �	 (������

)�)��� ��� 	� ��� �
�����
 	�
 ����������
 α = 1, h(0, 0) = 1 � hv(0, 0) = 2� �	 ��
����		� �� 
����

�� (��	�� �� 	� ������	� tk �	������� �� ξ ��
�	��

tk − ξ = L4e
4
k + L5e

5
k + L6e

6
k + L7e

7
k + L8e

8
k +O(e9k), *)�)+,

������
���� -�	��!����� �� .�	�����



�� ���� �������� 	
 �� �
��
��
����

�����

L4 = −1

2
(2l4,1c

2
2 + l4,2c

3
2 + 2c2c3),

L5 = (l5,1c
3
2 + l5,2c

4
2 + l5,3c

2
2c3 + l5,4c2c3 − 2(c23 + c2c4),

L6 = l6,1c
4
2 + l6,2c

2
5 −

1

2
(l6,3c

3
2 + l6,4c

3
2c3)) + 4l4,1c

2
3 − 7c3c4 + l6,6c

2
2c3 + l6,7c

2
2c4 + l6,8c2c

2
3

−6l4,1c2c4 − 3c2c5,

L7 = 2l7,1c
5
2 + 4l7,2c

6
2 + (6l6,3 − 16l7,4c3)c

4
2 + (l7,5c3 + l7,6c4)c

3
2 + (−3l6,3c3 + l7,8c

2
3 + l7,9c4

+2l7,10c5)c
3
2 + 4l7,11c

3
3 + 6c24 + 12l4,1c

4
3 + 10c3c5 + 2(l7,13c

2
3 + l7,14c3c4 − 4l4,1c5 − 2c6)c2,

L8 = l8,1c
6
2 + l8,2c

7
2 + (−87l6,3 + 28l8,4c3)c

5
2 + (2l8,5c3 + l8,6c4)c

4
2 + (90l6,3c3 + l8,8c

2
3 + l8,9c4

+2l8,10c5)c
3
2 + (l8,11c

2
3 − 9l6,3c4 + 2l8,13c3c4 + 168l4,1c5 − 24l8,15c4 + (160− 15l8,17)c6)

+2(l8,18c
3
3 + l9,19c

2
3c4 − (9l4,1c4 + 17c5)c4 − (16l4,1c5 + 13c6)c3))− (12l6,3c

2
3 + l8,20c

3
3

+l8,21c
2
4 − 8(l8,22c4 + l8,23c5)c3 + 10(2l4,1c6 + c7))c2,

������

l4,1 = hu(0, 0), l4,2 = −10 + hvv(0, 0), l5,1 = 8hu(0, 0)− huv(0, 0),
l5,2 = −36 + 5hvv(0, 0), l5,3 = 32− 3hvv(0, 0), l5,4 = −4hu(0, 0),
l6,1 = −42hu(0, 0) + 11huv(0, 0), l6,2 = 170− 31hvv(0, 0), l6,3 = huu(0, 0),
l6,4 = 524− 74hvv(0, 0), l6,6 = 44hu(0, 0)− 6huv(0, 0), l6,7 =

3
2(32− 3hvv(0, 0)),

l6,8 = −6(11 + hvv(0, 0)), l7,1 = 90hu(0, 0)− 37huv(0, 0), l7,2 = −165 + 38hvv(0, 0),
l7,4 = −90 + 17hvv(0, 0), l7,5 = 292hu(0, 0) + 82huv(0, 0), l7,6 = 2(−188 + 27hvv(0, 0)),
l7,8 = 2(−352 + 51hvv(0, 0), l7,9 = 64hu(0, 0)− 9huv(0, 0), l7,10 = 32− 3hvv(0, 0),
l7,11 = −11 + hvv(0, 0), l7,13 = 40hu(0, 0)− 6huv(0, 0), l7,14 = 98− 9hvv(0, 0),
l8,1 = 780huv(0, 0)− 1362hu(0, 0), l8,2 = 4560− 1289hvv(0, 0), l8,3 = −87huu(0, 0),
l8,4 = −459 + 110hvv(0, 0), l8,5 = 1508hu(0, 0)− 657huv(0, 0), l8,6 = 4066− 781hvv(0, 0),
l8,7 = huu(0, 0), l8,8 = 9632− 1893hvv(0, 0), l8,9 = 240huv(0, 0)− 836hu(0, 0),
l8,10 = −491hu(0, 0) + 71hvv(0, 0), l8,11 = 456huv(0, 0)− 1508hu(0, 0), l8,13 = −2009 + 297hvv(0, 0),
l8,15 = huv(0, 0), l8,17 = hvv(0, 0), l8,18 = 8(6hu(0, 0)− huv(0, 0)),
l8,19 = −2(−97 + 9hvv(0, 0), l8,20 = 1654− 248hvv(0, 0), l8,21 = −290 + 27hvv(0, 0),
l8,22 = 58hu(0, 0)− 9huv(0, 0), l8,23 = 65− 6hvv(0, 0).

	�
��� �
 ��
������ ������ ���������

f(tk) = f ′(ξ)(L4e
4
k + L5e

5
k + L6e

6
k + L7e

7
k + L8e

8
k) +O(e9k) ������

� ������
��� ��� ���
������� ������ � ������ �� �� ���
������ �� ����� �� �
 �
��
��� wk = f(tk)
f(yk)

�����

�����

wk = M2e
2
k +M3e

3
k +M4e

4
k +M5e

5
k +M6e

6
k +O(e7k),
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�����

M2 = −1

2
(2l4,1c2 + l4,2c

2
2 + 2c3),

M3 = (m3,1c
2
2 +m3,2c

3
2 − 2m3,3c2c3 − 2(l4,1c3 + c4),

M4 =
1

2
(m4,1c

3
2 +m4,2c

4
2 +m4,3c

2
3 − (l6,5 +m4,4c3)c

2
2 + (m4,5c3 +m4,6c4)c2 − 6(l4,1c4 + c5),

M5 = m5,1c
4
2 +m5,2c

5
2 + 2m5,3c

2
3 + (5l6,3 +m5,4c3)c2 − 6m5,5c3c4 + (m5,6c3 +m5,7c4)c

2
2

−2(l6,3c3 +m5,8c
2
3 + 3m5,9c4 +m5,10c5 + c6)c25− 2c6)c2,

M6 = 231l8,15 +m6,1c
5
2 +m6,2c

6
2 + 2l6,3c

3
3 + (2l4,1 − 31l6,3 +m6,4c3)c

4
2 + 38c24 −

9

2
hvv(0, 0)c4

+5m6,5c3 + 3m6,6c4)c
3
2 + 3m6,7c4 + 2m6,8c5)c3 +

1

2
(55l6,3c3 + 4m6,9c

2
3 +m6,10c4

+3m6,11c5)c
2
2 − 5l4,1c6 + (m6,12c

2
3 − 3l6,3c4 +m6,13c3c4 + l8,21c

2
4 − 8(l8,22c4 + l8,23c5)c3

+10(2l4,1c6 + c7))c2,

������

m3,1 = 6hu(0, 0)− huv(0, 0), m3,2 = −26 + hvv(0, 0), m3,3 = −10 + hvv(0, 0),
m4,1 = −50 + 18huv(0, 0), m4,2 = 186− 41hvv(0, 0), m4,3 = 38− 4hvv(0, 0),
m4,5 = 42hu(0, 0)− 8huv(0, 0), m4,4 = 260− 43hvv(0, 0), m4,6 = 2(29− 3hvv(0, 0)),
m5,1 = 88hu(0, 0)− 51huv(0, 0), m5,2 = −284 + 85hvv(0, 0), m5,3 = 9hu(0, 0)− 2huv(0, 0),
m5,4 = 580− 138hvv(0, 0), m5,5 = −9 + hvv(0, 0), m5,6 = 49huv(0, 0)− 124hu(0, 0),
m5,7 = −180 + 31hvv(0, 0), m5,8 = 106− vv(0, 0), m5,9 = huv(0, 0)− 5hu(0, 0),
m6,1 = hu(0, 0)(hvv(0, 0)− 290), m5,10 = 2hvv(0, 0)− 19, m6,2 = 820− 315hvv(0, 0) +

1
4hvv(0, 0)

2,
m6,4 =

25
2 (55hvv(0, 0)− 172), m6,3 = −113 + 22hvv(0, 0), m6,5 = 113hu(0, 0)− 70huv(0, 0),

m6,7 = 17hu(0, 0)− 4huv(0, 0), m6,6 = 53− 13hvv(0, 0), m6,8 = 35− 4huu(0, 0),
m6,9 = 2668− 687hvv(0, 0), m6,11 = −154 + 27hvv(0, 0),

m6,10 = 142huv(0, 0)− 348hu(0, 0),m6,12 = 88huv(0, 0)− 20hu(0, 0),m6,13 = −581 + 109hvv(0, 0).

	
���
 ������ ���� ������������ �� �� ������� g(uk, vk, wk) �� ��������� �� ������ �������� ��

����� � ��������� �� (0, 0, 0)
 ������� ���

g(uk, vk, wk) ≈ g(0, 0, 0),+gu(0, 0, 0)uk + gv(0, 0, 0)vk + gw(0, 0, 0)wk +
1

2
guu(0, 0, 0)u

2
k

+
1

2
gvv(0, 0, 0)v

2
k +

1

2
gww(0, 0, 0)w

2
k + guv(0, 0, 0)ukvk + guw(0, 0, 0)ukwk

+gvw(0, 0, 0)vkwk. ������

	��
 �� �������� �� ����� ���������� ��

xk+1 − ξ = R4e
4
k +R5e

5
k +R6e

6
k +R7e

7
k +R8e

8
k +O(e9k), ���� �

�����

R4 =
1

2
(−1 + g(0, 0, 0))c2(2l4,1c2 + l4,2c

2
2 + 2c3).

!��"����� �� ��������� g(0, 0, 0) = 1
 �� ����� ��� �#���� ���$ 5 �
 ������%�����
 �&������� ���

R5 =
1

2
(−2 + gv(0, 0, 0))c

2
2(2l4,1c2 + l4,2c

2
2 + 2c3).

'��(������� )����#����� �� *�������
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 �� �
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����

�� �������	 
���
 gv(0, 0, 0) = 2
 ��������	 ����� 
� ����	 �
 ���

R6 =
1

4
c2((2l4,1c2 + l4,2c

2
2 + 2c3)(2(gu(0, 0, 0) + gw(0, 0, 0)l4,1)c2 + (−12 + gvv(0, 0, 0) + 10gw(0, 0, 0)

−gw(0, 0, 0)l8,17c− 2(−1 + gw(0, 0, 0))c3).

����
����� ��������	 �
	 ����������	 gu(0, 0, 0) = 0
 gw(0, 0, 0) = 1
 gvv(0, 0, 0) = 2 + hvv(0, 0) �
hu(0, 0) = 0
 �
�
 ������� ����� 7 ���

R7 = −1

4
(l4,2c

4
2 + c22c3)[−2(guv(0, 0, 0)− huv(0, 0))c2 + (32 + gvw(0, 0, 0)l4,2 − 2l8,17)c

2
2 + 2(−4 + gvw(0, 0, 0))c3

]
.

���
������
 �
	 ����������	 huv(0, 0) = guv(0, 0, 0)
 gvw(0, 0, 0) = 4 � hvv(0, 0) = 4
 ��	 ��������

������� �� ����� 8 ��� �
 	�������� ���
���� ��� �����

ek+1 = −1

2
(c2(3c

2
2 − c3)((6guw(0, 0, 0)− 4guv(0, 0, 0))c

3
2 + 9(−6 + gww(0, 0, 0))c

4
2

+(−2 + gww(0, 0, 0))c
2
3 + c22(guu(0, 0, 0)− huu(0, 0) + (34− 6gww(0, 0, 0)c3)

−2c2(guw(0, 0, 0)c3 + c4)))e
8
k +O(e9k),

����������� �
 ����	��
����� �

�������� �� �����
 �
	 ����������	 �
�
	 ��� �� ������
 �����
 ��������	 �� �	 ���
 ����
���� ��

����� 8 
	���
�� 
 �
	 !�������	 ��	� h(u, v) = 1+ 2v+2v2
 � g(u, v, w) = 1+ 2v+w+3v2 +4vw

���
 �����	��� ����
���
 �	

yk = xk − f(xk)

f ′(xk)
,

tk = yk −
f(yk)

(
f(xk)

2 + 2f(xk)f(yk) + 2f(yk)
2
)

f ′(xk)f(xk)2

xk+1 = tk −
f(tk)

(
1 + 4f(tk)

f(xk)
+ f(tk)

f(yk)
+ 2f(yk)

f(xk)
+ 3f(yk)

2

f(xk)2

)
f ′(xk)
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�
�� ����� ��� ξ ∈ I �� ���� 	
��
� �� ��� ����
�� 	���
��������� �
������
��
� f : I ⊂
R → R �� �� 
������
� ��
���� I � 	
���� x0 ��� �����
���
�� 
�
�
�
 ����� �� ξ� �
 ������

����
�� ��� ������� �
��� ����� �� ������ ���
� ���
�� 8 	
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�
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�	� �� ������ !�� 	��
	�� �� 
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�
���	 ����	"

H(0) = 1, H ′(0) = 2, G(0, 0) = 1, Gu(0, 0) = 2,
Gv(0, 0) = 1, Guu(0, 0) = 2 +H ′′(0), Guv(0, 0) = 4, Guuu(0, 0) = −24 + 6H ′′(0) +H ′′′(0),
|Gvv(0, 0)| < +∞.
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ek+1 = −1

2
c2(3c

2
2 − c3)

(9(−6 +Gvv(0, 0))c
4
2 + 2(17− 3Gvv(0, 0))c

2
2c3 + (−2 +Gvv(0, 0))c

2
3 − 2c2c4)e

8
k +O(e9k)

	��	� ck =
1

k!

f (k)(ξ)

f ′(ξ)
� k = 2, 3, . . . � ek = xk − ξ�

������� �	��
��
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f1(x) = sinx− x2 + 1, ξ ≈ 1.409240.
f2(x) = x2 − exp (x)− 3x+ 2, ξ ≈ 0.257530.
f3(x) = cos (x)− x, ξ ≈ 0.739085.
f4(x) = (x− 1)3 − 1, ξ = 2.
f5(x) = x3 − 10, ξ ≈ 2.154435.
f6(x) = cos (x)− x exp (x) + x2, ξ ≈ 0.639154.
f7(x) = exp (x)− 1.5− arctan(x), ξ ≈ 0.767653.
f8(x) = x3 + 4x2 − 10, ξ ≈ 1.365230.
f9(x) = 8x− cos (x)− 2x2, ξ ≈ 0.128077.
f10(x) = arctan (x), ξ = 0.
f11(x) = exp (x)− 4x2, ξ ≈ 0.714806.

f12(x) =
(
sin (x)− x

2

)2
, ξ = 0, doble.

f13(x) = x exp (x2)− sin (x)2 + 3 cos (x) + 5, ξ ≈ −1.201576.

f14(x) =
√
x2 + 2x+ 5− 2 sin (x)− x2 + 3, ξ ≈ 2.331968.

f15(x) = x4 + sin
( π

x2

)
− 5, ξ =

√
2.

f16(x) = 10x exp
(−x2

)− 1, ξ ≈ 1.679631.
f17(x) = exp (−x) + cos (x), ξ ≈ 1.746140.

f18(x) =
√
x4 + 8 sin

(
π

x2+2

)
+ x3

x4+1
−√

6 + 8
17 , ξ = −2.
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��� �� �� �#� ��� �� ���� $��������� �� �� %������ �� ���� ��� β = −2� &���� ������� ��� ����
��������� $�� '&(��� '&( )�� '&(�
� 	 '&(��� ���$������������

&� ��� ��
��� ���������� �$������ ��� ���������� �
������� ��
�� ��� %�������� ����� f1(x) � f18(x)�
�������� �� ������ ��� �� �������� �� $����� �� ����� �� ����� ������ |xk+1−xk| < 10−500 * |f(xk+1)| <
10−500� +��� ���� ��� �� ��� %��������� ����������� �� ��������*� ������� �����,���� x0� �� ��-, ξ �
�� ��� ������ �� $������� ��� ������������ ��� ����� �������� �� �� .����� �������*�� |(xk+1 − xk)| 	
|F (xk+1)|� �� �.���� �� ����������� ��� �� ���������� $��� ���������� �� ����� ���$��������� ��
������������ �$��/������ ρ 	 �� ����$� �� ���$�����*� �� ��������� �0����� ��� �� ���� ���������
���� �� ����� �� 122 �3��������� ������������� �������� �� ������� ��������
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y = 1 +X(l + x), +3�37-

�
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l =
r1 + r2

4
√
r1r2 cos (

ν2−ν1
2 )

− 1

2
, x = sin2 (

E2 − E1

4
),

�

X =
E2 − E1 − sin (E2 − E1)

sin3 (E2−E1
2 )

.
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y2 =
m

l + x

 �� (����!� ������$� !� '����
y2(y − 1) = mX,

!��!�m =
μτ2

[2
√
r1r2 cos (

ν2−ν1
2 )]3
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y20
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cos
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2

)
= 1− 2x0, sin

(
E2 − E1

2

)
= +
√

4x0(1− x0),
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E2 − E1 − sin (E2 − E1)

sin3 (E2−E1
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y1 = 1 +X0(l + x0),
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r2r1 sin (ν2 − ν1)
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√
μ · τ

2
√
a
√
r2r1 sin (

E2−E1
2 ) cos (ν2−ν1

2 )
,

�
���	��� �	 �
  ����
 	
���
���� �	 �
 ���������� � �
 ��!	�	���
 �	 �

 
���
��

 	"�������

�

������	
 
	 �����
 �
  ����
 !

	 �
�
 �	�	����
� �
 �	�����
� � ��
 	�	�	���
 �����
�	
� �	
 #����


$%�%&�

#����
 %�%' ��	�	���
 �����
�	


(	��
��
 	� ��	��
 ��	 �
 	
���
���� �����
� ������
�
 	
 ��	�
 
��� 
� �

 ��
	��
����	
 
�� �	��
�



	� 	� ��	���� 	
 ��
 �	�����
� ��������
 	� 	� ������ �	 )
�

� *	 �	���� 	� 	
��	�
 �	 �����

+�� ������
�� ��� ����	��	���
 ���	
�� 
	 �
 �	���
�� ������
��� ��
  �����
 	
��	�

 ������
 �	

���	� 
��	����� �� �
������
�� �
��
 
 
����
� ��
 ������
 ������
 �	 ���	� ���� �����	
��
� 	�

����� ��� 
�����
 	
��	�

 	"�
�	��	
 �	� ��
�� ���	� �	 ����	��	���
� ��� 	� +� �	 ���	�	� ��

����	����	��� ����+�
�� �	 )
�

 �,
 	+��	��	 	� �
 �	�	����
���� �	 �
 �����
 ��	�����
��

(���
 ��
 	
��	�

 ��	�
����
 ��������
 ��	 
	 �
� ����������� 	� 	� ����	
� 
�� �	 ���	� �	 ���-

�	��	���
 8 ������ � �
� 
��� ��
	.
��
 ��� �
 ������
 �	 !������	
 �	
�� ��� �� ��	 
�� ���
��	��	

����
�
��	
 ��� 	� ��	�� ������ /�*01� ��
	.
�� 	� �
 
	����� 
��	����� *���
 ����
�
���� �


�
�	��
 ��� ��
 	
��	�

 �	 ��	
 �

�
 �	�	�
��
 ��� *2����3 � 4	�5���3 ���
 	"��	
��� ��	�
���


���	��
 �	� 	� 	� $%�6&� ���� �	 ��
 	
��	�

 ��	 �����
�	��
 	� ��	
��

 ����
�
����	
 	
 	�

������ ���
������ ��� 7�
�� #
��� � 8
�	�
�� $�	� $%�0&& � ���  ����� ����
�
�	��
 ��	
���


������
 ��� 	� ��
	.
�� ��� 8��	��
�� 	� 
�� $�	� $%�9:&&�

�� �

 ���	�

 �������
 �	��

 	� 	
�	 �

�� 
	 �
 ������
�� 
��������
 �	 ��	��
��� �
��
��	� ���

����	�
��
� 4���������
 �	 ;
�	���




�� ���� �����	
 ���
���	


���� ����	
� �� 
��	��� �� ��	��� ������� �� ��� �	������
 ������� ����	�� �� �����������  �� ��
!����� ���
�	��� �� �� 	�"	
 �� #��
��� $��%&

'���	� �� !����� (� )	�������

� �
� *��	
��� �� !
������ 
����*��
�
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COC ≈ log |(xk+1 − ξ)/(xk − ξ)|
log |(xk − ξ)/(xk−1 − ξ)| ,
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yk = xk − f(xk)

f ′(xk)
,

zk = yk −G(uk)
f(yk)

f ′(xk)
, ;��'"<

xk+1 = zk − μ

λ+ νq2k

f(zk)

K − C(yk − zk)−D(yk − zk)2
,

=	������
�
 >���
%�	��� 
� ?���	���
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����� uk = f(yk)
f(xk)

� qk = f(zk)
f(xk)

� K = f [yk, zk]� H = f [xk, yk]� C = H−K
(xk−yk)(xk−zk)

−D(xk + yk − 2zk)

� D = f ′(xk)−H
(xk−yk)(xk−zk)

− H−K
(xk−zk)2
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 ��� ξ ∈ I �� ���� 	
��
� �� ��� ����
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��
� f : I ⊆ R →
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G(0) = 1� Gu(0) = 2� |Guu(0)| < +∞� ���������	 ��� 
�	 ���������	 λ� μ � ν 	�� �
	�
���	 ��

���� � 	�� x0 ��� �����
���
�� 
�
�
�
 ������� � ξ� �������	 
� �
�	� �� ������	  !�"#$ �	 �� �����

�
��� � 	� �����
�� ��
 ����� �	

ek+1 =
1

2
((−10 +Guu(0))c

5
2 + c32c3)e

5
k +O(e6k),

����� cj = (1/j!)f
(j)(ξ)
f ′(ξ) , j = 1, 2, ... � ek = xk − ξ�

������
������ ������������ �� ���������� �� ����� �� ������ �� f(xk) � f ′(xk) ��������� �� ξ

f(xk) = f ′(ξ)
8∑

j=1

cje
j
k +O(e9k) � f ′(xk) = f ′(ξ)

8∑
j=1

(j + 1)cj+1e
j
k +O(e9k).
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���
��� ��� ��
��� !"	#�$� ��
������

yk − ξ =

8∑
j=2

Aje
j
k +O(e9k),

����� A2 = c2� A3 = 2(c3 − c22)� A4 = 4c32 − 7c2c3 +3c4� A5 = −8c42 +20c22c3 − 6c23 − 10c2c4 +4c5 �

A6 = 16c52 − 52c32c3 + 28c22c4 − 17c3c4 + c2(33c
2
3 − 13c5) + 5c6	 %����� ��������
� �� ���������� ��

������� ��
������

f(yk) = f ′(ξ)
8∑

j=2

Bje
j
k +O(e9k),

����� B2 = A2� B3 = A3� B4 = 5c32 − 7c2c3 + 3c4� B5 = −12c42 + 24c22c3 − 6c23 − 10c2c4 + 4c5 �

B6 = 16c52 − 52c32c3 + 28c22c4 − 17c3c4 + c2(33c
2
3 − 13c5) + 5c6	

������ �� ���������� �� uk =
f(yk)

f(xk)
����� ��� ��������� ����� ���
��������
�� ��
���� �� ���� ���&

���� ��� �� ��������� �� ������ �� �� ������� ���� G(uk) ≈ G(0) +Gu(0)uk + (1/2)Guu(0)u
2
k � ��'

��
����

zk − ξ =
8∑

j=2

Zje
j
k +O(e9k),

����� Z2 = −(−1 + G(0))c2� Z3 = (−2 + 4G(0) − Gu(0)c
2
2 − 2(−1 + G(0))c3� Z4 =(

4− 13G(0) + 7Gu(0)− 1
2Guu(0)

)
c32 + (−7 + 14G(0) − 4Gu(0))c2c3 − 3(−1 + G(0))c4 � Z5 =

(−8 + 38G(0)− 33Gu(0) + 5Guu(0))c
4
2 + (20− 64G(0) + 38Gu(0)− 3Guu(0))c

2
2c3 + 2(−3 + 6G(0)−

2Gu(0))c
2
3 + 2(−5 + 10G(0)− 3Gu)c2c4 − 4− 4(−1 +G(0))c5	

%���������� (���
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ek+1 =
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L2 = −(−1 +G(0))(λ− μ)c2
λ

,

�
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L̄3 = −(−2 +Gu(0))(λ− μ)c22
λ
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�
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¯̄L4 = −(λ− μ)c2((−10 +Guu(0)c
2
2 + 2c3)

2λ
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 λ = μ �� ¯̄L4� �� 
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���� ���� ��� ����� �� ���	��
����� 8� ��! ���� ��� ����������� �� ����������� ��� ��� 	���"�����
����� ��#������� #�������� �����

$ ����������
� ��������� ��
���� ������� �������	�� ��� ����� �� ���	��
����� ������� ��� ���%
��&������ ���� ����������� ��� ��� ���	�� ������� �������	�� ��� ����� ����� ���������� �� ����
���!����� ��� �� ��� �� '(�) ��������� �� ������ ���������� 
����� ���� �*�����
� �������	� ��

yk = xk − f(xk)

f [xk, zk]
,

xk+1 = yk − f [xk, yk]− f [yk, zk] + f [xk, zk]

f [xk, yk]2
f(yk), +��,-

����� zk = xk + f(xk)� $ ���� ������ �� ����� �������� ./����

0��� ������ �� ��� ����� ���� ��� ������������� ��� 1�� �� ��� �� '23)� �� ��� ��������� ���
./��1� ����� ��� �*�����
�

yk = xk − f(xk)

f [xk, zk]
,

xk+1 = yk − f(yk)

f [xk, yk] + f [yk, zk]− f [xk, zk] + a(yk − xk)(yk − zk]
, +��4-

����� zk = xk + f(xk) � a = 1�

5������ �����&���� ���� �������� �� ������ ������������ ��� 6���
 �� ��� +	�� ',,()-� ��� �� ����
�������� ./��6

yk = xk − f(xk)

f [xk, zk]
,

xk+1 = yk − f(yk)

f [yk, xk] + f [yk, xk, zk](yk − xk)
, +���-

����� zk = xk + f(xk)� 0����	���� ��� �� ���� ������� �� ��� �����&��� ��#�������� ��	������ ��
��
���� ������

$� � ���� � �� �*�����
� �������� �� ���� ���� 6���
 �� ��� �� ',,() ��"������ �� ������ �������	�

����� �� ����� ����� ���� �������
� ��

yk = xk − f(xk)

f [xk, zk]
,

ux = yk − f(yk)

f [yk, xk] + f [yk, xk, zk](yk − xk)
, +���-

xk+1 = uk − f(uk)

f [uk, yk] + f [uk, yk, xk](uk − yk) + f [uk, yk, xk, zk](uk − yk)(uk − xk)
,

����� zk = xk + f(xk)� $ ���� ������ �� ���� ����� �� ��������� ��� ./�(6�

7���������� �����&���� ������� ���� �������� �� ������� ��������� ��� ��������� � 8����� ��
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yk = xk − f(xk)

f [xk, zk]
,

ux = yk − f(yk)

f [xk, yk] + f [yk, zk]− f [xk, zk]

(
1− t2

f [xk, zk]− 1

)
, ��� !

xk+1 = uk −AB
f(uk)

f [uk, yk] + f [uk, yk, xk](uk − yk) + f [uk, yk, xk, zk](uk − yk)(uk − xk)
,

��
�� zk = xk + f(xk)� t =
f(yk)
f(xk)

� A = (1 + τ3)� B = (1 + ω5)� τ = f(uk)
f(yk)

� w = f(yk)
f(zk)

�

���� �����	 
� �	� �
�	
	�

"�#������� 	
� �� ��������
 ��������� ��� ��	
��� �� ���$�
��
 ��

xk+1 = xk − f(xk)

f [zk, xk]
,

��
�� zk = xk + βf(xk) �β = 1 #�������
�� �� �%���� �� ���$�
��
 #�&��#� � β �= 0 �� ��	
���
����'#��� �� ���$�
��
!� � �
 �� #��� �� (�)��
 %��� ��

xk+1 = xk − f(xk)

f ′(xk)
.

�� #����
���� #
��	
���� �� ����� �%����� #�
��*� ������ �+��
���� ��	
���� �� ����
 4 #�

4 ����
�#��
�� ,

#��
���� �
 ��+�� #����� ���� ��� -�#� 
� �������� ��*.
 �� #�
/��
�� �� 0

*1
2��
+ ����� �� �
 �� ��+�� ��	
��� �� (�)��
 #�
��������� �� �������� #�
*����� �
 �� ��*

��
����� �� �+���
� �� �%���� �� 2��
+ 
� ������ �� ����
 3 ���� �3���!!� 4���� ����� �
 �� 5��6�
�� 3
#���� 
��
�� �� �%#
�#� �� ,

#��
�� �� ����� �� ����+�� �
��
��� � #
���� �� ����
 �� #�
���*�
#��
��� ��	
��� �� 2��
+ ��
 �7���� 

���� ����
�#��
�� ,

#��
����� 8-���� #�
��������� �� ��+��
��	
��� �� ���$�
��
� 
����9�
�� �� ����� ��,���
#�� �������� �
 �� ��
���
���� ��� ��*

�� �����
:��
�� �� �%#
�#� �� ,

#��
�� ����� ;��<���= �� ��� �
 �>�� ���+�%
 #�
��*
� �
��
��� � #
���� ��
����
 �� #�
���*�
#�� ��� ��+�� �%���� �� ���$�
��
 ��
 �7���� 

���� ����
�#��
�� ,

#��
�����
�� ��	
��� ��������� ��� �%���� ���
���
�� ��

yk = xk − f(xk)

f [zk, xk]
,

xk+1 = yk −H(uk, vk)
f(yk)

f [zk, xk]
, ����!

��
�� zk = xk + βf(xk)� uk =
f(yk)

f(xk)
� vk =

f(yk)

f(zk)
� ;��� #������ #�
��#��
�� ��+�� �� ,

#��
 H �

���� ������� �� β �����
��� �� #���� ����! �� 

 ��	
��� ��������� ������ �� ����
 #
�����

�
 �� �����
�� �������� ����
����� �� �%���� �� ;��<���= ����!� �7����
�� 

 ���#�� ���� ��
��
�����#� 

� ,

#��
 ���� �� ���� �����+����

yk = xk − f(xk)

f [zk, xk]
,

tk = yk −H(uk, vk)
f(yk)

f [zk, xk]
, ���?!

xk+1 = tk −G(uk, vk, wk)
f(tk)

f [zk, xk]
,

:
��������� ;����%#
�#� �� @���
#��
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����� zk = xk + βf(xk)� uk =
f(yk)

f(xk)
� vk =

f(yk)

f(zk)
� wk =

f(tk)

f(yk)
	 
��� ��
���� ����� ����� ��

������������ ����� ���� ������������� ��� �������� ���� ������� ����������	

����������� �� ����� ���������� �� ��� ��
����� ��	�� � ��	��� ���� ���� ����!�� ��� "������ ��
�#����� �� ����� 4 � 8 ��� �� ������ ������ �� �� �������� uk�

yk = xk − f(xk)

f [zk, xk]
,

xk+1 = yk − h(uk, vk)
f(yk)

f [zk, xk]
, ��	$�

����� zk = xk+βf(xk)� uk =
f(yk)

a1f(xk) + a2f(yk)
������ a1 � a2 ���������� ������ � vk =

f(yk)

f(zk)
	 %�&

�� ������� ����������� ����� �� "����'� ���� h� β �= 0 � ������������ ������� �� a1 � a2� �����������

�� ��	$� �� �� �#���� ��������� '����� �� ����� ������	

(� "���� ������� �� �#���� ��	��� ������������

yk = xk − f(xk)

f [zk, xk]
,

tk = yk − h(uk, vk)
f(yk)

f [zk, xk]
, ��	)�

xk+1 = tk − g(uk, vk, wk)
f(tk)

f [zk, xk]
,

����� ��� �������� ��� ����� ��� ��� ������ 
�� �����*���� �� �� "������ �� �#����� ��	$� �

�!������ �� ������ ���� �� �� 
�� ���������� �� ����� �������� wk =
f(tk)

f(yk)
� ������#����� ����� ��

������������ ���� ���� ������� ������� �� ��� ��������� a1 � a2� ��� β �= 0 � ���� ������������
����������� ����� ��� "�������� h � g	

���� �����	�	 
� �� 
��������
��

+����*���� ����������� ��� ����������'� ����������� �� �#���� ��������� �� %��,���- �� .)�/� ��
�� 
�� �� ��������� �� 0����� �������� ���� ����1���� �� "����'� ���� �� �� ����� �������� �� ��
�� ������ ��������� �� 
�� ��� ��������� ��������� �� 0������ �	2	3 ��������������	

�
��
�� ����� ��� ξ ∈ I �� ���� 	
��
� �� ��� ����
�� 	���
��������� �
������
��
� f : I ⊂
R → R� �� �� 
������
� ��
���� �� ��� H(uk, vk) ��� ����
�� ���
 	���
��������� �
������
��
� ���

	��
	����� H(0, 0) = Hu(0, 0) = Hv(0, 0) = 1� |Huu(0, 0)| < ∞, |Hvv(0, 0)| < ∞, |Huv(0, 0)| < ∞� �

	�� x0 ��� �����
���
�� 
�
�
�
 ����
�� � ξ� �������	 �
 ������ ��� ! �	 ���
�� �� ����� 4 ����

���
��
�� ��
�� �� ��
� �� β� � 	� �����
�� ��
 ����� �	

ek+1 = −1

2
ρc2((−2(5ρ+ γ2) + 2Huv(0, 0)ρ+Hvv(0, 0) +Huu(0, 0)ρ

2)c22 + 2ρc3)e
4
k +O(e5k).

����� cj = (1/j!)f
(j)(ξ)
f ′(ξ) � j = 2, 3, ...� ek = xk − ξ� γ = f ′(ξ)β� ρ = 1 + γ � � = 2 + γ�

�
�������	��� (������������ �� ����� �� 0����� f(xk) �� ����� � ξ� �������

f(xk) = f ′(ξ)(ek + c2e
2
k + c3e

3
k + c4e

4
k) +O(e5k), ��	45�

6���������� %����#����� �� 7�������



�� ���� �����	�	 
� �� 
��������
��

�

f ′(xk) = f ′(ξ)(1 + 2c2ek + 3c3e
2
k + 4c4e

3
k + 5c5e

4
k) +O(e5k). ������

	
�
 zk = xk + βf(xk)� 
��
��
��

zk − ξ = ρek + γ(c2e
2
k + c3e

3
k + c4e

4
k) +O(e5k).

� �
���������� �
�
�
� ��


f(zk) = f ′(ξ)
(
ρek + (γ + ρ2)c2e

2
k +
(
γ(2ρc22 + c3) + ρ3c3

)
e3k

+
(
3γρ2c2c3 + γc2(γc

2
2 + 2ρc3) + γc4 + ρ4c4

)
e4k
)
+O(e5k). ������

���������
 ������� ������ � ������ 
��
�
�
�

f(zk)− f(xk)

zk − xk
= f ′(ξ)

(
1 + �c2ek + (γc22 + (3ρ+ γ2)c3)e

2
k

+�(2γc2c3 + (2ρ+ γ2)c4)e
3
k

)
+O(e4k). ���� �

!�������
��
 ������� ������ � 
� "#��
# "��
 �
� 
���
�� ��
#���$
 ������ 
��
�
�
�

yk − ξ = ρc2e
2
k + (−(2ρ+ γ2)c22 + (2 + 3γ + γ2)c3)e

3
k + ((4 + 5γ + 3γ2 + γ3)c32

−(7 + 10γ + 7γ2 + 2γ3)c2c3 + (3 + 6γ + 4γ2 + γ3)c4)e
4
k +O(e5k). ������

%
��##
�����
 f(yk) ��#
�
�
# �
 ξ�

f(yk) = f ′(ξ)
(
ρc2e

2
k + (−(2ρ+ γ2)c22 + (2 + 3γ + γ2)c3)e

3
k + ((5 + 7γ + 4γ2 + γ3)c32

−(7 + 10γ + 7γ2 + 2γ3)c2c3 + (3 + 6γ + 4γ2 + γ3)c4)e
4
k

)
+O(e5k). ����&�

!
� uk = f(yk)
f(xk)

� 
��
��
� �����
 ������ � ����&�� �
 
���
�


uk = ρc2ek + (−(3ρ+ γ2)c22 + (2 + 3γ + γ2)c3)e
2
k

+((8 + 10γ + 5γ2 + γ3)c32 − 2(5 + 7γ + 4γ2 + γ3)c2c3 + (3 + 6γ + 4γ2 + γ3)c4)e
3
k +O(e4k)

��'�
(��
��
� vk = f(yk)
f(zk)

� ���������
 ������ � ����&�� �
�
�
�

vk = c2ek + (−(3 + 2γ)c22 + �c3)e
2
k

+((8ρ+ 3γ2)c32 − (10 + 11γ + 4γ2)c2c3 + (3ρ+ γ2)c4)e
3
k +O(e4k).

)
�
�
� ��
 uk � vk ��
��
� � �
#
 �����
 xk ��
��
 � ξ� "
# �
 ��


H(uk, vk) ≈ H(0, 0) +Hu(0, 0)uk +Hv(0, 0)vk +
1

2
Huu(0, 0)u

2
k +

1

2
Hvv(0, 0)v

2
k

+Huv(0, 0)ukvk. ������

�*
#� ��������
� �� 
������� �
� 
##
# �
 ������ ���������
 ���� �� ����&� � �������

xk+1 − ξ = −(−1 +H(0, 0)ρc2e
2
k + (−(2ρ+ γ2 +Hv(0, 0)ρ+ ρ2Hu(0, 0)−H(0, 0)(4 + 5γ

+2γ2))c22 − (−1 +H(0, 0))(2 + 3γ + γ2)c3)e
3
k +
(−1

2
(−8− 10γ − 6γ2 − 2γ3

−Hv(0, 0)(14 + 20γ + 8γ2) +Huu(0, 0)(1 + 3γ + 3γ2 + γ3) +Hvv(0, 0)(1 + γ)

+Huv(0, 0)(2 + 4γ + 2γ2)− 2Hu(0, 0)(7 + 15γ + 11γ2 + 3γ3) +H(0, 0)(26 + 40γ

+24γ2 + 6γ3))c32 − (7 + 10γ + 7γ2 + 2γ3 +Hv(0, 0)(4 + 6γ + 2γ2)

+2Hu(0, 0)ρ
2�− 2H(0, 0)(7 + 12γ + 8γ2 + 2γ3))c2c3 − (−1 +H(0, 0))(3 + 6γ

+4γ2 + γ3)c4
)
e4k +O(e5k).

���$
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������	�
	� 	��
�	��� H(0, 0) = Hu(0, 0) = Hv(0, 0) = 1� �� 	������� �	� 	���� ��	�� �	������ �

ek+1 = −1

2

(
ρc2((−2(5ρ+ γ2) + 2Huv(0, 0)ρ+Hvv(0, 0) +Huu(0, 0)ρ

2)c22 + 2ρc3)
)
e4k +O(e5k),

��� �� ��	 ������� �� �	���
������ �	� 
	��	��� �

� ���
��������� ���������� �� ����	�
	���� �	� ��
��� ������ � 
	���� �� ���!��	� ����� ��� 	�
	���	�� �	 "
	#	��	� ��� �� ��$	�	���� �������� ���
	���� % �
�������� ��� $������ !	�� ��	������
	� ��	 $�	 !� ������ 	� &''(�

�
��
�� ����� ��� ξ ∈ I �� ���� 	
��
� �� ��� ����
�� 	���
��������� �
������
��
� f : I ⊂
R → R 	���� �� 
������
� ��
���� I � 	
���� x0 ��� �����
���
�� ����� � ξ� ���� H � G ����
���	

���
�	 	���
��������� �
������
��
� ��� 	��
������ H(0, 0) = Hu(0, 0) = Hv(0, 0) = 1� Huu(0, 0) =
Hvv(0, 0) = 2� Huv(0, 0) = 0� G(0, 0, 0) = Gu(0, 0, 0) = Gv(0, 0, 0) = Gw(0, 0, 0) = 1� Guu(0, 0, 0) =
Gvv(0, 0, 0) = Guw(0, 0, 0) = Gvw(0, 0, 0) = 2� Guv(0, 0, 0) = 1 � |Gww(0, 0, 0)| < ∞� �������	� �


������ ���� �	 ���
�� �� ����� ��!�� 	
���� 	� �����
�� ��
 �����

ek+1 = −1

2
ρ2c2(3c

2
2 − c3)((9Gww(0, 0, 0)ρ

2 + 2(−27− 54γ − 28γ2 + γ3) + γ4))c42 + 2ρ(17 + 17γ,

+2γ2 − 3Gww(0, 0, 0)ρ)c
2
2c3 + (−2 +Gww(0, 0, 0))ρ

2c23 − 2ρ2c2c4))e
8
k +O(e9k),

����� ρ = 1 + γ� γ = f ′(ξ)β� cj = (1/j!)f
(j)(ξ)
f ′(ξ) � j = 2, 3, ... � ek = xk − ξ�

�
�������	��� )����� 	� �	�������� 	� �	��	 �	 *�%��� �	 f(xk) ��
�������� 	� 	� 
	��	�� ��
	�����

	�	���

zk = xk + βf(xk) = ρek + γ

8∑
j=2

cje
j
k +O(e9k).

+���

f(zk) = f ′(ξ)
8∑

j=1

Zje
j
k +O(e9k),

����	 Z1 = ρ� Z2 = (γ+ρ2)c2� Z3 = 2γρc22+(γ+ρ3)c3 % Z4 = 3γρ2c2c3+γc2(γc
2
2+2ρc3)+(γ+ρ4)c4�

	� �	�������� �	 *�%��� �	 �� ��$	�	���� �������� �	���
�

f [xk, zk] =
f(zk)− f(xk)

zk − xk
= f ′(ξ)

⎡
⎣1 + 8∑

j=1

Dje
j
k+

⎤
⎦+O(e9k),

��	��� D1 = (1 + ρ)c2� D2 = γc22 + (3ρ + γ2)c3 % D3 = f ′(ξ)(1 + ρ)(2γc2c3 + (2ρ + γ2)c4)� ,�� ��

��
�� 	� 	���� 	� 	� !���	� !��� �	� ��
��� 	�

eyk = yk − ξ =

8∑
j=2

Yje
j
k +O(e9k),

����	 Y2 = ρc2� Y3 = −(2ρ + γ2)c22 + (2 + 3γ + γ2)c3 	 Y4 = (4 + 5γ + 3γ2 + γ3)c32 − (7 + 10γ +
7γ2 + 2γ3)c2c3 + (3 + 6γ + 4γ2 + γ3)c4�

-�
� ��� !	���
	 �������� ��� �	��������� �	 *�%��� �	 ��� ����� �	� uk = f(yk)
f(xk)

% vk = f(yk)
f(zk)

%

!��
	�����	�
	 � 
	�	� 	� �	�������� �	 �� $������ !	�� H ���	�	��� �	 (0, 0)�

H(uk, vk) ≈ H(0, 0) +Hu(0, 0)uk +Hv(0, 0)vk +
1

2
Huu(0, 0)u

2
k +

1

2
Hvv(0, 0)v

2
k +Huv(0, 0)ukvk.

)���	������ ,���
������ �	 .��	����



�� ���� �����	�	 
� �� 
��������
��

�������	
 �� ��
����� ��� ����� �� �� 	��
��� ��	� �	

etk = tk − ξ =

8∑
j=2

Rje
j
k +O(e9k),

����� R2 = −(−1+H(0, 0))ρc2 � R3 = −(2ρ+Hv(0, 0)+γHv(0, 0)+γ2+ρ2Hu(0, 0)−H(0, 0)(4+
5γ+2γ2))c22 − (−1+H(0, 0))(2+ 3γ+ γ2)c3� ���� �
� tk ������� 
� ����� �� ������������ �
����


�������	 �
� H(0, 0) = Hu(0, 0) = Hv(0, 0) = 1� ��� �	��	 ������	


etk =

8∑
j=4

R̄je
j
k +O(e9k),

����� R̄4 = −1
2ρ(r4,1c

3
2 + r4,2c2c3)
 r4,1 = −2(5ρ + γ2) + hvv(0, 0) + 2huv(0, 0)ρ + huu(0, 0)ρ

2 �

r4,2 = 2ρ� �������	


f(tk) = f ′(ξ)
8∑

j=4

R̄je
j
k +O(e9k).

�� �	�� ����
 ������	 ������� �� ��	������� �� �� �������� wk = f(tk)
f(yk)

� ��������� �� �
����� ��	�

G(uk, vk, wk) ��������� �� (0, 0, 0)

G(uk, vk, wk) ≈ G(0, 0, 0) +Gu(0, 0, 0)uk +Gv(0, 0, 0)vk +Gw(0, 0, 0)wk +
1

2
Guu(0, 0, 0)u

2
k

+
1

2
Gvv(0, 0, 0)v

2
k +

1

2
Gww(0, 0, 0)w

2
k +Guv(0, 0, 0)ukvk +Guw(0, 0, 0)ukwk

+Gvw(0, 0, 0)vkwk.

��� �� �����
 �� ��
����� ��� ����� ��� ������ �	

ek+1 =

8∑
j=4

Lje
j
k +O(e9k),

����� L4 =
1
2(−1+G(0, 0, 0))ρ(r4,1c

3
2+r4,2c2c3)�  � �	
����	 �
� G(0, 0, 0) = 1
 �������	 �� �������

�� ����� �
���� 	� ��
�� � 	
	���
����� �� L5 �	�� ��������� ������	 L̄5 = 1
2(−2 + Gu(0, 0, 0) +

Gv(0, 0, 0)− γ(1−Gu(0, 0, 0)))ρ(r4,1c
4
2 + r4,2c

2
2c3)�

!"���
 	� Gu(0, 0, 0) = Gv(0, 0, 0) = 1
 ������	 ����� 	��	
 �� ������ �
� �� ���#������ ��

ek
6 �	 ¯̄L6 = 1

4ρ(r4,1c
3
2 + r4,2c2c3)((−2(6ρ + γ2) + 2Guv(0, 0, 0)ρ + Gvv(0, 0, 0) + Guu(0, 0, 0)ρ

2 +
Gw(0, 0, 0)(2(5ρ

2 + γ2)−Huu(0, 0)ρ
2 − 2Huv(0, 0)ρ−Hvv(0, 0))c

3
2 − 2(Gw(0, 0, 0)− 1)ρc2c3)�

$
��������
 ���������� ��	 ����������	 Guv(0, 0, 0) = 1+Huv(0, 0)
 Gw(0, 0, 0) = 1 � Huu(0, 0) =
Guu(0, 0, 0)
 ��������	 ����� 7 ��� ���#������

¯̄̄
L7 = −1

4

(
ρc22
((−10 + 2Huv(0, 0) +Hvv(0, 0)− 10γ + 2γHuv(0, 0)− 2γ2 +Guu(0, 0, 0)ρ

2
)
c22

+2ρc3) ((32− 10Gvw(0, 0, 0)− 4Huv(0, 0) + 2Gvw(0, 0, 0)Huv(0, 0)− 2Hvv(0, 0)

+Gvw(0, 0, 0)Hvv(0, 0) + 48γ − 10γGvw(0, 0, 0)− 6γHuv(0, 0) + 2γGvw(0, 0, 0)Huv(0, 0)

−γHvv(0, 0) + 20γ2 − 2γ2Gvw(0, 0, 0)− 2γ2Huv(0, 0) + 2γ3

+Guu(0, 0, 0)ρ
2(−2 +Guw(0, 0, 0) +Gvw(0, 0, 0)− γ + γGuw(0, 0, 0))

+Guw(0, 0, 0)ρ
(
Hvv(0, 0) + 2Huv(0, 0)ρ− 2

(
5 + 5γ + γ2

)))
c22

+2ρ(−4 +Guw(0, 0, 0) +Gvw(0, 0, 0)− 2γ + γGuw(0, 0, 0))c3)) .

%�����	���� ����������� �� &�������
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� ���� 
����	��
� ��

�	�
��
� ��

������	�
	� ��� 
����
���	� Guu(0, 0, 0) = Guw(0, 0, 0) = Gvw(0, 0, 0) = 2� Huv(0, 0) = 0 �

Hvv(0, 0) = 2� ��� �	���
	� ��	��� � ���	� �
�� 
�� �� �����	�
	 	
��
��� �	� 	����

ek+1 = −1

2
ρ2c2(3c

2
2 − c3)((9Gww(0, 0, 0)ρ

2 + 2(−27− 54γ − 28γ2 + γ3) + γ4))c42

+2ρ(17 + 17γ + 2γ2 − 3Gww(0, 0, 0)ρ)c
2
2c3 ������

+(−2 +Gww(0, 0, 0))ρ
2c23 − 2ρ2c2c4))e

8
k +O(e9k),

� �	 	�
� ���	�� �� �	���
��
��� 
��
���	� �

���
�
��	�� ����� �� ������� �� �	
���� �� 

�� ���
�� ����� 
�����
� ���

� ������������ ����

�������� � 
���� �
��� �� �����
������ ����� ��
 �� 
��
�� ��
� ������� ��
� ��
���� ��
 �	
����

 �
���� ���!� �� �� ���"�
�
� �� #����$
��% ������ �� &����� �� �'������� 81/4 ≈ 1.6818�

�� 	�
	 
���� ������� �	 ��� ���
���	� H � G ��	 ��
����
	� ��� 
����
���	� �	� �	��	�� ���� ���

H(u, v) = 1 + u+ v + u2 + v2,

G(u, v, w) = 1 + u+ v + w + u2 + v2 + uv + 2(vw + uw). ����!�

" 	�
	 	���	�� �
	��
�#� �� �	��
���� ��� $�%!� � �	�& 
�������� 
�� �
��� �'
���� 	� �� �	

���

�	 ���	(�� ���'��
���

"���� 
�����	�	��� 	� ��&����� �	 �� 
��#	��	�
�� �	� 	���	�� �
	��
�#� ���!� 
��� #����(�	 uk
�	�	��	 �	 ��� ���&�	
��� a1 � a2�

�
��
�� ����� (�� ξ ∈ I �� ��
� ������ �� ��� ����� � ��'����
����
� ����
�����%�� f : I ⊆
R → R� �� �� ��
�
���� �%��

� )� (�� h(uk, vk) ��� ����� � 
��� ��'����
����
� ����
�����%�� ���

��
������* h(0, 0) = hv(0, 0) = 1 � hu(0, 0) = a1� |huu(0, 0)| < ∞, |hvv(0, 0)| < ∞, |huv(0, 0)| < ∞� �

��� x0 ��� ��
�+����� � ������� �
 +��� � ξ� ,�
����� �� �	
��� ���-� ��  �
��� �� �
��� 4 ��
�

��������
 ����
 �� a2 � ��
� ����������
� ����
�� �� ����� �� β � a1� ������ �� ������ � ��� �

�


ek+1 = − 1

2a21
(ρc2((ρ

2huu(0, 0)− 2a1ρ(a2 − huv(0, 0) + a2γ) + a21(hvv(0, 0)− 2(5 + 5γ + γ2)))c22

+2a21ρc3))e
4
k +O(e5k), ����)�

����� cj = (1/j!)f
(j)(ξ)
f ′(ξ) � j = 2, 3, ...� ek = xk − ξ� γ = f ′(ξ)β� ρ = 1 + γ � � = 2 + γ.

�
�������	��� *��� ��	 ��� �'
���� ������ 
��� 
��#	��	�
�� �� ���� �����+��� 	� 	� �	��	��


���� � � 	� 	���	�� ���!� 
�	�	� 	� ����� ����	� ����� ����#	
����� ��� 
&�
���� �	� �	���
���

��
	����� " 
��
����
��� 
	�	��� ��	 uk =
f(yk)

a1f(xk) + a2f(yk)
�� ������ ��� 	,��	����	� ����-� �

����.�� �(
	�	���

uk =
ρ

a1
c2ek +

1

a21
(−(a2ρ

2 + a1(3ρ+ γ2))c22 + a1(2 + 3γ + γ2)c3)e
2
k +

1

a31
((a22ρ

3 + 2a1a2(3 + 6γ

+4γ2 + γ3) + a21(8 + 10γ + 5γ2 + γ3)c32 − 2a1(a2ρ
2�+ a1(5 + 7γ + 4γ2 + γ3)c2c3

+a21(3 + 6γ + 4γ2 + γ3)c4)e
3
k +O(e4k)

/��#	������ 0���
'
��
� �	 1��	�
��



�� ���� �����	�	 
� �� 
��������
��

���� �������� �	
 ���
��	
 ��� ��
���	��	 �� 
���� �� �� �������� vk = f(yk)
f(zk)

�������
	
 ������ � ������

vk = c2ek + (−(3 + 2γ)c22 + �c3)e
2
k + ((8ρ+ 3γ2)c32 − (10 + 11γ + 4γ2)c2c3 + (3ρ+ γ2)c4)e

3
k

+O(e4k).

��
����
	
 ��� uk � vk ������� � ���	 �����	 xk ������ � ξ� �	� �	 ��� �	��
	
 ���	 �
�� ��

!����"� ��
	 h �� �	��	 � (0, 0)�

h(uk, vk) ≈ h(0, 0) + hu(0, 0)uk + hv(0, 0)vk +
1

2
huu(0, 0)u

2
k +

1

2
hvv(0, 0)v

2
k

+huv(0, 0)ukvk. ����#�

$
%� �� ������"� ��� ���	� ��� 
��	�	 ���&�� �
���	 ����'�� ������ � ����#�� �


xk+1 − ξ = −(−1 + h(0, 0)ρc2e
2
k +

1

a1
((ρ2hu(0, 0)− a1(2 + hv(0, 0) + 2γ + γhv(0, 0)

−h(0, 0)(4 + 5γ + 2γ2))c22 − a1(−1 + h(0, 0))(2 + 3γ + γ2)c3)e
3
k +
(
(4 + 5γ + 3γ2

+γ3)c32 − (7 + 10γ + 7γ2 + 2γ3)c2c3 + (3�+ 4γ2 + γ3)c4 − 1

2a21
((−(2a2hu(0, 0)

−huu(0, 0))ρ
3 − 2a1ρ(−ρhuv(0, 0) + hu(0, 0)(7 + 8γ + 3γ2)) + a21(hvv(0, 0) + γhvv(0, 0)

−2hv(0, 0)(7 + 10γ + 4γ2) + h(0, 0)(26 + 40γ + 24γ2)))c32 − 4a1(hu(0, 0)ρ
2�

+a1(−hv(0, 0))(2 + 3γ + γ2 + h(0, 0)(7 + 12γ + 8γ2 + 2γ3)))c2c3 + 2a21h(0, 0)(3

+6γ + 4γ2 + γ3)c4)
)
e4k +O(e5k).

(����
����� � �)����	 ��
 �	�����	��
 h(0, 0) = hv(0, 0) = 1 � hu(0, 0) = a1� 
� ����*�� ��� ��

������"� ��� ���	� �


ek+1 = − 1

2a21

(
ρc2((ρ

2huu(0, 0)− 2a1ρ(a2 − huv(0, 0) + a2γ) + a21(hvv(0, 0)− 2(5ρ+ γ2)))c22

+2a21ρc3
)
e4k +O(e5k),

�	� �	 ��� *������ �� ��
	
�����"� ��� ��	��
�� �

+��
	
 ��!������
 !����	��
 ��
	 ��� ��
���� �	� ��
 �	�����	��
 � �)���
 �	� ��� ,�	��
� ��'�'

���� �� !����"� h � �	
 ���-
���	
 a1 � a2� �	� a1 �= 0� ��������� ���	� �� a2 � �	��� uk =
f(xk)

a1f(xk)+a2f(yk)
.

h(u, v) = 1 + a1u+ v�

h(u, v) = v+1
1−a1u

�

h(u, v) = a1u+1
1−v �

��	�	��
	
 �
������ �	
 
�)������
 ��
	
 �����������
.

/	�
�����
	
 a2 = 0� uk = f(yk)
a1f(xk)

��

� a1 = 1� h(u, v) = 1 + u+ v0 
��	�	 ���	���	 �	� 123���

� a1 = 2� h(u, v) = v+1
1−2u 0 
��	�	 ���	���	 �	� 123���

4�����
���� �	��������� �� +�������



�� ������� 	�
���	
�� ����	����� ���	��� �
 �	�� ��
�
��
� ���� 
����	��
� ��

�	�
��
� ��

� a1 = 3� h(u, v) = 3u+1
1−v � ����	� 	
����	� 
�� ������

�����	
�
��� a2 �= 0 uk = f(yk)
a1f(xk)+a2f(yk)

��

� a1 = −1 � a2 = 1� h(u, v) = 1− u+ v� ����	� 	
����	� 
�� ������

� a1 =
1
2 � a2 = 1� h(u, v) = 2v+2

2−u � ����	� 	
����	� 
�� ������

� a1 = 3 � a2 =
3
2 � h(u, v) =

3u+1
1−v � ����	� 	
����	� 
�� ������

� a1 =
3
2 � a2 = 1� h(u, v) = 2v+2

2−3v � ����	� 	
����	� 
�� ������

�� �����
��
 �
�����	� 
�����
�
 
� ��	
� 	
 ����
��
���� 	
� 
� �
�� 	
 ��
� 
���� !��"#�

�
��
�� ����� ��� ξ ∈ I �� ���� 	
��
� �� ��� ����
�� 	���
��������� �
������
��
� f : I ⊆ R →
R� �� �� 
������
� ��
���� �� � 	�� x0 ��� �����
���
�� 
�
�
�
 ����
�� � ξ� �
 
�	 ����
���	 ���
�	

h(uk, vk) � g(uk, vk, wk) 	�� 	���
��������� �
������
��
�	 � 	��
	����� 
�	 	
��
����	 ����
�
���	�

|huu(0, 0)| < ∞� |hvv(0, 0)| < ∞� |huv(0, 0)| < ∞� |huuu(0, 0)| < ∞� |huuv(0, 0)| < ∞� |hvvu(0, 0)| <
∞� |hvvv(0, 0)| < ∞� |gww(0, 0, 0)| < ∞� |guuw(0, 0, 0)| < ∞� |gvvw(0, 0, 0)| < ∞� |guvw(0, 0, 0)| < ∞�

h(0, 0) = hv(0, 0) = 1, hu(0, 0) = gu(0, 0, 0) = a1,
g(0, 0, 0) = gv(0, 0, 0) = gw(0, 0, 0) = 1, guu(0, 0, 0) = huu,
gvv(0, 0, 0) = hvv(0, 0), guv(0, 0, 0) = a1 + huv(0, 0),
guw(0, 0, 0) = 2a1, gvw(0, 0, 0) = 2
guuu(0, 0, 0) = −6a31 − 6a21a2 + 3a1huu(0, 0) + huuu(0, 0), gvvv(0, 0, 0) = −6 + 3hvv(0, 0) + hvvv(0, 0),
guvv(0, 0, 0) = −2a1 + 2huv(0, 0) + a1huu(0, 0) + hvvu(0, 0), a1 �= 0,
guuv(0, 0, 0) = −2a21 + huu(0, 0) + huuv(0, 0) + 2a1huv(0, 0),

�������	� �
 ������ ��	��
�� ��� ���� �	 �� ����� 8 ���
�� ���� ���
�	!�
��� ��
���	 �� ��
� �� β
� a1 � ���
!�
�� ��
�� �� a2 � 	� �����
�� ��
 ����� �	

ek+1 = − 1

48a61
ρc2((huu(0, 0)ρ

2 − 2a1ρ(a2ρ− huv(0, 0)) + a21(hvv − 2(5ρ+ γ2)))c22

+2a21ρc3)((−3huu(0, 0)(−2guuv(0, 0, 0) + gww(0, 0, 0)huu(0, 0))ρ
4

−4a1ρ
3(−3guvw(0, 0, 0)huu(0, 0)− 2huuu(0, 0)− 3guuw(0, 0, 0)huv(0, 0)

+3gww(0, 0, 0)huu(0, 0)huv(0, 0)− γhuuu(0, 0) + 3a2(guuw(0, 0, 0) + huu(0, 0)

−gww(0, 0, 0)huu(0, 0))ρ− 6a21ρ
2(18huu(0, 0)− gvvw(0, 0, 0)huu(0, 0)

−10gww(0, 0, 0)huu(0, 0)− 4huuv(0, 0)− 4guvw(0, 0, 0)huv(0, 0) + 2gww(0, 0, 0)huv(0, 0)
2

+gww(0, 0, 0)huu(0, 0)hvv(0, 0) + 18γhuu(0, 0)− 10γgww(0, 0, 0)huu(0, 0)− 2γhuuv(0, 0)

+4γ2huu(0, 0)− 2γ2gww(0, 0, 0)huu(0, 0) + 4a2(guvw(0, 0, 0) + huv(0, 0)

+gww(0, 0, 0)huv(0, 0))ρ+ 2a22ρ
2gww(0, 0, 0) + guuw(0, 0, 0)(−hvv(0, 0)

+2(5ρ+ γ2)))− 12a31ρ(18huv(0, 0)− gvvw(0, 0, 0)huv(0, 0)− 10gww(0, 0, 0)huv(0, 0)

+gww(0, 0, 0)huv(0, 0)hvv(0, 0)− 2hvvu(0, 0) + 18γhuv(0, 0)− 10γgww(0, 0, 0)huv(0, 0))

−γhvvu(0, 0) + 4γ2huv(0, 0− 2γ2gww(0, 0, 0)huv(0, 0) + guvw(0, 0, 0)(−hvv(0, 0)

+2(5ρ+ γ2)) + a2ρ(−26 + gvvw(0, 0, 0) + hvv(0, 0)− 22γ − 2γ2 + gww(0, 0, 0)(10

$���
���	�	 %���������� 	
 &��
����



�� ���� �����	�	 
� �� 
��������
��

−hvv(0, 0) + 10γ + 2γ2))) + a4(6gvvw(0, 0, 0)(hvv(0, 0)− 2(5ρ+ γ2))

−3gww(0, 0, 0)(hvv(0, 0)− 2(5ρ+ γ2))2 + 4(hvvv(0, 0)(2 + γ)− 3hvv(0, 0)(9 + 9γγ

+2γ2) + 6(45 + 90 + 59γ2 + 14γ3) + γ4))))c42 + 12a21ρ((guuw(0, 0, 0 + huu(0, 0)

−gww(0, 0, 0)huu(0, 0))ρ
2 + 2a1ρ(guvw(0, 0, 0)) + huv(0, 0)− gww(0, 0, 0)huv(0, 0)

+a2(−3 + gww(0, 0, 0)ρ) + a21(−38 + gvvw(0, 0, 0) + hvv(0, 0)− 38γ − 6γ2

+gww(0, 0, 0)(10− hvv(0, 0) + 10γ + 2γ2)))c22c3 − 12a41(−2 + gww(0, 0, 0))ρ
2c23

+24a41ρ
2c2c4)e

8
k +O(e9k),

����� ρ = 1 + γ� γ = f ′(ξ)β� cj = (1/j!)f
(j)(ξ)
f ′(ξ) � j = 2, 3, ... � ek = xk − ξ�

����	���
���� �������	
�� 
� �	
��������� � ������ �	
 �
��
� ���� �	�����

��� 	� 	
 �	��	
�

������ �� ��� ���	� ��������� h(0, 0) = 1, hu(0, 0) = a1� � hv(0, 0) = 1 �� ��	 	���� ���������	�

������������ ���	� �	 ����	��	���� 4 	� 	
 �	����� ����� �
 �	�����

� �	 ���
�� �	 tk �
�	�	���

�	 ξ �	��
��

tk − ξ =

8∑
j=4

Rje
j
k +O(e9k), ����� 

����	 R4 = − 1
2a21

ρ(r4,1c
3
2 + r4,2c2c3) � R5 =

1
6a31

(r5,1c
4
2 − r5,2c

2
2c3 + r5,3(c

2
3 + c2c4))� ��	���

r4,1 = huu(0, 0)ρ
2 − 2a1ρ(a2ρ− huv(0, 0)) + a21(hvv(0, 0)− 2(5ρ+ γ2)),

r4,2 = 2a21ρ,

r5,1 = (6a2huu(0, 0)− huuu(0, 0))ρ
4 − 3a1ρ

2(huuv(0, 0)ρ+ 2a22ρ
2 − 2a2huv(0, 0)ρ

−huu(0, 0)(10 + 11γ + 4γ2)− 3a21ρ(hvvu(0, 0)ρ− 2huv(0, 0)(10 + 13γ + 5γ2)

+a2(20 + 42γ + 30γ2 + 8γ3))− a31(huuu(0, 0)ρ− 3hvv(0, 0)(10 + 15γ + 6γ2)

+6(36 + 80γ + 66γ2 + 24γ3 + 3γ4)),

r5,2 = −3a1ρ(3huu(0, 0)ρ
2�− 6a1(a2ρ− huv(0, 0))(2 + 3γ + γ2) + a21(3hvv(0, 0)�− 2(32

+46γ + 22γ2 + 3γ3)),

r5,3 = −6a31ρ
2�.

������	��

f(tk) = f ′(ξ)
8∑

j=4

Rje
j
k +O(e9k), ����� 

� ��	�	 �!�	�	��	 	
 �	�����

� �	 ���
�� �	 
� �����!
	 wk = f(tk)
f(yk)

	� ����� � �	��� ��" ��
�

����#�
�� 
� $������ �	�� g(uk, vk, wk) ��� �� ��
���
�� �	 ���
�� �	 �	��	� ����� �	�����

���

�
�	�	��� �	 (0, 0, 0)

g(uk, vk, wk) ≈ g(0, 0, 0) + gu(0, 0, 0)uk + gv(0, 0, 0)vk + gw(0, 0, 0)wk +
1

2
guu(0, 0, 0)u

2
k

+
1

2
gvv(0, 0, 0)v

2
k +

1

2
gww(0, 0, 0)w

2
k + guv(0, 0, 0)ukvk + guw(0, 0, 0)ukwk

+gvw(0, 0, 0)vkwk +
1

6
guuu(0, 0, 0)u

3
k +

1

6
gvvv(0, 0, 0)v

3
k +

1

6
gwww(0, 0, 0)w

3
k

+
1

2
guuv(0, 0, 0)u

2
kv+

1

2
guuw(0, 0, 0)u

2
kwk +

1

2
guvv(0, 0, 0)ukv

2
k

+
1

2
guww(0, 0, 0)ukw

2
k +

1

2
gvvw(0, 0, 0)v

2
kwk + guvw(0, 0, 0)ukvkwk.

%���	������ &�
��'����� �	 (�
	����



�� ������� 	�
���	
�� ����	����� ���	��� �
 �	�� ��
�
��
� ���� 
����	��
� ��

�	�
��
� ��

��� �� ��	��
 �� ��
����	 ��� ����� ��

ek+1 =

8∑
j=4

Lje
j
k +O(e9k), ������

��	��

L4 = − 1

2a21
ρc2((huu(0, 0)ρ

2 − 2a1ρ(a2ρ− huv(0, 0)) + a21(hvv(0, 0)− 2(5ρ+ γ2)))c22

+2a21ρc3) +
1

2a21
(g(0, 0, 0)ρc2((huu(0, 0)ρ

2 − 2a1ρ(a2ρ− huv(0, 0)) + a21(hvv(0, 0)

−2(5ρ− γ2)))c22 + 2a21ρc3).

� �� ����� �� L4
 ���������� �
� ����� ������ g(0, 0, 0) = 1 ���� �
� �� ����	 ��� � ���� ��� � !

�	��	���

L̄5 = − 1

2a21
ρ(2 + γ)(huu(0, 0)ρ

2 − 2a1ρ(a2ρ− huv(0, 0)) + a21(hvv(0, 0)

−2(5ρ+ γ2)))c42 +
1

2a21
ρ(huu(0, 0)ρ

2 − 2a1ρ(a2ρ− huv(0, 0)) + a21(hvv(0, 0)

−2(5ρ+ γ2)))c42(gv(0, 0, 0) +
gu(0, 0, 0)ρ

a1
) + (−ρ2(2 + γ)c22 + ρ2c22(gv(0, 0, 0)

+
gu(0, 0, 0)ρ

a1
))c3.

"� �������� gu(0, 0, 0) = a1
 gv(0, 0, 0) = 1 ! gw(0, 0, 0) = 1
 ���
��� L̄5 = 0 ! ����	���� 
	 � ����

�� ����	 6
 ��	 ���#���	��

¯̄L6 =
1

4a41
ρ(2a1(guv(0, 0, 0)− huu(0, 0))ρ

2 + a21(10 + gvv(0, 0, 0))− huu(0, 0) + 10γ + 2γ2

−2(+6γ + γ2)))c32((huu(0, 0)ρ
2 − 2a1ρ(a2huv(0, 0)− huv(0, 0) + a21(hvv(0, 0)− 2(5ρ

+γ2)))c22 + 2a21ρc3).

$
�����	�� ����	���� ��� ��	�����	�� guu(0, 0, 0) = huu(0, 0)
 gvv(0, 0, 0) = hvv(0, 0)

guv(0, 0, 0) = a1 + huu(0, 0)
 guw(0, 0, 0) = 2a1 ! gvw = 2 ���� �	
��� ¯̄L6 ! ��% ����	�� ����	 7
��	

¯̄̄
L7 = − 1

12a51
ρ((guuu(0, 0, 0)− huuu(0, 0))ρ

3 + 3a21ρ(guvv(0, 0, 0)− 4huv(0, 0)

−hvvu(0, 0)− 2γhvu(0, 0) + 2a2ρ
2)− 3a1ρ

2(−guuv(0, 0, 0) + huuv(0, 0) + huu(0, 0)(2 + γ))

+a31(24 + gvvv(0, 0, 0)− hvvv(0, 0) + 36γ + 24γ2 + 6γ3 − 3hvv(0, 0)(2 + γ)))c42(−(huu(0, 0)ρ
2

−2a1ρ(a2ρ− huv(0, 0)) + a21(hvv(0, 0)− 2(5ρ+ γ2)))c22 − 2a21ρc3).

&�	����	��
 ��� ��	�����	��

guuu(0, 0, 0) = −6a31 − 6a21a2 + 3a1huu(0, 0) + huuu(0, 0),
guuv(0, 0, 0) = −2a21 + huu(0, 0) + huuv(0, 0) + 2a1huv(0, 0),
guvv(0, 0, 0) = −2a1 + 2huv(0, 0) + a1huu(0, 0) + hvvu(0, 0),
gvvv(0, 0, 0) = −6 + 3hvv(0, 0) + hvvv(0, 0),

'	��������� ����� �	��� �� (���	���



�� ���� �����	�	 
� �� 
��������
��

��� ���	
��� ������� �
 ����� 8 ��� 
� �
��
���� �����
�� ��
 �����

ek+1 = − 1

48a61
ρc2((huu(0, 0)ρ

2 − 2a1ρ(a2ρ− huv(0, 0)) + a21(hvv − 2(5ρ+ γ2)))c22

+2a21ρc3)((−3huu(0, 0)(−2guuv(0, 0, 0) + gww(0, 0, 0)huu(0, 0))ρ
4

−4a1ρ
3(−3guvw(0, 0, 0)huu(0, 0)− 2huuu(0, 0)− 3guuw(0, 0, 0)huv(0, 0)

+3gww(0, 0, 0)huu(0, 0)huv(0, 0)− γhuuu(0, 0) + 3a2(guuw(0, 0, 0) + huu(0, 0)

−gww(0, 0, 0)huu(0, 0))ρ− 6a21ρ
2(18huu(0, 0)− gvvw(0, 0, 0)huu(0, 0)

−10gww(0, 0, 0)huu(0, 0)− 4huuv(0, 0)− 4guvw(0, 0, 0)huv(0, 0) + 2gww(0, 0, 0)huv(0, 0)
2

+gww(0, 0, 0)huu(0, 0)hvv(0, 0) + 18γhuu(0, 0)− 10γgww(0, 0, 0)huu(0, 0)− 2γhuuv(0, 0)

+4γ2huu(0, 0)− 2γ2gww(0, 0, 0)huu(0, 0) + 4a2(guvw(0, 0, 0) + huv(0, 0)

+gww(0, 0, 0)huv(0, 0))ρ+ 2a22ρ
2gww(0, 0, 0) + guuw(0, 0, 0)(−hvv(0, 0)

+2(5ρ+ γ2)))− 12a31ρ(18huv(0, 0)− gvvw(0, 0, 0)huv(0, 0)− 10gww(0, 0, 0)huv(0, 0)

+gww(0, 0, 0)huv(0, 0)hvv(0, 0)− 2hvvu(0, 0) + 18γhuv(0, 0)− 10γgww(0, 0, 0)huv(0, 0))

−γhvvu(0, 0) + 4γ2huv(0, 0− 2γ2gww(0, 0, 0)huv(0, 0) + guvw(0, 0, 0)(−hvv(0, 0)

+2(5ρ+ γ2)) + a2ρ(−26 + gvvw(0, 0, 0) + hvv(0, 0)− 22γ − 2γ2 + gww(0, 0, 0)(10

−hvv(0, 0) + 10γ + 2γ2))) + a4(6gvvw(0, 0, 0)(hvv(0, 0)− 2(5ρ+ γ2))

−3gww(0, 0, 0)(hvv(0, 0)− 2(5ρ+ γ2))2 + 4(hvvv(0, 0)(2 + γ)− 3hvv(0, 0)(9 + 9γγ

+2γ2) + 6(45 + 90 + 59γ2 + 14γ3) + γ4))))c42 + 12a21ρ((guuw(0, 0, 0 + huu(0, 0)

−gww(0, 0, 0)huu(0, 0))ρ
2 + 2a1ρ(guvw(0, 0, 0)) + huv(0, 0)− gww(0, 0, 0)huv(0, 0)

+a2(−3 + gww(0, 0, 0)ρ) + a21(−38 + gvvw(0, 0, 0) + hvv(0, 0)− 38γ − 6γ2

+gww(0, 0, 0)(10− hvv(0, 0) + 10γ + 2γ2)))c22c3 − 12a41(−2 + gww(0, 0, 0))ρ
2c23

+24a41ρ
2c2c4)e

8
k +O(e9k),

��� 
� ��� ���

�� 
� ��	������
�� ��
 �����	�� �

� ����
����
�� ��	�� � ��
���
���� �����	
����� ����
���� ���� h � g ��
�� ��� ���
������ 
��

����
�
���� 
	������� �� �
 �����	� ������ � 
�
���� ��
	
�	� ��� a1 �= 0 � ���
��
�� ��
�� �� a2�
��!� ���� ����
���� ���� ��� ��	�
�� ����� ����
�
���� ������
����� �� a1 � a2 ���

h(u, v) = 1 + a1u+ v + u2 + uv + v3 + u2v,

g(u, v, w) = 1 + a1u+ v + w + u2 + (a1 + 1)uv + 2(a1uw + vw)− a1(a
2
1 + a1a2 − 1)u3

− (a21 − a1 − 2)u2v − (a1 − 1)v2u. "��#�$

%���
����	�� �&��� 
�� �
��
����� ����
���� ���� ����
��
���� ��� a1 =
1
2 � a2 = 0

h(u, v) = 1 +
1

2
u+ v +

1

4
u2 + v2,

g(u, v, w) = 1 +
1

2
u+ v + w +

1

4
u2 + v2 +

1

2
uv + uw + 2vw. "��#'$

(�� ���� ������ �
 a1 = 1 � a2 = 0� 
�� ����
����

h(u, v) =
1 + v

1− u
+ 3uv,

g(u, v, w) = 1 + u+ v + w + u2 + 5uv + 2uw + 2vw + u3 − v3 + 5u2v + 3uv2, "��#�$

��	�
)� ��	�
�� 
�� &
�����
� ��
 �����	��

*�
����
��� (�

�)��
�� �� +�
���
�



�� ������� 	�
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�� ����	����� ���	��� �
 �	�� ��
�
��
� ���� 
����	��
� ��

�	�
��
� ��

��������� ���	
�� a1 = 1 � a2 = 1� 
�


h(u, v) = 1 + u+ v + 4uv + 2u2 + v3,

g(u, v, w) = 1 + u+ v + w + 2u2 + 5uv + 2uw + 2vw + 5u2v + 3uv2, ������

�� �����
� �	����
 �
 ������ �� ����
 �
���

��
	���
��� �� a1 = 1 � a2 = 0� ��
����

h(u, v) =
1 + u+ u2

1− v + v2
+ 3uv,

g(u, v, w) = 1 + u+ v + w + u2 + 5uv + 2uw + 2vw − 2v3 + 5u2v + 3uv2, ������

��� �	����
 �����
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�����
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�
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 �	
 ���� ����	�	� 	 
	�� �����-	
�� 	�������
	 ��

���
��� 
 �	��	���� 
�
 �... �/0���� �� �	
���	� �
 $	��	� 1�.'.	� %� ���
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� 
�
��
�	
� 
 �����
�	��� ��� ������	��� ����
���� ��� ��� ������� ����	����� ������ �� �����	�	�

���
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�� � � � ����� �	� "�
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� �����-	
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�
 �	� ��0���
��� "�

��
�� 
� �����	���� ��0���
���?

f19(x) =

{
x(x− 1), �� x < 0

−2x(x+ 1), �� x ≥ 0

f20(x) = |x2 − 9|,

f21(x) =

{
x, �� x <
x2, �� x ≥ 0

@������ 	
�	�	� ��� �	� "�

��
�� f8(x)� f13(x) � f15(x)� ���2
 ���������	� �
 �	� �����	� 
�����
	�

�	�	 ��� ������� �� ����
 
�	���� ��� �	� "�

��
�� 
� �����	���� f19(x)� f20(x) � f21(x)� %
 ���

������� �� ����
 �
�� 
� �	��� 	 ��	� �	� "�

��
�� f10(x) � f15(x)� ��� ���2
 ���������	� ��� �	�

"�

��
�� 
� �����	���� f19(x) � f20(x)�

%
 �	� �	��	� ��0���
��� 	�	��
�
 ��� ������	��� ����
���� ��� ��� ��"���
��� ������� ����� �	�

"�

��
�� ��

��
	�	� 
�
 	
��������	�� ��
��
�� �
 
��
�	 ��� �� 
������� �� �	�	�	 �	 �����

�
 ���	� ���	�� ||xk+1 − xk|| < 10−500  ||f(xk+1)|| < 10−500� 5	�	 
	�	 �
	 �� �	� "�

��
���

�����	����� �	 �����	
� 
 �
�
�	� �����-	�	� x0� �	 �	/- ξ 	 �	 ��� ���
�� �� ���
���� �� �	��� 	�������

�� �	 ��"���

�	 �
��� �	� ��� !����	� ����	
��
��� |xk+1 − xk|� �� �	��� 	������� �� 
	�	 "�

� 


��	��	�	 �
 �	 !����	 ����	
� 
� |f(xk+1)|� �� 
!���� �� ����	
��
�� ��� �� �	 ����	�� 
�
���0���

�� ����
 
�����	
��
	� �� 
�
���0�

�	 	���>��	��� ρ � �� ������ �� 
�����	
� 
 �
 ��0�
����

�#����� ��� �	 ���� 
	�
��	�� 
��� �	 ����	 �� '.. �,�
�
��
�� 
�
��
����	�� ����	
�� �� 
��	
��

��������
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+,# %������� 
 �
� ����	
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 ��	������ |(xk+1−xk)| � |f(xk+1)|�
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 ��� �
� 0���
� �� �
����
� 
�
���
���� �� �
� �� �
�  �������� f12(x)� ���
 

+, ��

	0������� � �� f21(x)� ��� �
�����
 �
����	
� �� ���
�����
� ������ 
 �� �

3���
 �� �� �
����
���#

�� �0	�
� ����
��� �� ���

������ "�� ��� �� �
����� 	!�����$ ���
� ���
�  �������� 1
 �����
�� ��
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 319 � �� 269 
 355� 
��������
	����#
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 ��	���
����
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���� "�4����� f12(x)$ 	
�������� ��� �
�
 	!���� ���

���� �� �
��� ��)
���� 	����

� ��� �� �� �
��

�� ��
��
���� !��� �� 	
������ ��� f20(x) �


 ����� ��� 	!������ 	����

� ��� �


 f19(x) �����

��� �����	
� 	����

� �����
-����
 ��
�
3���
# �� �� �
�� �� f21(x)� �
 �����
-����
 �� ����
� ��
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yk = xk − f(xk)

f ′(xk)
,

zk = yk −H1
f(yk)

f ′(xk)
,

xk+1 = zk −
[
(1 +H1)

2 + (1 + 4H1)H2

] f(zk)

f ′(xk)
,

�	
�� H1 =
f(xk)

f(xk)−2f(yk)
� H2 =

f(zk)
f(yk)−3f(zk)
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yk = xk − f(xk)

f ′(xk)
,

zk = yk −H
f(yk)

f ′(xk)
,

xk+1 = uk − 3
uk − zk
yk − xk

f(zk)

f ′(xk)
,

�	
�� H = f(xk)
f(xk)−2f(yk)

� uk = zk − (H + T/2)2 f(zk)
f ′(xk)

� T = f(zk)
f(yk)−2f(zk)
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yk = xk − f(xk)

f [xk, zk]
, zk = xk + γf(xk),

uk = yk − f(yk)

f [yk, xk] + f [yk, xk, zk](yk − xk)
,

xk+1 = uk − f(uk)

f [uk, yk] + f [uk, yk, xk](uk − yk) + f [uk, yk, xk, zk](uk − yk)(uk − xk)
,
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yk = xk − f(xk)

f [xk, zk]
, zk = xk − f(xk),

uk = yk −H
f(xk)

f [xk, zk]
,

xk+1 = uk −G
f(uk)

f [xk, zk]
,
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����� H = 1 + w1(xk) + w2(xk)� w1(xk) =
f(yk)
f(xk)

� w2(xk) =
f(yk)
f(zk)

� G = g1 + g2 + g3� g1 = 1 + (2−
f [xk, zk])w1(xk) + (1− f [xk, zk])w1(xk)

2� g2 = (4− f [xk, zk](6 + f [xk, zk](−4 + f [xk, zk])))w1(xk)
3�

g3 = w3(xk) + w3(xk)
2 + (4− 2f [xk, zk])w4(xk)� w3(xk) =

f(uk)
f(yk)

� w4 =
f(uk)
f(zk)
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f1 =
√
x4 + 8 sin

(
π

x2+2

)
+ x3

x4+1
−√

6 + 8
17 ξ1 = −2 x0 = −1.8

ξ2 ≈ −1.149212674609088

f2 = x exp(x2)− sin(x2) + 3 cos(x) + 5 ξ ≈ −1.201576112092293 x0 = 2

f3 =
√
x2 + 2x+ 5− 2 sin(x)− x2 + 3 ξ1 ≈ +2.3319676558839640 x0 = 1

ξ2 ≈ −2.573166514902827

f4 = x4 + sin
(

π
x2

)− 5 ξ1 ≈ +1.414213562373095 x0 = 2
ξ2 ≈ −1.414213562373095

f5 =
(
sin(x)− x

2

)2
ξ = 0 & ���* ��
��' x0 = 0.5
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yk = xk − f(xk)

f [wk, xk]
,

zk = yk − f [wk, xk]

f [wk, yk]

f(yk)

f [xk, yk]
,

ak = zk − 1

(1− 2u3u24)(1− u2)

f(zk)

f [yk, zk]− f [xk, yk] + f [xk, zk]
,

xk+1 = ak − Tf(ak)
f [yk, zk]

f [yk, ak]f [zk, ak]
,

����	 wk = xk + f(xk)� u1 =
f(zk)

f(xk)
� u2 =

f(zk)

f(wk)
� u3 =

f(yk)

f(xk)
� u4 =

f(yk)

f(wk)
� u5 =

f(ak)

f(xk)
�

u6 =
f(ak)

f(wk)
$ T = 1 + u1u2 − u1u3u

2
4 + u5 + u6 + u21u4 + u22u3 + 3u1u

2
4

u23 − u24
f [xk, yk]
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wk = xk − f(xk)

f ′(xk)
,

zk = wk − f(xk)

f(xk)− 2f(wk)

f(wk)

f ′(xk)
,

tk = xk − f(xk)(p+ q + r)

pf [zk, xk] + qf ′(xk) + rf [wk, xk]
,

xk+1 = xk − p1f [zk, wk] + q1f [wk, xk] + rf [tk, wk]

p1l + q1m+ rn
f(xk),

����� p = (xk − wk)f(xk)f(wk)� q = (wk − zk)f(zk)f(wk)� r = (zk − xk)f(zk)f(xk)�

p1 = (xk − tk)f(xk)f(tk)� q1 = (tk − zk)f(tk)f(zk)� l =
f(wk)f [zk, xk]− f(zk)f [wk, xk]

wk − zk
� m =

f(wk)f
′(xk)− f(xk)f [wk, xk]

wk − xk
� n =

f(wk)f [xk, tk]− f(tk)f [wk, xk]

w − t
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!� ��� ��������� ����������� ����� ����"��� ������ ������� ���������� ��� ������� �� ������ �����

������ � ���� ��� � ��� ���������
 , ������������� ��� ��� ������� �� �� ����*�� ��������� ��

������ ��������� $�� ������� �� ����� 16� �"������� �� ������ �� ����� - ./
�01 �� �� ����� ����

��� �� ����� ���) �������� ������"��� �� ��� &������ ���� T $�� ������� �� ���� �����*���

u(xk) =
f(yk)
f(xk)

� v(xk) =
f(zk)
f(yk)

� w(xk) =
f(sk)
f(zk)

� ����� sk �� �� 2����� ���� ��� ������ �� ����� 8
 ��
�
������� ��������� ��� ����� ��$���� �������

yk = xk − f(xk)

f ′(xk)
,

zk = yk −H(u(xk))
f(yk)

f ′(xk)
,

sk = zk −G(u(xk), v(xk))
f(zk)

f ′(xk)
,

xk+1 = sk − T (u(xk), v(xk), w(xk))
f(sk)

f ′(xk)
.

.3
�1

,� �����4�� �� ������ ����� ��� ������ .3
�1 �*�������� $�� ����� ����� 16� *��� ������� �����������

��*�� ��� &�������� ����� $�� �������� ��� $�� �����������*�� ����� - �� ������ �� ���� ����� ./
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�����
��� ����������
�� �� ��		
�� �����
�� ��	��
�� ����� �� 	��������	
� ���
�� 	�� �� ��
�

�	
�� �� ��� ���	
����
�����

�� ���	���� ��� ������ 
�����
�� ������ �� 	���
���� �� ��� ���� ��
����� ����� ��� ������ � ���!
	�"� ����� ���������� � 	���
���	
��! �� 	��� �����	� ����
	��� �� #�$%�

�
��
�� ����� ��� ξ �� ���� 	
��
� �� ��� ����
�� 	���
��������� �
������
��
� f : I ⊂ R → R

�� �� 
������
� ��
���� I � 	�� x0 �	 ��� �	�
���
�� 
�
�
�
 ����� �� ξ� �
 ������ ����
�� �� �����

�	 ���
�� ��� ����� �� ����������
� �
��
	�
	 	
 	� �

��� ����
���	 ��	� H� G � T 	���
���������

�
������
��
�	� �� ��
 ������ ��� 	� ����
�� 
�	 	
��
����	 ����
�
���	 

H(0) = 1, H ′(0) = 2, H ′′(0) = 0,

H(3)(0) = 24, H(4)(0) = −72, G(0, 0) = 1,
Gu(0, 0) = 2, Gv(0, 0) = 1, Guu(0, 0) = 2,
Guv(0, 0) = 4, Guuu(0, 0) = 0, Guuuv(0, 0) = 24,
Guuvv(0, 0) = −16, Guuv(0, 0) = 6, Guuuu(0, 0) = 0,
Guvv(0, 0) = 8− 1

3(Guvvv(0, 0) + 6Gvv(0, 0)), T (0, 0, 0) = 1, Tu(0, 0, 0) = 2,
Tv(0, 0, 0) = 1, Tw(0, 0, 0) = 1, Tuu(0, 0, 0) = 2,
Tuv(0, 0, 0) = 4, Tvv(0, 0, 0) = Gvv(0, 0), Tvw(0, 0, 0) = 2,
Tvvv(0, 0, 0) = −6 + 3Gvv(0, 0) +Gvvv(0, 0), Tuuv(0, 0, 0) = 8, Tuuu(0, 0, 0) = 0,
Tuvv(0, 0, 0) = 4 +Guvv(0, 0), Tuvw(0, 0, 0) = 8, Tuw(0, 0, 0) = 2,
Tuuw(0, 0, 0) = 2.

!� �����
�� ��
 ����� ��
 ������ �	

ek+1 = − 1

48
c2(5c

2
2 − c3)(5(−14 + 5Gvv(0, 0))c

4
2 + 2(16− 5Gvv(0, 0))c

2
2c3 + (−2 +Gvv(0, 0))c

2
3

−2c2c4)(25N1c
8
2 − 20N2c

6
2c3 −N3c

4
3 + 60N4c

5
2c4 + 24N5c

3
2c3c4 + 12N6c2c

2
3c4 � �$�

+6c42(N7c
2
3 + 20c5)− 4c22(N8c

3
3 + 3(2− Tww(0, 0, 0))c

2
4 + 6c3c5))e

16
k +O(e17k ),

����� ck =
1

k!

f (k)(ξ)

f ′(ξ)
� k = 2, 3, . . .� ek = xk − ξ �

N1 = −2544 + 40Guvvv(0, 0)− 100Gvvv(0, 0)− 25Gvvv(0, 0) + 420Tvvw(0, 0, 0) + 588Tww(0, 0, 0)

+75G2
vv(0, 0)Tww(0, 0, 0)− 30Gvv(0, 0)(−48 + 5Tvvw(0, 0, 0) + 14Tww(0, 0, 0)),

N2 = −2640 + 30Guvvv(0, 0)− 100Gvvv(0, 0)− 25Gvvvv(0, 0) + 450Tvvw(0, 0, 0) + 672Tww(0, 0, 0)

+75G2
vv(0, 0)Tww(0, 0, 0)− 30Gvv(0, 0)(−43 + 5Tvvw(0, 0, 0) + 15Tww(0, 0, 0)),

N3 = −24− 4Gvvv(0, 0)−Gvvvv(0, 0) + 12Tvvw(0, 0, 0) + 12Tww(0, 0, 0) + 3G2
vv(0, 0)Tww(0, 0, 0)

−6Gvv(0, 0)(−4 + Tvvw(0, 0, 0) + 2Tww(0, 0, 0)),

N4 = −66 + 5Tvvw(0, 0, 0)− 5Gvv(0, 0)(−1 + Tww(0, 0, 0)) + 14Tww(0, 0, 0),

N5 = 56− 5Tvvw(0, 0, 0) + 5Gvv(0, 0)(−1 + Tww(0, 0, 0))− 16Tww(0, 0, 0),

N6 = −6 +Gvv(0, 0) + Tvvw(0, 0, 0) + (2−Gvv(0, 0)Tww(0, 0, 0),

N7 = −2220 + 20Guvvv(0, 0)− 100Gvvv(0, 0)− 25Gvvvv(0, 0) + 440Tvvw(0, 0, 0) + 652Tvv(0, 0, 0)

+75G2
vv(0, 0)Tww(0, 0, 0)− 10Gvv(0, 0)(−110 + 15Tvvw(0, 0, 0) + 44Tww(0, 0, 0),

N8 = −276 + 2Guvvv(0, 0)− 20Gvvv(0, 0)− 5Gvvvv(0, 0) + 78Tvvw(0, 0, 0) + 96Tww(0, 0, 0)

+15G2
vv(0, 0)Tww(0, 0, 0)− 6Gvv(0, 0)(−29 + 5Tvvw(0, 0, 0) + 13Tww(0, 0, 0)).
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	� �� (����	
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 ������ ���
	�
�� 
	 �� ���
�� 

� �
��
�� ������

���
	
���

sk = − 1

48
c2((−10 +H ′′(0))c22 + 2c3)((1080−Guuuu(0, 0)

+(−300 + 60H ′′0− 3H ′′2(0))Gvv(0, 0) + 6p1,2Guuv(0, 0)

−108H ′′(0) + 8H(3)(0) +H(4)(0))c42 �����

+12(−3 +Guuv(0, 0) + 10Gvv(0, 0) +H ′′(0)−Gvv(0, 0)H
′′(0))c22c3

−12(−2 +Gvv(0, 0))c
2
3 + 24c2c4))e

8
k +M+O(e17k ),


�	

 p1,2 = −10+H ′′(0) � M = M1e
9
k+M2e

10
k +M3e

11
k +M4e

12
k +M5e

13
k +M6e

14
k +M7e

15
k +M8e

16
k �

�
����������� f(sk) 
	 �
��
 

 �������

f(sk) = − 1

48
f(ξ)c2((−10 +H ′′(0))c22 + 2c3)((1080−Guuuu(0, 0)

+(−300 + 60H ′′(0)− 3H ′′2(0))Gvv(0, 0) + 6p1,2Guuv(0, 0)

−108H ′′(0) + 8H(3)(0) +H(4)(0, 0))c42 �����

+12(−3 +Guuv(0, 0) + 10Gvv(0, 0) +H ′′(0)−Gvv(0, 0)H
′′(0))c22c3

−12(−2 +Gvv(0, 0))c
2
3 + 24c2c4))e

8
k + f(ξ)M+O(e17k ),

��	 �� ��
 
� ������� ���� � �
 ��� 
� �������� 
� 

�������� ������
� � w(xk) =
f(sk)

f(zk)
!

w(xk) =
1

24
((1080−Guuuu(0, 0) + (−300 + 60H ′′(0)− 3H ′′(0)2)Gvv(0, 0) + 6p1,2Guuv(0, 0)

−108H ′′(0) + 8H(3)(0) +H(4)(0, 0))c42 �����

+12(−3 +Guuv(0, 0) + 10Gvv(0, 0) +H ′′(0)−Gvv(0, 0)H
′′(0))c22c3

−12(−2 +Gvv(0, 0))c
2
3 + 24c2c4))e

4
k +M1 +O(e13k ).

�
	�
	
� 
	 ��
	�� ��
 ��� "������
� u(xk)� v(xk) � w(xk) ��
	

	 � �
��� ���	
� xk ��
	

 � ξ�
����������� T (u(xk), v(xk), w(xk)) ��� �� ����	���� 

 ������ ������
��

T (u(xk), v(xk), w(xk)) ≈ t1 +
1

2
t2 +

1

6
t3, ���#�


�	



t1 = T (0, 0, 0) + Tu(0, 0, 0)u(xk) + Tv(0, 0, 0)v(xk) + Tw(0, 0, 0)w(xk)

t2 = Tuu(0, 0, 0)u(xk)
2 + Tvv(0, 0, 0)v(xk)

2 + Tww(0, 0, 0)w(xk)
2

+2Tuv(0, 0, 0)u(xk)v(xk) + 2Tuw(0, 0, 0)u(xk)w(xk)

+2Tvw(0, 0, 0)v(xk)w(xk)

t3 = Tuuu(0, 0, 0)u(xk)
3 + Tvvv(0, 0, 0)v(xk)

3 + Twww(0, 0, 0)w(xk)

+3Tuuv(0, 0, 0)u(xk)
2v(xk) + 3Tuuw(0, 0, 0)u(xk)

2w(xk)

+3Tuvv(0, 0, 0)u(xk)v(xk)
2) + 3Tuww(0, 0, 0)u(xk)w(xk)

2

+3Tvww(0, 0, 0)v(xk)w(xk)
2 + 3Tvvw(0, 0, 0)v(xk)

2w(xk)

+6Tuvw(0, 0, 0)u(xk)v(xk)w(xk).

�	�"
���
�
 $����%�	��� 

 &��
	���



�� ������� 	�
���	
�� ����	����� ���	��� �
 ���
� ���� ���� 
����	��
� �� �	�
��
� ��

��� ���� ����	
 	� �	
������� 	� 
	��	 �	 ������ �
������ �� ����	��	
f(sk)

f ′(xk)
	


f(sk)

f ′(xk)
= − 1

48
c2((−10 +H ′′(0))c22 + 2c3)((1080−Guuuu(0, 0)

+(−300 + 60H ′′0− 3H ′′(0)2)Gvv(0, 0) + 6(−10 +H ′′(0))Guuv(0, 0)

−108H ′′(0) + 8H(3)(0) +H(4)(0, 0))c42 �����

+12(−38 +Guuv(0, 0)− (−10 +H ′′(0))Gvv(0, 0)−H ′′(0))c22c3
−12(−2 +Gvv(0, 0))c

2
3 + 24c2c4))e

8
k +M2 +O(e17k ).

��� �����
 ���������� �����
 ����� � �����
 �	�	��
 �� 	������� �	 	���� ���� 	� ������ ��
� �	� ������

��	������ 

ek+1 = − 1

48
(−1 + T (0, 0, 0))c2((−10 +H ′′(0))c22 + 2c3)((1080−Guuuu(0, 0)

+(−300 + 60H ′′(0)− 3H ′′(0)2)Gvv(0, 0) + 6(−10 +H ′′(0))Guuv(0, 0)

−108H ′′(0) + 8H(3)(0) +H(4)(0, 0))c42 ���!�

+12(−38 +Guuv(0, 0)− (−10 +H ′′(0))Gvv(0, 0)−H ′′(0))c22c3
−12(−2 +Gvv(0, 0))c

2
3 + 24c2c4))e

8
k +M3 +O(e17k ).

���	��
 �	����� � ������ �	 	
�� 	"��	
��� #�	 ���� �	�	� �� �	��
 ���	� �	 ����	�$	���� ��	�	

	
 �	�	
���� #�	 T (0, 0, 0) = 1� %�����	



ek+1 = − 1

48
(−2 + Tu(0, 0, 0))c2((−10 +H ′′(0))c22 + 2c3)((1080−Guuuu(0, 0)

+(−300 + 60H ′′(0)− 3H ′′(0)2)Gvv(0, 0) + 6(−10 +H ′′(0))Guuv(0, 0)

−108H ′′(0) + 8H(3)(0) +H(4)(0))c42 �����

+12(−38 +Guuv(0, 0)− (−10 +H ′′(0))Gvv(0, 0)−H ′′(0))c22c3
−12(−2 +Gvv(0, 0))c

2
3 + 24c2c4))e

9
k +M4 +O(e17k ),

� �	������
 #�	 ���� �	�	� ���	� �	 ����	�$	���� �� �	��
 ��	� &�� #�	 	"�$�� #�	 Tu(0, 0, 0) = 2�

%�����	



ek+1 =
1

96
c2((−10 +H ′′(0))c22 + 2c3)((12 + (−10 +H ′′(0))Tv(0, 0, 0)

−Tuu(0, 0, 0))c
2
2 + 2(−1 + Tv(0, 0, 0))c3)((1080−Guuuu(0, 0)

+(−300 + 60H ′′(0)− 3H ′′(0)2)Gvv(0, 0) + 6(−10 +H ′′(0))Guuv(0, 0)

−108H ′′(0) + 8H(3)(0) +H(4)(0, 0))c42 ���'(�

+12(−38 +Guuv(0, 0)− (−10 +H ′′(0))Gvv(0, 0)−H ′′(0))c22c3
−12(−2 +Gvv(0, 0))c

2
3 + 24c2c4))e

10
k +M5 +O(e17k ).

���� �������� �� ���	� �	 ����	�$	���� �	 �� �	��
 ���	 �	)	��
 �	
���	� 	� 
�
�	�� �	 	�������	


*������ ��� 12 + (−10 +H ′′(0))Tv(0, 0, 0) − Tuu(0, 0, 0) = 0 � −1 + Tv(0, 0, 0) = 0
 ���� 
�������

	
 Tv(0, 0, 0) = 1 � Tuu(0, 0, 0) = 2 +H ′′(0)� +� 
�
�������
 	
��
 ���������	
 	� �� 	������� ���'(�
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�� ���� �����	�	 
� �� 
��������
��

��������	 
� ��
����� ��
 �����

ek+1 = − 1

288
c2((−10 +H ′′(0))c22 + 2c3)((96 +H(3)(0)− Tuuu(0, 0, 0)

+3(−2 + Tuv(0, 0, 0))H
′′(0)− 30Tuv(0, 0, 0))c

2
2 + 2(−1

+Tv(0, 0, 0))c3)((1080−Guuuu(0, 0) + (−300 + 60H ′′(0)− 3H ′′(0)2)Gvv(0, 0)

+6(−10 +H ′′(0))Guuv(0, 0)− 108H ′′(0) + 8H(3)(0) +H(4)(0))c42 ������

+12(−38 +Guuv(0, 0)− (−10 +H ′′(0))Gvv(0, 0)−H ′′(0))c22c3
−12(−2 +Gvv(0, 0))c

2
3 + 24c2c4))e

11
k +M6 +O(e17k ).

��� ��� ��	� ��	�
������ �
 	�	���� 96 + H(3)(0) − Tuuu(0, 0, 0) + 3H ′′(0)(−2 + Tuv(0, 0, 0)) −
30Tuv(0, 0, 0)) = 0� −4 + Tuv(0, 0, 0) = 0� ��������	 Tuv(0, 0, 0) = 4 � H(3)(0) = 24 − 6H ′′(0) +
Tuuu(0, 0, 0) �� 	� 	
	���
���	 �	��	 �����	����	 �� 
� ��
����� ������� ��������	 �
 ����	 ����� ��
������������ �����

ek+1 =
1

1152
c2((−10 +H ′′(0))c22 + 2c3)A1(A2c

4
2 +A3c3 +A4 − 24(−1 + Tw(0, 0, 0))c2c4)e

12
k

+M7 +O(e17k ).

 �������� Tw(0, 0, 0) = 1� 
� ��
����� �� ����� !
���

ek+1 =
1

1152
c2((−10 +H ′′(0))c22 + 2c3)(−(Guuuu(0, 0)− 6Guuv(0, 0)(−10 +H ′′(0))

+3(−10 +H ′′(0))(−4 +Gvv(0, 0)(−10 +H ′′(0)) + 2Tuuv(0, 0, 0) + 10Tvv(0, 0, 0)

−H ′′(0)Tvvv(0, 0, 0))c
4
2 + 12(2 +Guuv(0, 0)−Gvv(0, 0)(−10 +H ′′(0))− Tuuv(0, 0, 0)

+(−10 +H ′′(0))Tvv(0, 0, 0))c
2
2c3 + 12(−Gvv(0, 0) + Tvv(0, 0, 0))c

2
3)((1272−Guuuu(0, 0)

+(−300 + 60H ′′(0)− 3H ′′(0)2)Gvv(0, 0) + 6Guuv(0, 0)(−10 +H ′′(0))− 156H ′′(0)����"�
+H(4)(0) + 8Tuuu(0, 0, 0))c

4
2 + 12(−38 +Guuv(0, 0)− (−10 +H ′′(0))Gvv(0, 0))c

2
2c3

−12(−2 +Gvv(0, 0))c
2
3 + 24c2c4)e

12
k +M8 +O(e17k )

� �
 ����� �	� �
 ����	 ����� #��� �
���� �
 ����� �� ������������ ��	�
����	 �
 	�	���� �� ��
������	

−4+Gvv(0, 0)(−10+H ′′(0))+2Tuuv(0, 0, 0)+10Tvv(0, 0, 0)H
′′(0)Tvvv(0, 0, 0) = 0� 2+Guuv(0, 0)−

Gvv(0, 0)(−10+H ′′(0))−Tuuv(0, 0, 0)+ (−10+H ′′(0))Tvv(0, 0, 0) = 0 � −Gvv(0, 0)+Tvv(0, 0, 0) =
0� $� 	�

���� �� �	�� 	�	���� �	 Gvv(0, 0) = Tvv(0, 0, 0)� Guuuu(0, 0) = 0 � Tuuv(0, 0, 0) = 2 +
Guuv(0, 0)�

%��������� �	��	 ����������	 �� 
� ��
����� �� ����� ����"� ��������	

ek+1 =
1

1152
c22((−10 +H ′′(0))c22 + 2c3)A(A1c

4
2

+4A2c
2
2c3 + 12A3c

2
3 − 24(−2 + Tuw(0, 0, 0))c2c4)e

13
k ����&�

+M9 +O(e17k ).

������	���� #�
��'����� �� (�
�����



�� ������� 	�
���	
�� ����	����� ���	��� �
 ���
� ���� ���� 
����	��
� �� �	�
��
� ��

�����

A1 = 3264 +Guvv(0, 0)(300− 60H ′′(0) + 3H ′′2(0)) + (−60 + 120H ′′(0)− 6H ′′2(0))Gvv(0, 0)

−2Guuuv(0, 0)(−10 +H ′′(0))− 384H ′′(0) + 16Tuuu(0, 0, 0)

+(−300 + 60H ′′(0)− 3H ′′(0)2)Tuvv(0, 0, 0)

−6Guuv(0, 0)(−10 +H ′′(0))(−2 + Tuw(0, 0, 0)) + (−1272 + 300Gvv(0, 0) + 156H ′′(0)
−60Gvv(0, 0)H

′′(0) + 3Gvv(0, 0)H
′′(0)2 −H(4)(0)− 8Tuuu(0, 0, 0))Tuw(0, 0, 0),

A2 = Guuuv(0, 0) + 3Guuv(0, 0)(−2 + Tuw(0, 0, 0))− 3(−108 +Guvv(0, 0)(−10 +H ′′(0))
+4H ′′(0) + (−10 +H ′′(0))(−Tuvv(0, 0, 0) +Gvv(0, 0)(−2 + Tuw(0, 0, 0)))

+(38−H ′′(0))Tuw(0, 0, 0),

A3 = 8 +Guvv(0, 0)− Tuvv(0, 0, 0) +Gvv(0, 0)(−2 + Tuw(0, 0, 0))− 2Tuw(0, 0, 0).
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���� ��� ����

���� ���

�
����� ��	���� ��	 A1 = 0� A2 = 0� A3 = 0 � −2 + Tuw(0, 0, 0) = 0� �

��� 
���


���� ����

Tuvv(0, 0, 0) = 4 + Guvv(0, 0)� Tuw(0, 0, 0) = 2 � Guuuv(0, 0) = −6(−4 + H ′′(0))� ��	 �� ������

����
������� ����� 	��������� �� �� ���
�� ���	��
�� �� �� �
��

�� �� �		�	  !�"#$� �%�������

�	��� �� 
����	���

� 
���	
��

ek+1 = − 1

2304
c2((−10 +H ′′(0))c22 + 2c3)B(2B1c

6
2 − B2c

4
2c3 + 12B3c

2
2c

2
3

+ 8(B4c
3
3 + 24B5c

3
2c4 − 48(−2 + Tuw(0, 0, 0))c2c3c4)e

14
k +M10 +O(e17k ).
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���� &�� ��� ��	��	

���� �� �	��� �� 
����	���

� &�
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�
����� �� �
��

���� B1 = 0� B2 = 0� B3 = 0� B4 = 0� B4 = 0 � −2 + Tuw(0, 0, 0) = 0� �����

B1 = −22464 + 12(300− 60H ′′(0) + 3H ′′(0)2 − 25Tuuw(0, 0, 0))Gvv(0, 0)

+(−1000 + 300H ′′(0)− 30H ′′(0)2 +H ′′(0)3)Gvvv(0, 0)

−3Guuvv(0, 0)(−10 +H ′′(0))2 + 3552H ′′(0)− 96H ′′(0)2 − 12H(4)(0)

+(1272− 156H ′′(0) + 3(20− 3H ′′(0))Gvv(0, 0)H
′′(0) +H(4)(0))Tuuw(0, 0, 0)

+(−176 + 8H ′′(0) + 8Tuuw(0, 0, 0))Tuuu(0, 0, 0)

+(1000− 300H ′′(0) + 30H ′′(0)2 −H ′′(0)3)Tvvv(0, 0, 0)

+(12720− 2832H ′′(0) + 156H ′′(0)2

+3(−1000 + 300H ′′(0)− 30H ′′(0)2 +H ′′(0)3)Gvv(0, 0)

−(−10 +H ′′(0))((H(4)(0) + 8Tuuu(0, 0, 0))Tvw(0, 0, 0)

−6Guuv(0, 0)(12− Tuuw(0, 0, 0) + (−10 +H ′′(0))Tvw(0, 0, 0))),

B2 = −5928 + 1020Gvv(0, 0)− 300Gvvv(0, 0)

+444H ′′(0)−H(4)(0) + 6Guuvv(0, 0)(−10 +H ′′(0))
+3(340− 44H ′′(0) + 4H ′′2(0))Gvv(0, 0) + 3(−100 + 60H ′′(0)− 3H ′′(0)2)Gvvv(0, 0)

+6(38 + (−10 +H ′′(0))Gvv(0, 0)−H ′′(0))Tuuw(0, 0, 0)

−8(2− Tvw(0, 0, 0))Tuuu(0, 0, 0) + 3(100− 20H ′′(0) +H ′′(0)2)Tvvv(0, 0, 0)

+(3552− 444H ′′(0) + 6H ′′(0)2 +H(4)(0) + 9(−100 + 20H ′′(0)
−H ′′(0)2)Gvv(0, 0))Tvw(0, 0, 0)− 6Guuv(0, 0)(−22 +H ′′(0) + Tuuw(0, 0, 0)

−2(−10 +H ′′(0))Tvw(0, 0, 0)),
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�� ���� �����	�	 
� �� 
��������
��

B3 = 140− 2H ′′(0) +Guuvv(0, 0)− 2Guuv(0, 0) + (−2 +Gvv(0, 0))Tuuw(0, 0, 0)

+2(−16 +H ′′(0))Gvv(0, 0) + (−10 +H ′′(0))(Tvvv(0, 0, 0)−Gvvv(0, 0))

+(−96 + 4H ′′(0)− 3(−10 +H ′′(0))Gvv(0, 0) + 2Guuv(0, 0))Tvw(0, 0, 0),

B4 = 6 +Gvvv(0, 0)− Tvvv(0, 0, 0) + 3Gvv(0, 0)(−1 + Tvw(0, 0, 0))− 6Tvw(0, 0, 0),

B5 = −22 +H ′′(0) + Tuuw(0, 0, 0)− (−10 +H ′′(0))Tvw(0, 0, 0).

�� ����	
�� 
�� Guuvv(0, 0) = −2(2+Guuv(0, 0)−H ′′(0))� H(4)(0) = 12(−6+H ′′(0))� Tuuw(0, 0, 0) =
2 +H ′′(0)� Tvvv(0, 0, 0) = −6 + 3Gvv(0, 0) +Gvvv(0, 0) � Tvw(0, 0, 0) = 2�

��� �� ������ ���� 
���� 	���
	
��
��

ek+1 = − 1

2304
c32((−10 +H ′′(0))c22 + 2c3)(2−H ′′(0) + Tuuw(0, 0, 0))C)e15k +M11

+O(e17k ).

���� ��	����� ���
� �� �
�
 �
�
�	���
 2 + H ′′(0) − Tuuw(0, 0, 0) = 0� ��� ������ 
�
�

���
Tuuw(0, 0, 0) = 2 + H ′′(0) ���
�
��� 
� ���
� �
�
���� �

��� �� 
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����

H(u) = 1 + 2u+ 4u3 − 3u4,
G(u, v) = 1 + 2u+ v + u2 + 4uv + 3u2v + 4uv2 + 4u3v − 4u2v2,
T (u, v, w) = 1 + 2u+ v + w + u2 + 4uv + 2uw + 4u2v + u2w + 6uv2 + 8uvw.
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 ���
	 2q�
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�� 

��
�� 
�	 �
������
 ��

���� � ������ �
 �
�
 ������	�� �� �����������	 f ′(xk) ≈
f [zk, xk]� ��	�
 zk = xk + f(xk)

n� ���� ��
 ��� � 
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	 ������ �
� ������ �

�������� 

 	
�

���� ��
 n ≥ q�

8����'������� �� 
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� ξ ∈ I �	 �
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�� ������� 	�
���	
�� ����	����� ���	��� �
 ���
� ���� ���� 
����	��
� �� �	�
��
� ��

R �� �� ��������	 I � x0 �� ������	�
��� ���
��� 
��
�����	���� 
��
� � ξ� �� 	����� ������� ���

yk = xk − f(xk)

f[zk, xk]
,

tk = yk −H(u(xk))
f(yk)

f [zk, xk]
, ������

sk = tk −G(u(xk), v(xk))
f(tk)

f [zk, xk]
,

xk+1 = sk − T (u(xk), v(xk), w(xk))
f(sk)

f [zk, xk]
,

����� ����� 
��������
�� �� ����	� 
� ��
 ���
����
 �����
� 
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�����	���� �������
�����
� H� G �

T 
� �

���� �� ��� 	����� ��� 
�	���� ��
 
��������
 
����
����
�

H(0) = 1, H ′(0) = 2, H ′′(0) = 0,

H(3)(0) = 24, H(4)(0) = −72, G(0, 0) = 1,
Gu(0, 0) = 2, Gv(0, 0) = 1, Guu(0, 0) = 2,
Gvvv(0, 0) = 6− 3Gvv(0, 0) + Tvvv(0, 0, 0), Guuu(0, 0) = 0, Guv(0, 0) = 4,
Guuvv(0, 0) = −2(2 +Guuv(0, 0)−H ′′′(0)), Guuv(0, 0) = 6, Guuuv(0, 0) = 24,
Guvv(0, 0) =

1
3(24−Guvvv(0, 0)− 6Gvv(0, 0)), T (0, 0, 0) = 1, Tu(0, 0, 0) = 2,

Tuu(0, 0, 0) = 2, Tv(0, 0, 0) = 1, Tuv(0, 0, 0) = 4,
Tw(0, 0, 0) = 1, Tuuuu(0, 0, 0) = 0, Tuuv(0, 0, 0) = 8,
Tvv(0, 0, 0) = Guvv(0, 0), Tuw(0, 0, 0) = 2, Tuvv(0, 0, 0) = 4 +Gvv(0, 0),
Tvw(0, 0, 0) = 2, Tuuw(0, 0, 0) = 2, Tuvw(0, 0, 0) = 8,

����� zk = xk+f(xk)
4� f [zk, xk] =

f(zk)− f(xk)

zk − xk
� u(xk) =

f(yk)

f(xk)
� v(xk) =

f(tk)

f(yk)
� w(xk) =

f(sk)

f(tk)
�

�� �
��
��� ��� ����� �� �
�� 	����� �
�

ek+1 = − 1

48
c2
(
5c22 − c3)(α1 − 2c2c4

)
(α2 + 6c3c5) e

16
k +O(e17k ),

�����

α1 = 5M1c
4
2 + 2M2c

2
2c3 +M3c

2
3,

α2 = 25N1c
8
2−20N2c

6
2c3+N3c

4
3+60N4c

5
2c4+24N5c

3
2c3c4+12N6c2c

2
3c4+6c42(N7c

2
3+20c5)−4c22(N8c

3
3+3N9)c

2
4,

ck =
1

k!

f (k)(ξ)

f(ξ)
� k = 2, 3, . . .� ek = xk − ξ � M1� M2� M3 � Ni� i = 1, 2, . . . , 9 �������� �� ��
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��
 	� ��
�� �	 ξ� ���	�	���

f(xk) = f ′(ξ)
16∑
j=1

cje
j
k +O(e17k ),

zk − ξ = f ′(ξ))4
(
e4k + 4c2e

5
k

)
+ f ′(ξ)

16∑
j=6

Dje
j
k +O(e17k ),

f(zk) = f ′(ξ)
(
ek + c2e

2
k + c3e

3
k + (f ′(ξ)4 + c4)e

4
k

)
+ f ′(ξ)

16∑
j=5

Eje
j
k +O(e17k ),

f [zk, xk] = f ′(ξ)
(
1 + 2c2ek + 3c3e

2
k + 4c4e

3
k

)
+ f ′(ξ)

16∑
j=5

Fje
j−1
k +O(e16k ),

����	 c1 = 1� �������
	��� 	���� 	��
	����	� 	� 	� �
��	
 ���� �	 ������� ���	�	��� yk − ξ =
16∑
j=2

Aje
j
k +O(e17k )� ����	 A2 = c2, A3 + 2(c3 − 2c22) 
 A4 = 4c32 − 7c2c3 + 3c4� ������ �	 ��	�� 	�

�	��

���� �	 ��
��
 ���	�	���

f(yk) = f ′(ξ)
(
c2e

2
k − 2(c22 − c3)e

3
k + (5c32 − 7c2c3 + 3c4)e

4
k

)
+f ′(ξ)

(−12c42 + 24c22c3 − 6c23 + c2(f
′(ξ)4 − 10c4) + 4c5)e

5
k

)
+f ′(ξ)

16∑
j=6

A′
je

j
k +O(e17k ),

u(xk) = c2ek + (2c3 − 3c22)e)k
2 + (8c32 − 10c2c3 + 3c4)e

3
k

+(−20c42 + 37c22c3 − 8c23 + c2(f
′(ξ)4 − 14c4) + 4c5)e

5
k

+f ′(ξ)
16∑
j=6

A′′
j e

j
k +O(e17k ),


 ���������� H(u(xk)) ≈ H(0)+H ′(0)u(xk) + 1
2H

′′(0)u(xk)2 + 1
6H

(3)(0)u(xk)
3 + 1

24H
(4)(0)u(xk)

4�

���� ��� �	
���	 ���	�	
 �� 	������� �	 	

�
 ��
� 	� �	 ���� ���� �	 ������!

tk − ξ =

16∑
j=2

Bje
j
k +O(e17k ),

����	 B2 = − (H(0)− 1) c2� B3 = (−2 + 4H(0) −H ′(0))c22 − 2(H(0) − 1)c3� �� B2 = 0 
 B3 = 0
�	�	��� �
�	� �	 ����	
 	���� �� �	��� �� ���� �	 ����	�	 ��H(0) = 1 
H ′(0) = 2 
 ��� �
���
�����

��
� tk �� �� ��	��	 	��
	����!

tk − ξ =

16∑
j=4

Kje
j
k +O(e17k ),

����	 K4 =

(
5− H ′′(0)

2

)
c32 − c2c3�

������ �	 ��	�� 	� �	��

���� �	 ��
��
 	� ��
�� �	 ξ ��
� ���	�	
 f(tk) 
 � ��
��
 �	 "� ����������
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v(xk) � �����	
�
�� �� 
���	�� G �� ����� � (0, 0)

G(u(xk), v(xk)) ≈ G(0, 0) +Gu(0, 0)u(xk) +Gv(0, 0)v(xk) +
1

2
(Guu(0, 0)u(xk)

2

+2Guv(0, 0)u(xk)v(xk) +Gvv(0, 0)v(xk)
2) +

1

6
(Guuu(0, 0)u(xk)

3

+3Guuv(0, 0)u(xk)
2v(xk) + 3Guvv(0, 0)u(xk)v(xk)

2 +Gvvv(0, 0)v(xk)
3)

+
1

24
(Guuuu(0, 0)u(xk)

4 + 4Guuuv(0, 0)u(xk)
3v(xk) + 6Guuvv(0, 0)u(xk)

2v(xk)
2

+4Guvvv(0, 0)u(xk)v(xk)
3 +Gvvvv(0, 0)v(xk)

4),

� ������
�� �� ���	� �� ������ �� sk�

sk − ξ =

16∑
j=4

Sje
j
k +O(e17k ), ������

����� S4 =
1

2
αβ1c2((H

′′(0) − 10)c22 + 2c3) � S5 =
1

6
(−216 + 3Gu(0, 0)(H

′′(0) − 10) + 30H ′′(0) +

G(0, 0)(276−36H ′′(0)+H(3)(0)))c42+(32+Gu(0, 0)−3H ′′(0)+G(0, 0)(−34+3H ′′(0)))c22c3+2β1c
2
3+

2β1c2c4� �	���� α = (H ′′(0)− 10)c22 +2c3 � β1 = G(0, 0)− 1� ���� ����� ����� �� ����������	� ��	��
S4 � S5 ����� ���������  ��� �� ���	��� ����
���� �	 G(0, 0) = 1 � Gu(0, 0) = 2� !���	������� �����
������	���� �� ������ ������
��

sk − ξ =

16∑
j=6

S′
je

j
k +O(e17k ), ����"�

S′
6 =

1

4
αc2(s

′
6,1c

2
2 − 2β2c3),

S′
7 = − 1

12
s′7,1c

6
2 +

1

6
s′7,2c

4
2c3 + s′7,3c

2
2c

2
3 − β2c

3
3 + s′7,4c

3
2c4 − 2β2c2c3c4,

β2 = Gv(0, 0)− 1,

s′6,1 = −12 +Guu(0, 0)−Gv(0, 0)(H
′′(0)− 10),

s′7,1 = 4272 + 300Guv(0, 0)− 4320Gv(0, 0))−Guuu(0, 0)(H
′′′(0)− 10)− 528H ′′(0)

− 60Guv(0, 0)H
′′(0) + 1032Gv(0, 0)H

′′(0) + 3(Guv(0, 0)− 20Guv(0, 0))H
′′(0)2

+ (54H ′′(0)−H(3)(0)− 456)Guu(0, 0) + 12H(3)(0) + 2Gv(0, 0)H
(3)(0)(H ′′(0)− 10),

s′7,2 = 2196 +Guuu(0, 0)− 6(10−H ′′(0))Guv(0, 0)

+ (−2052 + 372H ′′(0)− 15H ′′(0)2 − 2H(3)(0))Gv(0, 0)

+ 15(H ′′(0)2 − 204H ′′(0)− 12)Guu(0, 0),

s′7,3 = −66 + 3Guu(0, 0)−Guv(0, 0) + 64Gv(0, 0) + 3H ′′(0)− 6Gv(0, 0)H
′′(0),

s′7,4 = −22 +Guu(0, 0)− 2Gv(0, 0)(H
′′(0)− 10) +H ′′(0).

!	 S′
6 � S′

7 �� ������ �� ���	��� ����� �� ����������	� ��#�� $
���	���� S′
6 = 0 � S′

7 = 0 ��������
Gv(0, 0) = 1� Guv(0, 0) = 4� Guuu = −24+6H ′′(0)+H(3)(0) � Guu(0, 0) = 2+H ′′(0)� !���	�������
����� ������	���� �� ����"� ������
�� ����� �� ����������	� ��#�

sk − ξ =

16∑
j=8

S′′
j e

j
k +O(e17k ), ����%�

&�	����	��� ���	�'��	�� �� (�����	�



��� ���� �����	�	 
� �� 
��������
��

�����

S′′
8 = − 1

48
α
(
s8,1c

4
2 + 12s8,2c

2
2c3 − 12 (2−Gvv(0, 0)) c

2
3 + 24c2c4

)
,

s8,1 = 1080−Guuuu(0, 0)− 3(100− 20H ′′(0) +H ′′2(0))Gvv(0, 0)

+6Guuv(0, 0)(H
′′(0)− 10)− 108H ′′(0) + 8H(3)(0) +H(4)(0),

s8,2 = −38 +Guuv(0, 0)− (H ′′(0)− 10)Gvv(0, 0) +H ′′(0).

�	
� �	
��� �� ����� �� ��	
������ �� �
���� �� ����� �� ξ� ��������	 f(sk) � �
 ������
��	 �
�


������� �� ��	
������ �� �
���� �� w(xk) � T (u(xk), v(xk), w(xk))� ���
������ ��������	 �
 ���
����

�� ����� ��� ������ ����
���� ���� !"

ek+1 =

16∑
j=8

Nje
j
k +O(e17k ), ����#!

����� N8 = [1− T (0, 0, 0)]S′′
8 � $� T (0, 0, 0) = 1� �������	 N8 = 0 � 	�	��������� �	�
 ��������� ��

N9 ��������	 N1,9 = [2− Tu(0, 0, 0)]S
′′
8 � ���
��� Tu(0, 0, 0) = 2 ��������	

ek+1 =

16∑
j=10

N2,je
j
k +O(e17k ),

����� N2,10 =
1

96
c2α[(12 + (H ′′(0) − 10)Tv(0, 0, 0) − Tuu(0, 0, 0))c

2
2 + 2(Tuu(0, 0, 0) − 1)c3]S

′′
8 � $�

���
��	 Tv(0, 0, 0) = 1 � Tuu(0, 0, 0) = 2 +H ′′(0)� 
	�%��
��	 &�� �� ����� �� ������%����
 �	 
�

����	 ����� '
 ���
���� ��� ����� �� �	�� �
	� ���
 �
 	�%����� (���


ek+1 =

16∑
j=11

N3,je
j
k +O(e17k ),

����� N3,11 = − 1
288c

2
2α[(96+H(3)(0)− Tuuu(0, 0, 0) + 3H ′′(0)(Tuv(0, 0, 0)− 2)− 30Tuv(0, 0, 0))c

2
2 +

6(Tuv(0, 0, 0) − 4)c3]S
′′
8 � ���
��� Tuv(0, 0, 0) = 4 � H(3)(0) = 24 − 6H ′′ + Tuuu(0, 0, 0) ��������	

�
 ����
 �)���	��� �� �
 ���
���� �� �����

ek+1 =

16∑
j=12

N4,je
j
k +O(e17k ),

�����

N4,12 =
1

1152
c2α[n12,1c

4
2 + 12n12,2c

2
2c3 + 12n12,3c

2
3 − 24(T3 − 1)c2c4]S

′′
2 ,

	�����

n12,1 = 1200 +H(4)(0)− 8H(3)(0)(Tw(0, 0, 0)− 1) + (−1080 + 60Guuv(0, 0)

+Guuuu(0, 0))Tw(0, 0, 0) + (30Gvv(0, 0)−H(4)(0))Tw(0, 0, 0)− 60Tuuv(0, 0, 0)

−6H ′′(0)(20 + (−18 +Guuv(0, 0) + 10Gvv(0, 0))Tw(0, 0, 0)− Tuuv(0, 0, 0)− 10Tvv(0, 0, 0)

+3H ′′2(0)(Gvv(0, 0)Tw(0, 0, 0)− Tvv(0, 0, 0))− 300Tvv(0, 0, 0),

n12,2 = −40− (−38 +Guuv(0, 0) + 10Gvv(0, 0))Tw(0, 0, 0) + Tuuv(0, 0, 0) + 10Tvv(0, 0, 0)

+H ′′(0)(1 + (1 + (Gvv(0, 0)− 1)Tw(0, 0, 0)− Tvv(0, 0, 0)),

n12,3 = 2 + (Gvv(0, 0)− 2)Tw(0, 0, 0)Tw(0, 0, 0)− Tv(0, 0, 0).

*�����	��
� +���������
 �� ,
�����
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 ���
� ���� ���� 
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���� ��	�� 
���	 �� �
	
����	��� �� ��	
� �� n12,1� n12,2� n12,3 ����	 �	������� ���
 �� �
	����� ���

Tw(0, 0, 0) = 1�Guuuu(0, 0) = 4� Tuuv(0, 0, 0) = 2+Guuv(0, 0) � Tvv(0, 0, 0) = Gvv(0, 0)� ���������	�

���
� 
��
��� �	 �� �������	 ��� ���
� 
���	��
� �� 	��
� �
����

ek+1 =

16∑
j=13

N5,je
j
k +O(e17k ),

�
	�� N5,13 =
1

1152
c22αN

′
13(n13,1c

4
2−4n13,2c

2
2c3+12n13,3c

2
3−24(Tuw(0, 0, 0)−2)c2c3)� �
���
� ���

�	� �� ��� �
	����
	�� ���� �	���� N5,13 �� Tuw(0, 0, 0) = 2� ���
 	
� ������� 
���	�� �� ������	��

�
��� ������ ���� �� N5,13 =
1

1152
c22α

2(n13,4c
2
2 − 6n13,5c3)(n13,6c

4
2 + 12n13,7c

2
2c3 − 12(Gv(0, 0) −

2)c23 + 24c2c4)� ���� 
���	�� 
���	 �� �
	
����	��� �� ��	
� �! �� ���� 
��� ���

n13,4 = 72 + 2Guuuv(0, 0) + 30Guvv(0, 0)H
′′(0)− 30Tuvv(0, 0, 0) + 3H ′′(0)Tuvv(0, 0, 0) = 0,

n13,5 = 4 +Guvv(0, 0)− Tuvv(0, 0, 0) = 0.

���
 	
� �� Guuuv = −6(H ′′(0)− 4)� Tuvv(0, 0, 0) = 4 +Guvv(0, 0) �

ek+1 =

16∑
j=14

N6,je
j
k +O(e17k ),

�
	�� N6,14 = − 1

2304
c2α(n14,1−24c2c4)(n14,2c

6
2−2n14,3c

4
2c3−12n14,4c

4
2c3−12n14,5c

2
2c

2
3+8n14,6c

3
3+

24(Tuv(0, 0, 0)− 2)c32c4 − 48(Tuv(0, 0, 0)− 2)c2c3c4)� ���	�


n14,2 = −18240 + 3600Gvv(0, 0)− 1000Gvvv(0, 0)− 3Guuvv(0, 0)(H
′′(0)− 10)2 +Gvvv(0, 0)H

(3)(0))

+8H ′′(0)H(3)(0)− 24H(4)(0) + (2304− 720Gvv(0, 0) + 300Gvvv(0, 0))H
(3)(0)

+(1080− 300Gvv(0, 0))Tuuw(0, 0, 0) + (−108H ′′(0) + 60Gvv(0, 0)H
′′(0)− 3Gvv(0, 0)H

′′(0)2

+8H(3)(0) +H(4)(0))Tuuw(0, 0, 0) + (1000− 300H ′′(0) + 30H ′′(0)2 −H ′′(0)3)Tvvv(0, 0, 0))

+(10800− 3000Gvv(0, 0))Tvw(0, 0, 0) + (−2160H ′′(0) + 900Gvv(0, 0)H
′′(0) + 108H ′′(0)2

−90Gvv(0, 0)H
′′(0)2)Tvw(0, 0, 0) + (3Gvv(0, 0)H

′′(0)3 + 80H(3)(0)− 8H ′′(0)H(3)(0)

+10H(4)(0)−H ′′(0)H(4)(0))Tvw(0, 0, 0)− 6Guuv(H
′′(0)− 10)(12− Tuuw(0, 0, 0)

+(H ′′(0)− 10)Tvw(0, 0, 0),

n14,3 = −5544 + 1020Gvv(0, 0)− 300Gvvv(0, 0) + 6Guuvv(0, 0)(H
′′′(0)− 10)− 16H(3)(0)−H(4)(0)

+(348− 132Gvv(0, 0) + 60Gvvv(0, 0) + 3Gvvu)H
′′(0) + (3Gvv(0, 0)− 3Gvvv(0, 0))H

′′(0)2

+(228− 60Gvv(0, 0) + 3H ′′(0))Tvvv(0, 0, 0) + (3360− 900Gvv(0, 0)− 396H ′′(0))Tvw(0, 0, 0)

+(6H ′′(0)2 − 9Gvv(0, 0) + 8H ′′(0)2 + 8H(3)(0) +H(4)(0) + 180Gvv(0, 0)H
′′(0))Tvw(0, 0, 0)

−6Guuv(0, 0)(−22 +H ′′(0) + Tuuw(0, 0, 0) + 2Tvw(0, 0, 0)(1− 2H ′′(0))),
n14,4 = 140 +Guuvv(0, 0)− 32Gvv(0, 0) + 10Gvvv(0, 0) + (−2 + 2Gvv(0, 0)−Gvvv(0, 0))H

′′(0)
+(−2 +Gvv(0, 0))Tuuw(0, 0, 0) + (10−H ′′(0))Tvvv(0, 0, 0) + 2Guuv(0, 0)(Tvw(0, 0)− 1)

+(−96 + 30Gvv(0, 0) + 4H ′′(0)− 36Gvv(0, 0)H
′′(0))Tvw(0, 0, 0),

n14,5 = 6 +Gvvv(0, 0)− Tvvv(0, 0, 0) + 3Gvv(0, 0)(Tvw(0, 0, 0)− 1)− 6Tvw(0, 0, 0),

n14,6 = −22 +H ′′(0) + Tuuw(0, 0, 0) + 10Tvw(0, 0, 0)−H ′′(0)Tvw(0, 0, 0).

�� �
�
� ���
� �"���	
� �
	 	��
� � Tuv(0, 0, 0)− 2 = 0� 
���	��
� 
���	 �� �
	
����	��� �� ��	
�

�#� $��
�
��	�
 ���� ������� �� ������
	�� 
���	��
�� Tvw(0, 0, 0) = 2� Tuuw(0, 0, 0) = 2 +H ′′(0)�
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���"�	��� �� &���	���



��� ���� �����	�	 
� �� 
��������
��

Gvvv(0, 0) = 6 − 3Gvv(0, 0) + Tvvv(0, 0, 0)� Guuvv(0, 0) = −2(2 + Guuv(0, 0) − H ′′(0)) � H(4)(0) =
12(H ′′(0)− 12) �

ek+1 = N7,15e
15
k +N7,16e

16
k +O(e17k ),

����	

N7,15 = − 1

6912
c22α(n15,1 − 24c2c4)(n15,2c

6
2 − 6n15,3c

4
2c3 + 12n15,4c

2
2c

2
3 + 24n15,5c

3
3 − 24n15,6c

3
2c4

−144(Tuvw(0, 0, 0)− 8)c2c3c4),


�	���

n15,2 = −147168− 3000Guuv(0, 0) + 46800Gvv(0, 0) + 9Guvv(0, 0)(H
′′(0)− 10)3

−36Gvv(0, 0)H
′′(0)3 + (24624 + 900Guuv(0, 0)− 12960Gvv(0, 0))H

′′(0) + (−1008

+− 90Guvv(0, 0)1188Gvv(0, 0) + 3Guvvv(0, 0))H
′′(0)2 + (−1776H(3)(0) + 300Gvv(0, 0)

+84H ′′(0)− 60Gvv(0, 0)H
′′(0) + 6H ′′(0)2 + 3Gvv(0, 0)H

′′(0)2 − 8H(3)(0))H(3)(0)

−6Guuv(0, 0)(H
′′(0)− 10)(156 +H(3)(0)− 30Tuvw(0, 0, 0) + 3H ′′(0)(Tuvw(0, 0, 0)− 4))

+(30240− 9000Gv(0, 0)− 5904H ′′(0) + 2700Gvv(0, 0)H
′′(0) + 288H ′′(0)2

−270Gvv(0, 0)H
′′(0)2 + 9Gvv(0, 0)H

′′(0)2 + 240H(3)(0)− 24H ′′(0)H(3)(0))Tuvw(0, 0, 0),

n15,3 = 17088− 300Guvvv(0, 0) + 4920Gvv(0, 0)− 9Guvv(0, 0)(H
′′(0)− 10)2 + (1584

+60Guv(0, 0)− 912Gvv(0, 0)H
′′(0))H ′′(0) + (−12− 3Guvvv(0, 0) + 42Gvv(0, 0))H

′′(0)2

+(−88 + 20Gvv(0, 0)− 2H ′′(0)(1−Gvv(0, 0)))H
(3)(0)(−88 + 20Gvv(0, 0)

−2(1−Gvv(0, 0))H
′′(0))H(3)(0) + 2Guuv(0, 0)(336 +H(3)(0) + 6H ′′(0)(Tuvw(0, 0, 0)− 5)

−60Tuvw(0, 0, 0)) + (3288− 900Gvv(0, 0)− 384H ′′(0) + 18Gvv(0, 0)H
′′(0)

+6H ′′(0)2 − 9Gvv(0, 0)H
′′(0)2 + 8H(3)(0))Tuvw(0, 0, 0),

n15,4 = −1512− 30Guvvv(0, 0) + 516Gvv(0, 0) + 9Guvv(0, 0)(H
′′(0)− 10) + (36 + 3Guvvv(0, 0)

−48Gvv(0, 0))H
′′(0) +Gvv(0, 0)H

(3)(0)− 6Guuv(0, 0)(Tuvw(0, 0, 0)− 6) + (288− 90Gvv(0, 0)

−48Gvv(0, 0))H
′′(0) +Gvv90, 0)H

(3)(0)− 6Guuv(0, 0)(Tuvw(0, 0, 0)− 6) + (288− 90Gvv(0, 0)

−12H ′′(0) + 9Gvv(0, 0)H
′′(0))Tuvw(0, 0, 0),

n15,5 = 3Guvv(0, 0) +Guvvv(0, 0) + 3(8− 6Gvv(0, 0)− (2−Gvv(0, 0))Tuvw(0, 0, 0),

n15,6 = 216 +H(3)(0) + 3H ′′(0)(Tuvw(0, 0, 0)− 6) + 30Tuvw(0, 0, 0).

�	
�
��	��� 	
 
�
�	�� n15,2 = 0� n15,3 = 0� n15,4 = 0� n15,5 = 0 � n15,6 = 0 ���	�	��
� Guvv(0, 0) =
1

3
(24 − Guvvv(0, 0) − 6Gvv(0, 0))� H

′′(0) = 0� H(3)(0) = 24� Guuv(0, 0) = 6 � Tuvw(0, 0, 0) = 8�
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�
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��	
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� ����� �	�������

ek+1 = − 1

48
c2
(
5c22 − c3)(α1 − 2c2c4

)
(α2 + 6c3c5) e

16
k +O(e17k ),

�
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���� �� �	 ��

��� ���

��� � ���
 �	�	 �����	� �	 ����
��� ������ �� 	����	� �
�	
����� �� ����	��� �	���
��	���� �� 
�� 
����	������ �� ��
!�� ������	� ���" 	�	��#	�� �����#	��� �	� $��
����� �� ����%	 ��� &���	� 	

������	
��� '��� (�)* � (���*+
 ,���� 
�� ��� �����
���	� �	-
�� ������� ξ.

f1(x) = log x2 + 1 + exp (x) sin (x)
 ξ = 0


f2(x) = 1 + exp (x3 − x)− cos (1− x2) + x3
 ξ = −1


f3(x) = (x− 2)(x10 + x+ 1) exp (−x− 1)
 ξ = 2�

����� ��� 
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��	 $�����	 �	 ��
����	��� �� '4���+ �	�	
��$������� �����	
����� ���
�	��� x0�

����	�� �
 ���
�� x0 ��� ��� �����

f1(x) ��) |x1 − ξ| ������ � ��55�� 6 ��567� �

|x2 − ξ| ���)/� �� )�75�� ��4 )���)� �6

|x3 − ξ| ���6�� 7�7 ��7/� �775 ���4�� 5�5

232 �)�� ���� ����

f1(x) � |x1 − ξ| ��477� 4 7��/)� / ���/5� 4

|x2 − ξ| ��)55� �� ������ /7 /��44� 4�

|x3 − ξ| ��64�� �)/ /�/�6� 7)� 5�4�5� )��

232 �)�� ���� ����

f2(x)  4 |x1 − ξ| ����4 ��667� ) 7��66� �

|x2 − ξ| /��) 4�)7/� )6 5���6� ��

|x3 − ξ| ���5)4 ��455� ��� )����� ��4)

232 8 ���� ����

f2(x)  ) |x1 − ξ| �����4 ��)4)6 6�5)� )

|x2 − ξ| ��4�4� / )���4� 6 6���4� )4

|x3 − ξ| )�45�� /� 7�4�5� 44/ 7��/4� /5�

232 8 ���� ���55

f3(x) 4�� |x1 − ξ| 4�)��� � /�455� �� )�46� �

|x2 − ξ| 5���6� /4 ������ ��5 /�)7�� 7/

|x3 − ξ| )�/�5� ��� 5�//�� 4�)6 /�)�5� ����
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Ĉ → Ĉ
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g(A−1(z))g′(A−1(z))
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A−1(z)− g(A−1(z))
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 ��� �������#
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�� !������ �� ��$ �� )�*+ ��� 
������ �� ������������ ������ � �����$ 1��� ������������� ����
����������� �&����� ���������� ���� �������� �� �������� �� ���������� �� ������� �������� ��� ������
����(�����
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��� 3���	 �� )���+
 �������� �� �� ���������
� �� ��� �&����� ���������� �� 
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������������
 ���� �	����� �� �&���� �� ����� p1p2$ 2� ������������
 "�	���������� �� ���������
������ ������������ �� �� ������ 7���	���� � �� �� �����
� �� ������ ���� ����������� �� ����� ��
������������ � �� ����� �&���� ����� ���	�� ������ ����� �������� ��� ��� �&����� ����������$ ,�
"��"�
 �� ���������� �� �&���� �� �����
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� g(x) �� ����� p ��� �� �&���� �� 8�9���
��'����
 �� �	����� �� ����� �&���� �� ����� 2p ��� �������� n2 + n ������������ ����������� �'�
��� g(x)$ ,� ���� ��� ���� ��������� �� �&���� �'� ��������
 �� )�:+ �� ������ �� �� ����� ����
��� �&���� ��������� �� ������ 7���	����
 F ′(g(x(k)))
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� ���������$ !����������� �� ���	����
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� �� ����� ����(���� ��� ����� �� �&�����
����������$ 2� �&���� �'� �������� � ����������� ��������� �� �� �&���� ��'���� �� 8�9���


x(k+1) = x(k) − [F ′(x(k))]−1F (x(k)). �;$�#
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� ��� ���'� ���� �� ��'� ������� ����6�� ���
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 ��� ����� ��� �(�����
�

y(k) = x(k) − 2

3
[F ′(x(k))]−1F (x(k)),

x(k+1) = x(k) − [6F ′(y(k))− 2F ′(x(k))]−1(3F ′(y(k))− F ′(x(k)))[F ′(x(k))]−1F (x(k)), �;$�#

� ��� ����������� �� �������� ��� =�,*7$

2� �� ��������� ������� ���������
 ����4��� ��� �"���� �� ��$ �� )�:�+ �� �������� �� ������ ����
����� �� �&���� ��������
 �������� ��� �� �� ������� �� ������� �� �������� �&���� �� 8�9���
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 �� ���
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 �� ����� ���	���	 ����

y(k) = x(k) − 2

3
[F ′(x(k))]−1F (x(k)), �����

x(k+1) = x(k) − 1

2

[
−I +

9

4
F ′(y(k))]−1F ′(x(k)) +

3

4
[F ′(x(k))]−1F ′(y(k))

]
[F ′(x(k))]−1F (x(k)),

��� �����
	���� ��	 ������

�� ��	��	 ������ ��� ������
	���� �� �����	
� �	���
� ����	��
�
 �����
�� ��	 �����
  �� ����!
���� ��	 "�
� �� 
�� �� #�$ 
 �
	��	 �� �
 ������
��%� �� ��� ������� �� &�'��� ( )	
��
 ������
�� �*�	���%� ���	
��+


z(k) = x(k) − [F ′(x(k))]−1(F (x(k)) + F (y(k))),

x(k+1) = y(k) − [F ′(z(k))]−1F (y(k)), �����

����� y(k) = x(k) − [F ′(x(k))]−1F (x(k))�

" �������
��%� ����	
	���� ��� ������� �� �	��� �� ���+�	,����
 5 ��� ��	-� ����
	
��� ��� ���
�����	��� ���	� ����� ������� �� ������ �������� ��	 .
�����+
 �� #���$
 ,���	
���
��� �� ������
�� /
		
��
 ��0�	
��� �� �	��� �� ���+�	,����
 �� ���� 
1
������ ��
 �+
��
��%�  ������
�


y(k) = x(k) − α[F ′(x(k))]−1F (x(k)), ���2�

x(k+1) = y(k) − [a1F
′(x(k)) + a2F

′(y(k))]−1(b1F
′(x(k)) + b2F

′(y(k)))[F ′(x(k))]−1F (y(k)),

����� α = −1
 a1 = 1
 a2 = 5
b1 = −3
b2 = −1� �����
	���� ���� ������
 ��	 ���2��

3�	� ������
 ��� �� ��� ����
	
���
 �����
�� ��	 ���2�
 �� �� �	������� ��	 �4
	�
 �� 
�
�� #�5�$� 6��� ������ �� �	�� �
��� ��� ����� ���� �
�� �� ������
 �� 7�����	
 ��(
 �*�	���%�
���	
��+
 ��

y(k) = x(k) − 1

2
[F ′(x(k))]−1F (x(k)),

z(k) = x(k) − [F ′(y(k))]−1F (x(k)),

x(k+1) = z(k) −
(
[aF ′(y(k))]−1 + b[F ′(x(k))]−1

)
F (z(k)), ���8�

����� a = 2
 ( b = −1�

�� ��	��	 ������
 �� �	��� 2 ��� �������
	����  �� ���
		���
�� ��	 "		�(� �� 
�� �� #9$
 ���
�����
	���� ��	 ���2"�
 ������ �� �*�	���%� ���	
��+


z(k) = y(k) − 5[F ′(x(k))]−1F (y(k)),

x(k+1) = z(k) − 1

5
[F ′(x(k))]−1[−16F (y(k)) + F (z(k))], �����

����� y(k) = x(k) − [F ′(x(k))]−1F (x(k))�

�� ��,������ ������
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  �� ����1
�� ��	 "�
� �� 
� �� #�$ ( �
����� �� ������� 

�
	��	 �� �
 ������
��%� �� �� ������� �� &�'��� ( )	
��� ���� ����� ��	 �*�	���%�

z(k) = x(k) − [F ′(x(k))]−1(F (x(k)) + F (y(k))),

x(k+1) = z(k) − [F ′(y(k))]−1F (z(k)), ���:�

����� y(k) = x(k) − [F ′(x(k))]−1F (x(k))
 ( �� �����
	���� ��	 ���2"��

;��+�	���
� <���������
 �� .
�����
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���� 	� �	����	 	� 	� �������� ��  
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�
���� �	 	������ ��
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����� �	 ��� ������ � �	 
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	�� �����"���� 	� ���	� �	 
���	�
	�
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�	 ��� ������� �	�������	� �� ������ ��
	����� ����� 
�� �� ����� ���
��� �	�� � ���� ��� 	�����
���

���
����� �#�� $�����	��	� �	 ��	����� ��� ���	��� ������
�� ��	����� � 
��� ���� 	�����	
	� ��

	!
�	�
�� � ������	" �	 ��� ������� �����	����� ��������� �� 	���������� �	��	
�� � �� 	�����
���

���
��� 	� 	� ����� �	��� ���� ��
��� �	 ��� 	%	������

���� �����	 
� �	� �
�	
	� � �������� 
� �� �	����������

&�� ���	� �	 
��� ��������
�� 	� �� ���	�#��
� ������
� � �� ����
�
��� 	� 	� ���	�� �	 �������

���� �� ����'���
��� �	 ��� ����
���	� �	 ����	��� �	 	
��
���	� �� ���	��	�� (������� ��	�	������

	� ����	� ��
�� �� ��	�� ������ ���� �� ����
��� �	 ����	��� �	 	
��
���	� �� ���	��	�� ������ ��

��
��
� �	 ���
���	� �	���

y(k) = x(k) − α[F ′(x(k))]−1F (x(k)),

x(k+1) = y(k) −H(η(k))[F ′(x(k))]−1F (y(k)), )*�+,

����	

η(k) = m1I +m2[F
′(y(k))]−1F ′(x(k)) +m3[F

′(x(k))]−1F ′(y(k)). )*��-,

.	������� � 	��� 
���	 �	 �������� 
��� ���	� �	 
���	�
	�
�� �	�������	��� /�	 	� 
��
� ��%�
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 �	�#� �	 	� ���� �	����	� ����	��� �	 	
��
���	� �� ���	��	�� ��������� �����"�� )*�+, 	� �� ����
���

�	 	
��
���	� �� ���	��	�� �	�� 
�� 	� ��
���	��	��	 �	 /�	 ���� 	
��
���	� �� ���	� �	 
���	�
	�
��

�� 	� ������� .	 �/�� ���
	 �� ��	� �	 	�
������ �� ������ ������� 	� �	
�� �	 ���	� 
������ /�	

��� �	� 2��� ���� �	����	� 	
��
���	� �� ���	��	�� ��� 
��� ������� ���� ����	��� �	 	
��
���	�

�� ���	��	�3 �� ������ /�	 
����	 	��� 
���
�	�����
�� �� 4	��� �	������ ��� 015� 
��� 	���	����

��	������ 	�

y(k) = x(k) − α[F ′(x(k))]−1F (x(k)),

x(k+1) = y(k) −H(η(k))[F ′(x(k))]−1F (x(k)). )*���,

6�����	�	 /�	 �� ���
��� �	�� H� �����"��� 	� ��� 	'��	����	� )*�+, � )*���,� 	� ��� ���
��� �����
���
�	 �������	 �����
���� ���
�	���	��	� �� X = Rn×n �	���� 	� 	���
�� �	 7���
4 �	 ��� �����
	�


�������� �	��	� �	 ������ n × n� 	����
	� ���	��� �	!��� H : X → X ��� /�	 ��� �	�������

$�	
4	� �������
	�8

�, H ′(u)(v) = H1uv� ����	 H
′ : X → L(X) � H1 ∈ R�

�, H ′′(u, v)(w) = H2uvw� ����	 H
′′ : X ×X → L(X) � H2 ∈ R�

(��	��� /�	 L(X) �	���� 	� 	���
�� �	 ��� ����
�
���	� ���	��	� �	 X 	� �� ������

9��� �	������� �� 
���	�
	�
�� ��
�� �	 ��	���� ���
	�� ��	������ � �� ����
��� ξ �	 F (x) = 0
�����"��	��� 	� �	�������� 	� �	��	 �	 ������� �	 ��� ���
���	� ������
����� 	� ����� � �� ����
���
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��
� �	 :��	�
��



��� ���� �����	 
� �	� �
�	
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�����	
�� 
�	 �� ������ �������
� F ′(x) 	� 
� ��
����� 	
 �
 	
���
� �	 ξ�

F (ξ + h) = F ′(ξ)[h+

p−1∑
q=2

Cqh
q] +O(hp) ������

��
�	 Cq = ( 1
q!)[F

′(ξ)]−1F (q)(ξ), q ≥ 2.

���� ���	��� 	���	��� F ′ ����

F ′(ξ + h) = F ′(ξ)[I +
p−1∑
q=2

qCqh
q−1] +O(hp) ������

��
�	 I 	� �� ������ ��	
������  ��� �!�
���� "�
�� ��
 �� 
�����#
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 	� %������� ��
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�	� �	�������� ������	��� ��"� 
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�����
	� 	��& ��	������ �� ��
'	��	
��� 	
 ���

�!����� �����	����� �
�����
�� �������� �� 	(��	
����

��	���� ����� ��� F : Ω ⊆ R
n → R

n ��� �����	� 
��������
���� ������������� �� Ω � 
�� ξ ∈ Ω
��� 
�����	� ��� 
�
��
� �� ���������
 �� �������
 F (x) = 0� �������
�
 ��� F ′(x) �
 �������� �

�� 
������� �� ξ� ��� H : Rn×n → R
n×n ��� �����	� ��
� 
�������� 
��������
���� �������������

��� ��� H(I) = I� H1 = 1
m2−m3

� � H2 = m2−5m3
2(m2−m3)3

� 
����� I �� 
����� ���������� ���
�����
�


x(0) ��� �
��
���	� ������� 
��������
���� ��	��
� � ξ� �������
� �� 
���
�	� {x(k)}k≥0 ��������

�
���� �� �����
�	� ���� ���!���� � ξ ��� ����� �� ���!�������� ����� 
� α = 1 � m1+m2+m3 = 1�
"
#� ������
�
 �� 
�������� ������	� �� ������

e(k+1) =

[
2m2

2 + 14m2
3

m2 −m3
C4
2 +

1

2
(C2C3C2 − 3C3C2)

]
e(k)

5
+O(e(k)

6
),

����� Cq =
1
q! [F

′(ξ)]−1F (q)(ξ), q ≥ 2 � e(k) = x(k) − ξ�

���	��������� )	 ������ * ������ ���	
	���+

F (x(k)) = F ′(ξ)[e(k) + C2e
(k)2 + C3e

(k)3 + C4e
(k)4 + C5e

(k)5 ] +O(e(k)
6
), ����,�

F ′(x(k)) = F ′(ξ)[I + 2C2e
(k) + 3C3e

(k)2 + 4C4e
(k)3 + 5C5e

(k)4 + 6C6e
(k)5 ] +O(e(k)

6
).����-�

)	 �� 	���	��#
 �
�	���� �	
	���

F ′[(x(k))]−1 = [I +X2e
(k) +X3e

(k)2 +X4e
(k)3 +X5e

(k)4 +X6e
(k)5 ][F ′(ξ)]−1 +O(e(k)

6
), ������

��
 X1 = I� Xm = −∑m
j=2 jXm−j+1Cj � m = 2, 3, ...

.����� ����,� * ������

[F ′(x(k))]−1F (x(k)) = e(k) +A2e
(k)2 +A3e

(k)3 +A4e
(k)4 +A5e

(k)5 +O(e(k)
6
), ������

��
 A2 = −C2� As = Cs +
∑s

j=3Xs−j+2Cj−1 +Xs� s = 3, 4, ...�

� ������ �	 ������� ���	
	���

y(k) = x(k) − α[F ′(x(k))]−1F (x(k))

= ξ + (1− α)e(k) − αA ����/�

.
�'	������ 0����!�
��� �	 1��	
���
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����	��
� �� �	�
��
� ���

��� A = A2e
(k)2 +A3e

(k)3 +A4e
(k)4 +A5e

(k)5 +O(e(k)
6
)

�� 	
����
��� ������

F (y(k)) = F ′(ξ)[B1e
(k) +B2e

(k)2 +B3e
(k)3 +B4e

(k)4 +B5e
(k)5 ] +O(e(6)), ������

F ′(y(k)) = F ′(ξ)[I +D1e
(k) +D2e

(k)2 +D3e
(k)3 +D4e

(k)4 ] +O(e(k)
5
), ������

�����

B1 = 1− α,

B2 = (α+ (1− α)2)C2,

B3 = −αA3 + 2α(1− α)C2
2 + (1− α)3C3,

B4 = −αA4 + α2C3
2 − 2α(1− α)C2A3 + 3α(1− α)2C3C2 + (1− α)4C4,

B5 = −αA5 − 2α(1− α)C2A4 + α2(C2
2A3 + C2A3C2) + 3α2(1− α)C3C

2
2 − 3α(1− α)2C3A3,

+ 4α(1− α)3C4C2 + (1− α)5C5,

�

D1 = 2(1− α)C2,

D2 = 2αC2
2 + 3(1− α)2C3,

D3 = −2αC2A3 + 6α(1− α)C3C2 + 4(1− α)5C4,

D4 = −2αC2A4 + 3α2C3C
2
2 + 12α(1− α)C3A3 − 3α(1− α)2C4C2 + 5(1− α)4C5.

�
����
��� ������

[F ′(y(k))]−1 = [I + Y1e
(k) + Y2e

(k)2 + Y3e
(k)3 + Y4e

(k)4 ][F ′(ξ)]−1 +O(e(k)
6
), ������

��� Y1 = −D1, Ym = −Dm −∑m−1
j=1 YjDm−j ,m = 2, 3, ...j = 1, 2, ...

�
�
 u(k) = [F ′(y(k))]−1F ′(x(k))� 	�
��� ������ � ������� 
������

[F ′(y(k))]−1F ′(x(k)) = I + E1e
(k) + E2e

(k)2 + E3e
(k)3 + E4e

(k)4 + E5e
(k)5 +O(e(k)

6
),

������ E1 = 2C2+Y1, Es = (s+1)Cs+1+
∑s−1

j=1(s−j+1)Yj+1Cs−j+1+Ys+1, s = 2, 3, . . . j = 1, 2, . . .

����
�  
�
 v(k) = [F ′(x(k))]−1F ′(y(k))� 	
����
��� ����!� � ������

[F ′(x(k))]−1F ′(y(k)) = I + F1e
(k) + F2e

(k)2 + F3e
(k)3 + F4e

(k)4 + F5e
(k)5 + (e(k)

6
),

��� F1 = D1 +X2, Fm = Dm +
∑m−1

j=1 Xj+1Dm−j +Xm+1,m = 2, 3, . . . j = 1, 2, . . .

�
�
 η(k) = m1 +m2u
(k) +m3v

(k)�

η(k) = mI +N2e
(k) +N3e

(k)2 +N4e
(k)3 +N5e

(k)4 +N6e
(k)5 +O(e(k)

6
). ������

���"�����
� ����
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 �� $
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� �	� �
�	
	� � �������� 
� �� �	����������

��� Ni = m2Ei−1m3Fi−1� i = 2, 3, . . . � N1 = m− 1	 
 ��
��
 �� ��	����

η(k) − I ≈ N1I +N2e
(k) +N3e

(k)2 +N4e
(k)3 +N5e

(k)4 +N6e
(k)5 ,

(η(k) − I)2 ≈ N2
1 I +M1e

(k) +M2e
(k)2 +M3e

(k)3 +M4e
(k)4 +M5e

(k)5 , ��	���

�����

M1 = N1N2 +N2N1,

M2 = N1N3 +N2
2 +N3N1,

M3 = N1N4 +N2N3 +N3N2 +N4N1,

M4 = N1N5 +N2N4 +N2
3 +N4N2 +N5N1,

M5 = N1N6 +N2N5 +N3N4 +N4N3 +N5N2 +N6N1.

����

������� �� ��
�� �� �����
 H(η(k)) ��
�����
 �� �� �������

H(η(k)) ≈ H(I) +H1(η
(k) − I) +

1

2
H2(η

(k) − I)2, ��	���


��
�� ����������� ��	��� �� ��	���� ����������

H(η(k)) = h1I + h2e
(k) + h3e

(k)2 + h4e
(k)3 + h5e

(k)4 + αe(k)
5
+O(e(k)

6
), ��	� �

������ h1 = H0 +H1N1 +
1
2H2N

2
1 , hj = H1Nj +

1
2H2Mj−1� j = 2, 3, ...� ����� H0 = H(I)	

!"�������� �� �
������ �� ��	�#� � ��	�$�

[F ′(x(k))]−1F (y(k)) = R1e
(k) +R2e

(k)2 +R3e
(k)3 +R4e

(k)4 +R5e
(k)5 +O(e(k)

6
) ��	�#�

��� R1 = B1, Rs = Bs +
∑s

j=1Xj+1Bs−j , s = 2, 3, ...j = 1, 2, ...

%����&���� ��	� � � ��	�#�

H(η(k))[F ′(x(k))]−1F (y(k)) = S1e
(k) + S2e

(k)2 + S3e
(k)3 + S4e

(k)4 + S5e
(k)5 +O(e(k)

6
)��	���

��� S1 = h1R1, Sm =
∑m

j=1 hjRm−j+1,m = 2, 3, ...j = 1, 2, ...

����

������� �� ��'���� ���� �� ��	$�� ������ ��	���

x(x+1) = y(k) −H(η(k))[F ′(x(k))]−1F (y(k)). ��	���

!(�
����� �� "�
�� '���
��� �� ������)� ��� �

�
 ��

e(k+1) = T1e
(k) + T2e

(k)2 + T3e
(k)3 + T4e

(k)4 + T5e
(k)5 +O(e(k)

6
), ��	�$�

������ T1 = 1− α− S1 � Tj = −[αAj + Sj ]* j = 2, 3, . . .	

���'���� �� ������ +�� �� T1 = 0� �� �
��� ��
, �� ����� �* �� ����,� T2 = 0� �
��� 3 � ��-

������.������	 ����

������� T1 ���� � �����

T1 = 1− α− S1 = 1− α− h1R1 = 1− α− h1B1 = (1− α)− h1(1− α) = (1− α)(1− h1) = 0.

%��.�
����� /����0����� �� 1�������
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����	��
� �� �	�
��
� ���

�� ���	
� ��
 α = 1 � h1 = 1� ����
���� �
��
 ����

��	�	��
�� h1 = 1 � H0 = I ����
����

T2 = αA2 + S2 = (α− 1)[(α+ 1)C2 + h2] = 0,

�� ��
�� α = 1 
�� �
���
�	�
� �
��
 �
���

��
� T3 = αA3 + S3 = 0� ��
���� ���

αA3 + S3 = A3 + h1R3 + h2R2 + h3R1

= −2C2
2 − 2C3 +R3 + h2C2

= −2C2 + (H1N2 +
1

2
H2M1)C2

= [−1 +H1(m2 −m3)]2C
2
2 . ����� 

!� ����	��	
 H1 =
1

m2−m3
�
 ����� �� �
��
 �� ����
��

!"�
� ��
� T4 = αA4 + S4 = 0� � ��	�	��
�� H1 =
1

m2−m3
� �� ���	�
�

αA4 + S4 = A4 + h1R4 + h2R3 + h3R2 + h4R1

= 9C3
2 − 4C2C3 − 3C3C2 + h2R3 + h3R2

=

[
1− 2(m2 − 3m3)

m2 −m3
+ 2H2(m2 −m3)

2

]
C3
2 . ����� 

#	 ����	��	��� H2 =
m2−5m3

2(m2−m3)3
�
 ����� �� �
��
 �� �	
���

! ��
�	
���	�
 ����	��	��� �
 T5 = αA5 + S4 ��� ��
�	�	�
�� �$	%	��� �
��
	�
��
��

αA5 + S5 = A5 + h1R5 + h2R2 + h3R1

= −30C4
2 + 18C2

2C3 + 14C2C3C2 − 6C2C4 + 12C3C
2
2 − 6C2

3 − 4C4C2 + h2R4 + h3R3 + h4R2

=

[
−1

2
C2C3C2 +

3

2
C3C

2
2 − 2m2

2 + 14m2
3

(m2 +m3)2

]
C4
2 , ����� 

� �� � ��
�	
 �� ���� �$�
��	�
 ��� ����
���� �� �����	�
 ��� �

�


e(k+1) =

[
2m2

2 + 14m2
3

m2 −m3
C4
2 +

1

2
(C2C3C2 − 3C3C2)

]
e(k)

5
+O(e(k)

6
),

��
 �� ��� �� ������
��	�
 ����� &
��	����� �

��
�	�
�� ��� �'���� ���� � ��(� ��� "	�����	� ��� )��
��� ������ ����
���� ��� �������� 	��
��	*��

��
�
���� �� �
��
 5�

�$	%	�
�� ��� m1 = m3 =
1
2 � m2 = 0� �� ���	�
� �	
������
�� �� ���	��
 �� )��
��� ����� ���

H(I) = I� H1 = −2� � H2 = 10� +� ���� ����� ����
���� �� �
����� 	��
��	*� �� �$�
��	�


y(k) = x(k) − [F ′(x(k))]−1F (x(k))

x(k+1) = y(k) −H(η(k))[F ′(x(k))]−1F (x(k)), ����� 

��
�� η(k) = 1
2I +

1
2 [F

′(x(k))]−1F ′(y(k)) �

H(η(k)) =
13

4
I − 7

2
[F ′(x(k))]−1F ′(y(k)) +

5

4
[F ′(x(k))]−1F ′(y(k))[F ′(x(k))]−1F ′(y(k)).

! ���� ������� �� ��
������ ��
 ,#+-��

�
	*�
�	��� ���	�'�
	�� �� .���
�	�



��� ���� �����	 
� �	� �
�	
	� � �������� 
� �� �	����������

�� ���	
�� ��
	��� ��������� �� ����� ��
����� ��� ������ � �� ���
� ����
��
�� ���

���	��
��� ��
�����
��� m1 = m3 = 0� � m2 = 1� ��
 �� 
	� ��  ������ !"�"� ������� 
	�
H(I) = I� H1 = 1� � H2 =

1
2 " #� �$�����%
 ��������� ���	���
�� ��

y(k) = x(k) − [F ′(x(k))]−1F (x(k))

x(k+1) = y(k) −H(η(k))[F ′(x(k))]−1[F (x(k))], &!"�'(

��
�� η(k) = [F ′(y(k))]−1F ′(x(k)) �

H(η(k)) =
1

4
I +

1

2
[F ′(y(k))]−1F ′(x(k)) +

1

4
[F ′(y(k))]−1F ′(x(k))[F ′(y(k))]−1F ′(x(k)).

�� �������)���� �
 &!"*( �� ����	���%
 +	
���
�� ��� ���	
�� ���� F (y(k)) ��� F (x(k))� �� ����
 ��
��
�����
��� ��� �,���� ���	���
��� ��'� �� ���	�� � �	����� ���� �� ���	����� �
 �� ���	��
��

���	�����"

��	���� ����� ��� F : Ω ⊆ R
n → R

n ��� �����	� 
��������
���� ������������� �� Ω � 
�� ξ ∈ Ω
��� 
�����	� ��� 
�
��
� �� ���������
 �� �������
 F (x) = 0� �������
�
 ��� F ′(x) �
 �������� � ��


������� �� ξ� ��� H : Rn×n → R
n×n ��� �����	� ��
� 
�������� 
��������
���� ������������� ��� ���

H(I) = 1
3I� H1 =

3
4(m2−m3)

� H2 =
3(m2−3m3)
4(m2−m3)3

� 
����� I �� 
����� ���������� ���
�����
�
 x(0) ���

�
��
���	� ������� 
��������
���� ��	��
� � ξ� �������
� �� 
���
�	� {x(k)}k≥0 �������� �
���� ��

�����
�	� ����� ���!���� � ξ ��� ����� �� ���!�������� ������ 
� α = 2/3 � m = m1+m2+m3 = 1�
����������
� �� 
�������� ������	� ��� �����

e(k+1) =

[
1

9(m2 +m3)2
(13m2

2 − 26m2m3 + 45m2
3)C

3
2 − C3C2 +

1

9
C4

]
e(k)

4
+O(e(k)

5
),

����� Cq =
1
q! [F

′(ξ)]−1F (q)(ξ), q ≥ 2 � e(k) = x(k) − ξ�

���	��������� -��� �� .
��� ��+���
��� �
��� �� �,���� &!"*( � &!"��( �� 
	� �
 �� ���	
�� ����

��� �,���� &!"*(� �� �	����	�� F (y(k)) ��� F (x(k))� ��)%
 ��� �� 
	� �/��
���� �� �$�����%
 ���	��
��

H(η(k))[F ′(x(k))]−1F (x(k)) = L1e
(k) + L2e

(k)2 + L3e
(k)3 + L4e

(k)4 +O(e(k)
5
) &!"��(

��
 L1 = h1, Lm =
∑m−1

j=1 hjAm+j−1 + hm,m = 2, 3, ...

0����)�
�� &!"��( � &!"��(

x(k+1) = y(k) −H(η(k))[F ′(x(k))]−1F (x(k)) &!"�1(

�

e(k+1) = W1e
(k) +W2e

(k)2 +W3e
(k)3 +W4e

(k)4 +O(e(k)
5
), &!"�!(

���
�� W1 = 1− α−L1 � Wj = −[αAj +Lj ]� j = 2, 3, ..." �� W1 = 0� �� �/���
� ����
 22 �� ����3�
W2 = 0� ����
 3 � ��4 �	��������
��"

W1 = 1−α−L1 = 0� �� ������ h1 = 1−α ���������
� ����
 ���" �� �
	4�H0+H1N1+
1
2H2N

2
1 = 1−α

� ���� N1 = 0� ��
���� 
	� H0 = 1− α"

0
��������� 5����,�
��� �� 6���
���
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����	��
� �� �	�
��
� ���

W2 = αA2 + L2 = 0� ������	
�� h1 = 1− α 
 M1 = 0

αA2 + L2 = αA2 + h1A2 + h2

= αA2 + (1− α)A2 + h2

= A2 + h2

= A2 +H1N2 +
1

2
H2M1

= −C2 +H1(m2E1 +m3F1)

= [−1 +H12α(m2 −m3)]C2 ������

�������
�
�� H1 =
1

2α(m2−m3)
�
 ������ ����
���� ����
 �����

�	�	 W3 = αA3 + L3 = 0� ��
���� ����

αA3 + L3 = αA3 + h1A3 + h2A2 + h3

= (α+ h1)A3 + h2A2 + h3

= A3 − h2C2 + h3

= 2C2
2 − C3 −

[
H1N2 +

1

2
H2M1

]
C2 +H1N3 +

1

2
H2M2

= −2C2
2 − C3 −H1[N2C2 −N3] +

1

2
H2M2

=

(
1− 3

2
α

)
C2 +

[
−2 +

2αm2

(m2 −m3)
+ 2α2H2(m2 −m3)

2

]
C2
2 . ������

�������
�
�� �
 ������ α = 2
3 
 H2 =

3(m2−m3)
4(m2−m3)3

� ����
���� ����
 ��	����

�
�������	� ����� �
��	 �� !	��
��	



��� ���� �����	 
� �	� �
�	
	� � �������� 
� �� �	����������

���� ��	���
���� �� ��
����� �� ���
� 
�������
	 W4 = αA4 + L4

αA4 + L4 = αA4 + h1A4 + h2A3 + h3A2 + h4

= αA4 + (1− α)A4 + h2A3 + h3A2 + h4

= A4 + h2A3 + h3A2 + h4

= −4C3
2 + 4C2C3 + 3C3C2 − 3C4 + h2(2C

2
2 − 2C3)− h3C2 + h4

= −4C3
2 + 4C2C3 + 3C3C2 − 3C4 +

(
H1N2 +

1

2
H2M1

)
(2C2

2 − 2C3)

−
(
H1N3

1

2
H2M2

)
C2 +H1N4 +

1

2
H2M3

= −4C3
2 + 4C2C3 + 3C3C2 − 3C4 +H1N2(2C

2
2 − 2C3)−H1N3C2 +

1

2
H2(N1N3

+N2
2 +N3N1)C2 +H1N4 +

1

2
H2(N1N4 +N2N3 +N3N2 +N4N1)

= −4C3
2 + 4C2C3 + 3C3C2 − 3C4 +H1(m2E1 +m3F1)(2C

2
2 − 2C3)

−
(
H1N3

1

2
H2N

2
2

)
C2 +H1N4 +

1

2
H2(N2N3 +N3N2)

= −4C3
2 + 4C2C3 + 3C3C2 − 3C4 + 2C2

2 − 2C3 − 2C3C2 + C3
2 +

16

9
C3
2 − 10

3
C2C3 − 4

3
C3C2

+
26

9
C4 − 56m3

9(m2 −m3)
C3
2 +

8m3

3(m2 −m3)
(C2C3 + C3C2) +

m2 − 3m3

(m2 −m3)3
4

3
(m2

−m3)
2(C2C3 + C3C2 − 3C3

2 ) +
m2 − 3m3

(m2 −m3)3

(
16

9

)
m2(m2 −m3)C

3
2

= C3C2 − 1

9
C4 +

[
7

9
+

16m2
2 − 48m2m3 − 56(m2m3 −m2

3)− 36(m2
2 − 4m2m3 + 3m2

3)

9(m2 −m3)2

]
C3
2 .

�� 	
	���
�� �� �� ����
�� ������
� ��	 �
�����
��	 �������	 �
� ������
������ �
���
	 �������� �
�

�� ��
����� �� ���
� �
���	�
������� �� ���
�
 �� ��! �	"

e(k+1) =

[
1

9(m2 +m3)2
(13m2

2 − 26m2m3 + 45m2
3)C

3
2 − C3C2 +

1

9
C4

]
e(k)

4
+O(e(k)

5
),

�
� �
 �
� �
�������
	 �� ���
	������� �

#
���
��
	 �
� �� ���
�
 �	 �� 
���� �
���
� �
� �
 �
�� �� �� �
�����
 �� ��
���
��	 �� 
�

������$��� 	��%� �����
 	��&� �� �
�'��
�� �� (
�� ) *��
$ 

��������
 ��� ���
�
 �� ��!� $�'
 ��	 �
�����
��	 ���
�	��	 �� �� *�
���� � � �� 
$�����
	 �
	

�	�
���	 ��������
	 ������
����	 �� 
���� 4 

+�������
 �
� m1 = 0� m2 = 1� m3 = 0� ��	 �
�����
��	 ��� *�
���� � � � �������� H(I) = 1
3I�

H1 =
3
4 � ) H2 =

3
4  ,� �����	��� ��������� ��� ���
�
 ��	
������ �	

y(k) = x(k) − 2

3
[F ′(x(k))]−1F (x(k)),

x(k+1) = y(k) −H(η(k))[F ′(x(k))]−1F (x(k)), �� -.!

�
��� η(k) = [F ′(y(k))]−1F ′(x(k)) )

H(η(k)) = − 1

24
I +

3

8
[F ′(y(k))]−1F ′(x(k))[F ′(y(k))]−1F ′(x(k)).
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����	��
� �� �	�
��
� ���

�� ����	
� �����
� �� 
�	�����
�� ��� ������ � ������� 
� ���� ��� ����
����� m1 = 1
4 �

m2 = 0 � m3 = 3
4 �	 �� �����
� ������ �	��	 ��� H(I) = 1

3I� H1 = −1� � H2 = 4� ���
�	
�
�� �!����"#	 "�����"$�

y(k) = x(k) − 2

3
[F ′(x(k)]−1F (x(k)),

x(k+1) = y(k) −H(η(k))[F ′(x(k))]−1F (x(k)), %����&


�	
� η(k) = 1
4I +

3
4 [F

′(x(k))]−1F ′(y(k)) �

H(η(k)) =
53

24
I − 3[F ′(x(k))]−1F ′(y(k)) +

9

8
[F ′(x(k))]−1F ′(y(k))[F ′(x(k))]−1F ′(y(k)).

���� �����	
�� � �
����	 	���

�
�	

�� "	������	�� ���� ��
�	
�  �
� '��� ��� �������
�� 
�� �����
� ������ ��
�
�� ��	���� 
(��
��


� ��
�	 �����"�� � 5� �� ��� ���  �	�"��� �	 �)�
"� �	 ���� 
�� �� �����
� %��*&� 
�	��	"�	
� ��

+�	 "#	 ����� �� ���� 
�
�� �� �!����"#	 "�����"$� ����,

y(k) = x(k) − α[F ′(x(k))]−1F (x(k)),

z(k) = y(k) −H(η(k))[F ′(x(k))]−1F (y(k)), %����&

x(k+1) = z(k) −H(η(k))[F ′(x(k))]−1F (z(k)),


�	
�

η(k) = m1I +m2[F
′(y(k))]−1F ′(x(k)) +m3[F

′(x(k))]−1F ′(y(k)). %����&

�	 �� �"��"�	�� �������
� ���'�
�� ���� '��� ��� 
"�
��  �	
" "�	�� ��� �	 �� �����
� ������ ��

��
�	 
�  �	$����	 "� ��
�	�� �	 
�� �	"
�
���

�
��
�� ����� ��� F : Ω ⊆ R
n → R

n ��� �����	� 
��������
���� ������������� �� Ω � 
�� ξ ∈ Ω
��� 
�����	� ��� 
�
��
� �� ���������
 �� �������
 F (x) = 0� �������
�
 ��� F ′(x) �
 �������� �

�� 
������� �� ξ� ��� H : Rn×n → R
n×n ��� �����	� ��
� 
�������� 
��������
���� �������������

��� ��� H(I) = I� H1 = 1
m2−m3

� � H2 = m2−5m3
2(m2−m3)3

� 
����� I �� 
����� ���������� ���
�����
�


x(0) ��� �
��
���	� ������� 
��������
���� ��	��
� � ξ� �������
� �� 
���
�	� {x(k)}k≥0 ��������

�
���� �� �����
�	� ���� ! ���"���� � ξ ��� ����� �� ���"�������� 
���� 
� α = 1 � m1+m2+m3 = 1�

�
�������	��� -�� ."�#���"� 
�� �����
� 	�� �������	 ��� �� ��
�	 
�� 
(��
�� �	 �� ����	
�

�����

z(k) = y(k) −H(η(k))[F ′(x(k))]−1F (y(k)) %����&

��  "	 �� ���" �	
� �� �����
� ������ ��/� 
�	���
�� �� ����� �	 ���� ���� ��� E = z(k)−ξ = O(e(k)
5
)�

�"�	
� �� � �� "#	 
�� ����� 
�� 
(��
�

e(k+1) = x(k+1) − ξ = E −H(η(k))[F ′(x(k))]−1F (z(k)). %���0&

1	"$���"
�
 2��"�( 	" � 
� 3���	 "�



��� ���� �����	
�� � �
����	 	���

�
�	

������	
�� �	
 �����
��
�
 ������ � ������

e(k+1) = E − (I + h2e
(k) + h3e

(k)2)(I +X2e
(k) +X3e

(k)2)(E +O(E(k)2))

= E − (I + h2e
(k) + h3e

(k)2)(E +X2e
(k)E +O(e(k)

7
))

= E − (E +X2e
(k)E + h2e

(k)E) +O(e(k)
7
))

−(X2 + h2)e
(k)E) +O(e(k)

7
)).

�	����
 ��� h2 = H1N2 +
1
2H2M1� ��
�� M1 = N1N2 +N2N1 = 0 ������ N1 = 0� �
��
 �


h2 = H1N2

= H1(m2E1 +m3F1)

= H1(m2(2C2 + Y1) +m3(D1 +X2))

= 2C2H1(m2 −m3)

= 2C2,

��
�� Y1 = −D1 = 0� X2 = −2C2 � H1 = 1
m2−m3

� !�

����	
�� �� 	
��
 �����
��� "
	���
��

X2 + h2 = 0 � �� �#���� �
 �� ����
 7�

����
$	��
 �
 �	
� w(k) �� ����
 p� Ē = w(k) − ξ = O(ep)� %
 $�
��	�

e(k+1) = Ē −H(η(k))[F ′(x(k))]−1F (w(k))

= Ē − (I + h2e
(k) + h3e

(k)2)(I +X2e
(k) +X3e

(k)2)(Ē +O(Ē(k)2)

= −(X2 + h2)e
(k)Ē +O(ep+2).

&��$� 	� 	'	���  	�	 �	
�  �
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��� ���	 �� ����
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 �
��	��
� �

(� �	
��	 	
)��$	� 	'	���
�� �
 ��� �� �	
� 
���� �	  �	
� �� �#����
 �� ����
  �	��� � �	*� �	


+��,��
�
 ��� -�����	 ������ �� ����
 ��  �
.��$�
 �	 	���
�	 �
 �
	 �
��	�� �	�  ��� 
� �����
��	

�
 �� 
�$���
�� ��
���	��� &	 �����
�,
 ����	��.	 ��� �
����	 ��
���	
�� �
/ %� ��� �
�  �

�
�� �


	'	��� �
 �	
� �)
 	� �
����	 ���0�� �	
��
��
�� �	 1�
 �,
 ��
�� (� �
�� ����� �	 �����
�,


����	��.	 
��)/

y(k) = x(k) − α[F ′(x(k))]−1F (x(k)),

z(k) = y(k) −H(η(k))[F ′(x(k))]−1F (x(k)), ������

x(k+1) = z(k) − 3H(η(k))[F ′(x(k))]−1F (z(k)),

��
��

η(k) = m1I +m2[F
′(y(k))]−1F ′(x(k)) +m3[F

′(x(k))]−1F ′(y(k)). ������

���
��� ����� ��� F : Ω ⊆ R
n → R

n ��� �����	� 
��������
���� ������������� �� Ω � 
�� ξ ∈ Ω
��� 
�����	� ��� 
�
��
� �� ���������
 �� �������
 F (x) = 0� �������
�
 ��� F ′(x) �
 �������� �

�� 
������� �� ξ� ��� H : Rn×n → R
n×n ��� �����	� ��
� 
�������� 
��������
���� ������������� ���

��� H(I) = 1
3I� H1 =

3
4(m2−m3)

� H2 =
3(m2−3m3)
4(m2−m3)3

� 
����� I �� 
����� ���������� ���
�����
�
 x(0)

��� �
��
���	� ������� 
��������
���� ��	��
� � ξ� �������
� �� 
���
�	� {x(k)}k≥0 �������� �
����

�� �����
�	� ���� ! ���"���� � ξ ��� ����� �� ���"�������� ����� 
� α = 2/3 � m1 +m2 +m3 = 1�

�
�.��
��	� 2����# 
� 	 �� 3	��
 �	
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"�

��
 ����

E = z(k) − ξ = O(e(k)
4
), ����#!

����


z(k) = y(k) −H(η(k))[F ′(x(k))]−1F (x(k)).

$	�������� 	� �	
�� ���� ��� �� ����� ��
�% x(k+1) = z(k) −H(η(k))[F ′(x(k))]−1[F (z(k))]

x(k+1) − ξ = E −H(η(k))[F ′(x(k))]−1F (z(k))

= E −
(
1

3
I + h2e

(k) + h3e
(k)2
)(

I +X2e
(k) +X3e

(k)2
)(

E +O(E(k)2)
)

= E −
(
1

3
I + h2e

(k)

)(
E +X2e

(k)E +O(e(k)
6
)
)

= E −
(
1

3
E +

1

3
X2e

(k)E + h2e
(k)E) +O(e(k)

6
)

)

=
2

3
E − (

1

3
X2 + h2)e

(k)E) +O(e(k)
6
).

$�&
��� �	
 h2 = H1N2+
1
2H2M1 = H1(m2E1+m3F1)+

1
2H2(N1N2+N2N1)� ����


1
2H2(N1N2+

N2N1) = 0 ��
�	
 N1 = 0� 
�����
� '

h2 = H1(m2(2C2 + Y1) +m3(D1 +X2))

= H1

[
m2

(
2C2 − 2

(
1− 2

3

)
C2

)
+m3

(
2

(
1

3

)
C2 − 2C2

)]

= H1

[
m2

(
4

3

)
C2 +m3

(
−4

3
C2

)]

= H1

[
4

3
C2(m2 −m3)

]

=
3

4

1

m2 −m3

[
4

3
(m2 −m3)

]
C2

= C2.

����
 Y1 = −D1 = −2
3C2� X2 = −2C2 ' H1 =

3
4(m2−m3)

� (�����

���� �� ���
� 
"�	
���� �
�
���

�	
 1
3X2 + h2 = 1

3C2� ��
 �� �	
 x(k+1) − ξ = 2
3E − 1

3C2eE + O(e(k)
6
) 
� �
 �
�
� �	��
�� )����

��� 	��
 x(k+1) = z(k) − 3H(η(k))[F ′(x(k))]−1[F (z(k))] ��
� �&�
�

 �
�
� 5 ' �	�
��� ���� ����


� 	�� 	������ �

*	
���
��
 �	�������� 	� ���� w(k) �
 �
�
� p� Ē = w(k) − ξ = O(ep)� +� �
�

��

e(k+1) = Ē − 3H(η(k))[F ′(x(k))]−1F (w(k))

= Ē − 3(
1

3
I + h2e

(k) + h3e
(k)2)(I +X2e

(k) +X3e
(k)2)(Ē +O(Ē(k)2)

= −(X2 + 3h2)e
(k)Ē +O(ep+1).
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������ ��� �� ��
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� �
�
 ���	���� �� ������
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� �� �
�
�	 n × n ���
�� �
�����	 �� � �� �����	 �� ������
� ����
��� ��� �����	� ���	����
�� 
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�
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�
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�
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������
'

$�%��
 &'�) *���
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�
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���	� +,- �� 	���� 
�
��	
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�
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�
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#
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 ���
���	
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 �����%	 
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���&
 ��� ������� ���
�����
��� 

�
 ��"	���
� �� ���
��
 ���

� 	'

����� ��	 ����� ������� �
 ��	������# � ��	��	�
��%	 
������ �&����
� �
 ����
 �� ������
� ��

���
���	�� 	� ��	�
��� ��
��
�
 �	 ���(
� ���
��&
���	�� 	������
�� ����
�
� 
 �
&� �	 �
��
&

)�*�*
� ��	 
��������
 �� 
������%	 �
��
&�� �� �*** �+"���� �� �
	���
 � ||x(k+1) − x(k)|| < 10−500

% ||f(x(k+1))|| < 10−500 ���� �������� �� 

�
�
#

F1(x1, x2) = (exp(x1)exp(x2) + x1cos(x2), x1 + x2 − 1), ξ ≈ (3.47063096,−2, 47063096)T .

F2(x1, x2) = (ln(x21)− 2ln(cos(x2)), x1tan
(
x1√
2
+ x2

)
−√2), ξ ≈ 0.9548041416, 6.5849814845)T .

F3(x1, x2) = (x1 + exp(x2)− cos(x2), 3x1 − x2 − sin(x2)), ξ = (0, 0)T .
F4(x1, x2, x3) = (cos(x2)− sin(x1), x

x1
3 − 1

x2
, exp(x1)− x23), ξ ≈ (0.909570, 0.661227, 1.575834)T .

F5(u, v, w, t) = (vw + t(v + w), uw + t(u+ w), uv + t(u+ v), uv + uw + vw − 1),
ξ ≈ (0.577350, 0.577350, 0.577350,−0.284675)T .
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 ��������� ��� ������� ����
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���� �
�

�������	�� � �
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�� �� �
��� 
&������ �� �
 ��!���	��
 �	��� �
� ��� -����
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���	��

3���
�	�	�� 
 ���
�	�	��4� |x(k+1)
i −x

(k)
i |� �� �
��� 
&������ �� �
�
 !�	��%	 ������	
�
 ��
��
�


�	 �
 -����
 ����
��%	� |F (x(k+1))i|� �� 	-���� �� ����
���	�� ��
��
�
� �	 �� 
������ � ����	 ��

��	���"�	��
 ���
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� 
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��� ���� �����	
 ���
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������� ξ |x(k+1)
i − x

(k)
i | |F (x(k+1))i| ���	 ρ

F1 �
��
 �������
 ��� ��
�
� ��� ��
� � ������

x0 = (3,−2) ��������
 ��� ��
�
� �
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F2 �
��
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x0 = (2, 6) �������
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F3 �
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x0 = (0.5, 0.5) �������� 
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 ������
  �� �� ������ !""#�� �
 �� �� ��$���
 ��
������
 �� F1 � F3�

�������
  �� �� F2� F4 � F5 �� ��$�� ��
������ �
 �� !"%#& � �� F5 �� �� ��$���
 ��
������
 �


!"%#�	 '� ����� ��
����� �� �� �����(� �������� �� �� ������ �������(� ����� ��$���
 ��
������
 ��

F2 � F4� �����
���������
 � ��
 ������
 !"%#� � !"%#�� 
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 �� F3 � F5) ���� F1 ��
 ��
������
 
�� ��
 ��
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 ���� ����
 ��
 ������
	

'� ������ �� ����������
 �
 �� ��
�� ���� F1 � F2 �� ����
 ��
 ������
 ���������
� �� 
����� �
*

���� ��
 ���+
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� ���
 �� ������ !"%#& ����� ��� �������(� �+
 �� F3 � ��
 ����������
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η(k) =
[
(b1 + b2)I − b2[F

′(x(k))]−1[x(k), y(k);F ]
]−1 [

(a1 + a2)I − a2[F
′(x(k))]−1[x(k), y(k);F ]

]
= M−1N.
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y(k) = x(k) − [F ′(x(k))]−1F (x(k)),

x(k+1) = y(k) −G(η(k))[F ′(x(x))]−1F (y(k)), ������

�	��� η(k) = M−1N 
 M−1 =
[
(b1 + b2)I − b2[F

′(x(k))]−1[x(k), y(k);F ]
]−1


 N = (a1 + a2)I −
a2[F

′(x(k)]−1[x(k), y(k);F ]
 �����	 a1
 a2
 b1 � b2 �	� 
�������	�� � ���� � �	�	 �	 ���	�����	�
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	� �� ��
������ ������� #�$	 ���������� �	�����	��� �� G(η(k))
 � �� �	� 
�������	� ���	������	�



	���	� ������	���� ����	� � �	�	�� %������	 �� ������ &�� η(k) ������ � c = a1
b1
I �����	 x(k)

������ � ξ
 ������	����	� G(η(k)) �������	� �� c �� ������ �� %���	��

�
��
�� ����� ��� F : Ω ⊆ R
n → R

n ��� �����	� 
��������
���� ������������� �� Ω � ξ ∈ Ω
��� 
�����	� ��� 
�
��
� �� ���������
 �� �������
 F (x) = 0� �������
�
 ��� F ′(x) �
 �������� �

�� 
������� �� ξ� �������
� �� 
���
�	� {x(k)}k≥0 �������� �
���� �� �����
�	� ������ ��� ���� �

ξ ��� ����� �� ��� �������� ������ 
� G(c) = I� 
����� c = a1
b1
I� G1 =

2b21
a2b1−a1b2

� ����� a1 �= 0�
b1 �= 0 � |G2| < ∞. !��
"
� �� ������	� ��� ����� �


e(k+1) =
1

2b41

[
(2b41 − 4b31(3b1 + b2) +G′′(c)(a2b1 − a1b2)

2)C3
2 + 4b41C3C2

]
e(k)

4
+O(e(k)

5
)

� ����� Cj = ( 1
j!)[F

′(ξ)]−1]F (k)(ξ), j = 2, 3, ... � e(k) = x(k) − ξ�

�
�������	��� '����(��	� ��� ��
����	��� ������ � ����)�
 ����� �� �� *������ ��+� ,������	� ����-

��	�����	 &��

[F ′(x(k))]−1 = [I +X2e
(k) +X3e

(k)2 +X4e
(k)3 ][F ′(ξ)]−1 +O(e(k)

4
) ���).�

'����	 ����)� � ���).� 
��� ���������� I = [F ′(x(k))]−1F (x(k))

[F ′(x(k))]−1F ′(x(k)) = [I + (2C2 +X2)e
(k) + (3C3 + 2X2C2 +X3)e

(k)2

+ (4C4 + 3X2C3 + 2X3C2 +X4)e
(k)3 ] +O(e(k)

4
),


	� �	 &��

X2 = −2C2, X3 = 4C2
2 − 3C3, X4 = −8C3

2 + 6C2C3 + 6C3C2 − 4C4,

'���	� ������ � ���).�

[F ′(x(k))]−1F (x(k)) = [I +X2e
(k) +X3e

(k)2 +X4e
(k)3 ][F ′(ξ)]−1F ′(ξ)[e(k) + C2e

(k)2

+ C3e
(k)3 + C4e

(k)4 ] +O(e(k)
5
)

= [e(k) +A2e
(k)2 +A3e

(k)3 +A4e
(k)4 ] +O(e(k)

5
), ���)��

�	���

A2 = −C2, A3 = 2(C2
2 − C3), A4 = −4C3

2 + 4C2C3 + 3C3C2 − 3C4,

'���������� /	��� ����� �� !�������
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y(k) = x(k) − [F ′(x(k))]−1F (x(k))

= ξ + e(k) − e(k) − [A2e
(k)2 +A3e

(k)3 +A4e
(k)4 ] +O(e(k)

5
)

= ξ − [A2e
(k)2 +A3e

(k)3 +A4e
(k)4 ] +O(e(k)

5
). ������

���� ��
�
�� ��	�	��� ������ ���� ������� �� 
��������� �� ���	� 
� ������ 
� F (y(k)) �� ����� � ξ

F (y(k)) = F ′(ξ)[(y(k) − ξ) + C2(y
(k) − ξ)2] +O(e(k)

5
), ������

�	��
�

(y(k) − ξ) = A2e
(k)2 −A3e

(k)3 −A4e
(k)4 +O(e(k)

5
),

(y(k) − ξ)2 = C2A
2
2e

(k)4 +O(e(k)
5
), ������

 �� �� !�� ������
�� F (y(k))

F (y(k)) = F ′(ξ)[−A2e
(k)2 −A3e

(k)3 −A4e
(k)4 + C2A

2
2e

(k)4 ] +O(e(k)
5
)

= F ′(ξ)[−A2e
(k)2 −A3e

(k)3 +A5e
(k)4 ] +O(e(k)

5
), ������


��
� A5 = −A4 + C2A
2
2 = 5C3

2 − 4C2C3 − 3C3C2 + 3C4�

�  ���	��� 	"�  �� ���
�� �� 
��������� �� ���	� 
� ������ 
�� �����
�� 
	#���� 	� 
	$	
	
�

[x(k), y(k);F ] �� ����� � ξ

[x(k), y(k);F ] = F ′(ξ)[I + 2C2e
(k) + 3C3e

(k)2 + 4C4e
(k)3 + 5C5e

(k)4

+
1

2
[2C2 + 6C3e

(k) + 12C4e
(k)2 + 20C5e

(k)3 ]
(
[F ′(x(k))]−1F (x(k))

)
+
1

6
[6C3 + 24C4e

(k) + 60C5e
(k)2 ]
(
[F ′(x(k))]−1F (x(k))

)2
]. ����%�

�&��� ����	��	
�� ������ �� ����%�

[x(k), y(k);F ] = F ′(ξ)[I + 2C2e
(k) + 3C3e

(k)2 + 4C4e
(k)3 + 5C5e

(k)4

+C2[−e(k) −A2e
(k)2 −A3e

(k)3 −A4e
(k)4 ] + 3C3[−e(k) −A2e

(k)2

−A3e
(k)3 +A4e

(k)4 ]e(k) + 6C4[−e(k) −A2e
(k)2 −A3e

(k)3 −A4e
(k)4 ]e(k)

2

+10C5[−e(k) −A2e
(k)2 −A3e

(k)3 −A4e
(k)4 ]e(k)

3
+ C3[e

(k)2 +B3e
(k)3 +B4e

(k)4 ]

+4C4[e
(k)2 +B3e

(k)3 +B4e
(k)4 ]e(k) + 10C5[e

(k)2 +B3e
(k)3 +B4e

(k)4 ]e(k)
2
],


��
�
(
[F ′(x(k))]−1F (x(k))

)2
= e(k)

2
+B3e

(k)3 +B4e
(k)4 � �	��
� B3 = 2A2 � B4 = A2

2 + 3A3�

'�����
��

P = [x(k), y(k);F ] = F ′(ξ)[I + P1e
(k) + P2e

(k)2 + P3e
(k)3 + P4e

(k)4 ], ������

�	��
�

P1 = C2,

P2 = C2
2 + C3,

P3 = −2C3
2 + 2C2C3 + C3C2 + 2C4,

P4 = 4C4
2 − 4C2

2C3 − 3C2C3C2 + 3C2C4 + 2C2
3 − C3C

2
2 − 2C4C2 + 5C5.
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������	
�� T = [F ′(x(k))]−1P 
 	�����	�

T = I + T1e
(k) + T2e

(k)2 + T3e
(k)3 + T4e

(k)4 , ������

��� T1 = P1 +X2 � Tm = Pm +
∑m

j=1XjPm−j +Xm+1,m = 2, 3, ...

���������� ������

M = (b1 + b2)I + b2T

= b1I +M1e
(k) +M2e

(k)2 +M3e
(k)3 +M4e

(k)4 , ������

����	 Mj = −b2Tj , j = 1, 2, ...

�� �����
�� � ��	 M−1 �	��� �� 	 !�	��"�

M−1 =
I

b1
+ Y2e

(k) + Y3e
(k)2 + Y4e

(k)3 + Y5e
(k)4 , ���#$�

!��	
�� �	�	�
���� ��� ��	%��	��	� Yj �	 
��	�� ��	

M−1M =

[
I

b1
+ Y2e

(k) + Y3e
(k)2 + Y4e

(k)3 + Y5e
(k)4
] [

b1I +M1e
(k) +M2e

(k)2 +M3e
(k)3 +M4e

(k)4
]
= I.

���#��

&�' Y2 = − 1
b21
M1 	 Ys = − 1

b21
(Ms−1 +

∑s
j=2 YjMs−j , s = 3, 4, ...

�� �������
�� ������

N = (a1 + a2)I + a2T

= a1I +N1e
(k) +N2e

(k)2 +N3e
(k)3 +N4e

(k)4 , ���#(�

��� Nj = −a2Tj , j = 1, 2, ...

��������
�� ���#$� � ������ 	� η(k) = M−1N 


η(k) =
a1
b1

I + L1e
(k) + L2e

(k)2 + L3e
(k)3 ,+L4e

(k)4 ���#)�

��� L1 =
1
b1
N1 + a1Y2 � Lt =

1
b1
Nt +

∑t
j=1 Yj+1Nt−j + a1Yt+1, t = 2, 3, ...

& ����������"� �!�� �
�
�� G(η(k)) 	� ����� � c !�� �� !�����
�� �	 *�����

G(η(k)) ≈ G(c) +G1(η
(k) − c) +

1

2
G2(η

(k) − c)2 ���#��

= G(c) + S1e
(k) + S1e

(k)2 + S1e
(k)3 + S1e

(k)4 , ���#��

����	
S1 = G1L1, S2 = G1L2 +

1
2G2L

2
1,

S3 = G1L3 +
1
2G2(L1L2 + L2L1), S4 = G1L4 +

1
2G2(L1L3 + L2

2 + L3L1).

�� ���
�� ������ � ������ �+�	�	
�� ��	 R = [F ′(x(k))]−1F (y(k)) 	�

R = [I +X2e
(k) +X3e

(k)2 +X4e
(k)3 ][F ′(ξ)]−1F ′(ξ)[−A2e

(k)2 −A3e
(k)3

+A5e
(k)4 ] +O(e(k)

5

= R2e
(k)2 +R3e

(k)3 +R4e
(k)4 , ���##�

���,	������ -����.����� �	 /��	����
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R2 = −A2, R3 = −(A3 +X2A2), � R4 = A5 −X2A3 −X3A2.

	
���
���� ������ � ������� ������� �������� Q = G(η(k))R�

Q = [G(c) + S1e
(k) + S2e

(k)2 + S3e
(k)3 + S4e

(k)4 ][R2e
(k)2 +R3e

(k)3 +R4e
(k)4 ]

= Q2e
(k)2 +Q3e

(k)3 +Q4e
(k)4 , ������

������

Q2 = G(c)R2, Q3 = G(c)R3 + S1R2, � Q4 = G(c)R4 + S1R3 + S2R2.

��������
�� �� �������� ��� ����� ��

x(k+1) = y(k) −Q

= ξ − [A2e
(k)2 −A3e

(k)3 +A4e
(k)4 ]− [Q2e

(k)2 +Q3e
(k)3 +Q4e

(k)4 ]

= ξ − [(A2 +Q2)e
(k)2 + (A3 +Q3)e

(k)3 + (A4 +Q4)e
(k)4 ] +O(e(k)

5
). ������

������ ���� ��������� A2 +Q2 = 0 �������������

A2 +Q2 = −C2 +G(c)C2, ���� �

��� �� !�� �� G(c) = 1 �� ���� �� �"
������ !�� �� ����� ��� �#
��� �� �� ����� 3�

� ���
�������� 
��
���� �� �$������� "�%� !�# ����������� �� $���&�� A3 +Q3 = 0�

A3 +Q3 = 2C2
2 − 2C3 + 2C3 − 4C2

2 +G1
a2b1 − a1b2

b21
C2
2

=

[
−2I +G1

a2b1 − a1b2
b21

]
C2
2 . ����'�

��(� ���
�
������G1 =
2b21

a2b1−a1b2
�� ����'� �� �"
���� ����� ���
�� � ��� $�
 ������&���� �� �)�������

A4 +Q4 ������� ��
������� �� �������� ��� �����

e(k+1) =
1

2b41
[(2b41I − 4b31(3b1 + b2)I +G2(a2b1 − a1b2)

2)C3
2 + 4b41C3C2]e

(k)4 +O(e(k)
5
),

�� !�� �������� �� �����
������ ��� *������� �

� ���
��������� ������
���� �� �)������� ������� �� �� +������ �� �#
���� ���� �� !�� ������ ���

����������� �)������ ��� �� *������ ��,��

y(k) = x(k) − [F ′(x(k))]−1F (x(k)),

x(k+1) = y(k) −G(η(k))[F ′(x(x))]−1F (y(k)),

������

G(η(k)) = I +
2b21

a2b1 − a1b2

(
η(k) − a1

b1
I

)
,

�����

η(k) = M−1N =
[
(b1 + b2)I − b2[F

′(x(k))]−1[x(k), y(k);F ]
]−1 [

(a1 + a2)I − a2[F
′(x(k))]−1[x(k), y(k);F ]

]
.
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	� ��
������� �
������ ��� ������ ��
�
 ��	� �����
� a1 =
1
2 , a2 = 0, b1 = −1

2
� b2 = 1� �� 
���
���� ��
������ �
�
�����
 
�

y(k) = x(k) − [F ′(x(k))]−1F (x(k)),

x(k+1) = y(k) −G(η(k))[F ′(x(k))]−1F (y(k)), ������

��
��� G(η(k)) = 2I + η(k) � ����


η(k) = M−1N =

[
1

2
I − [F ′(x(k))]−1[x, y;F ]

]−1 1

2
I.

��  !�	�� ��� ���"	
���� a1 = 1, a2 = 0, b1 = 1 � b2 = 2� �#�
�
	�� 
� �
$
��� 
��

	��

�

 �
�����
	�� ��� ������ �
�� 
���
���� ��
������ 
�

y(k) = x(k) − [F ′(x(k)]−1F (x(k))

x(k+1) = y(k) −G(η(k))[F ′(x(k))]−1F (x(k)), ����%�

��
��� G(η(k)) = 2I − η(k)� ����


η(k) = M−1N =
[
3I − 2[F ′(x(k))]−1[x, y;F ]

]−1
I.

�� �
��
� 
��

	�� �
������ ��� ����&� �� �#�
�
	�� ��  !�� ��� ���"	
���� a1 = 1, a2 =
0, b1 = 1 � b2 = −2� 
� 
� '
��
	� ��&��� ������
�� �
 �#��
�
 �� 
���
���� ��
������

y(k) = x(k) − [F ′(x(k)]−1F (x(k)),

x(k+1) = y(k) −G(η(k))[F ′(x(k))]−1F (x(k)), ������

��
��� G(η(k)) = η(k)� ����


η(k) = M−1N =
[
−I + 2[F ′(x(k))]−1[x, y;F ]

]−1
I.

�� (���	� 
��

	� ��
������ 
� 
� �
������ ��� ����)� �#�
���� ��  !�� ��� ���"	
���� a1 =
1, a2 = 3, b1 = 1 � b2 = 0� 
� 
� '
��
	� ��&��� ������
��

y(k) = x(k) − [F ′(x(k)]−1F (x(k)),

x(k+1) = y(k) −G(η(k))[F ′(x(k))]−1F (x(k)), ������

��
��� G(η(k)) = η(k)� ����


η(k) = M−1N = I
[
3I − 2[F ′(x(k))]−1[x, y;F ]

]
.
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[y, x;F ]
(1)
ij = (Fi(y1, ..., yj−1, yj , xj+1, ..., xm)−Fi(y1, ..., yj−1, xj , xj+1, ..., xm))/(yj−xj), 1 ≤ i, j ≤ m
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[y, x;F ]
(2)
ij = (Fi(y1, ..., yj−1, yj , xj+1, ..., xm)− Fi(y1, ..., yj−1, xj , xj+1, ..., ym)

+(Fi(x1, ..., xj−1, yj , yj+1, ..., ym)

−(Fi(x1, ..., xj−1, xj , yj+1, ..., ym))/(2(yi − xi)), 1 ≤ i, j ≤ m. %
�
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[y, x;F ](y − x) = F (y)− F (x),

���� 	���)� �	 ������	 �������� ��� ����������	 �� ����	��� ��������� �� ����� [y, x;F ] =
[x, y;F ]� *	 "���	+	 #�� �������	 �	 ������	 ��������� �� #�� ������"	 �� ����� �� ���"�������	
������� ��� ������ ���� 	 ����	 �� ���������	� �� �,���� �� �"	��	������ �������	����

-� �	�	 ��	 �� �	� �	��	� �����	��� ��� ������	��� ��������� �����	��� ����	� ���������	� ��"����	�
��� �	 ���������	 10−25 	��������	 �� ��������� "	��	��� �� 50 �.����� / ||x(k+1) − x(k)|| < 10−25 �
||F (x(k+1))|| < 10−25 ���� �������� �� �	�	�	�
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